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General English
Choose the sentence with the correct punctuation.
A. My aunt who lives in Sylhet, is a doctor.
B. My aunt, who lives in Sylhet, 1s a doctor.
C. My aunt, who lives in Sylhet is, doctor.
D. My aunt, who lives in Sylhet is a doctor.
Change into reported form: She said to me, ‘Why
don’t you come on Monday?’
A. She told me to not go on Monday.
B. She said me why did not she go on Monday.
C. She asked me why I did not go on Monday.
D. She asked me not to go that day.
Coleridge’s poem “The Rime of the Ancient
Mariner” is a—
A. lyric B. sonnet
C. ode D. ballad
The poet William Blake has compared the
schoolboy to—
A. a prisoner B. a great scholar
C. a caged bird D. a brave warrior
In the sentence, ‘The rescuers snatched the
children from a perfect storm’; the bold-faced
phrase means—
A. gusty wind B. the worst situation
C. grave 1llness D. a great challenge
The word ‘Emancipation’ means—
A. advocate B. liberation
C. engage D. portrait
Fill in the gaps (7-8):
We have not been given — unpdate on the
patient’s condition.
A. some B. none
C. any D. much
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There is a liberation sculpture — Arts building

of the University of Dhaka.

A. betore B. in front of

C. beside D. at the back

‘People lauded Mandela’s humanity, kindness

and dignity’. In this sentgence, the present form

of the bold-faced word is—

A. laude B. led

C. lead D. laud

The word *Diaspora’ is related to—

A. appearance B. concentration

C. entrance D. migration

Choose the best interrogative form of: ‘Everyone

hates acid-throwing.’

A. Do anyone like acid-throwing?

B. Is there anyone who can hate acid-throwing?

C. Who does accept acid-throwing?

D. Does anyone like acid-throwing?

An elected member can take the decision. The bold-

faced word is used as a/an-

A. verb B. adverb

C. conjunction D. adjective

Choose the correct spelling from the following.

A. Assurance B. Asurrance

C. Assurrance D. Assurrence

The synonym of the word ‘Original’ is—

A. amusing B. artificial

C. true D. accumulate

‘Shubho ate four pieces of Hilsha fish at dinner.’

The passive form of the sentence is —

A. Four pieces of Hilsha fish at dinner were ate by
Shubho.

B. At dinner four pieces of Hilsha fish Shubho ate.

C. Four pieces of Hilsha fish were eating by Shubho
at dinner.

D. At dinner four pieces of Hilsha fish were eaten by
Shoubho.

Orpheu’s parents were—
A. Apollo and Muse Calliope

B. Jupiter and Athena

C. Hercules and Athena

D. Venus and Apollo

Answer: 1.B 2C3.D4C5 B6B7.C 8. B9D
10D11D12.D13.A14.C15D16. A

FAt4ias w9 General Knowledge

FETCE woE gee e @t e (The
followings are in the national emblem of
Bangladesh)

A. 99, A9, *li7f=1 (paddy, betel leaf, water lily)

B. 4=, #iiG, === (paddy, jute, water lily)

C. «f¥, =i, 10 (paddy, betel leaf, jute)

D. 415, #ii¥, === (jute, betel leaf, water lily)

S BN 79 (—is not an element of climate)—

A. @79 (Cloud) B. suaEis (Humidit)
C. A1y (Air) D. Wit (Humidity)

SDG-«93 #j«m=1 &t (The full form of SDG is)—
A. Successive Developmental Goals

B. Successful Development Goals
C. Substantial Developmental Goals

D. Sustainable Developmental Goals

04.

05.

06.

07.

08.

09.

10.

11

12.

13.

‘TEeE ot @ swEm T @ s
(‘Refugee’ problelm is more closely related to)—
A. 289afeis (UNDP)

B. 28ungwfia (UNFPA)

C. 2e979gshre (UNHCR)

D. si22eH9 (IUCN)

IeifE erSTeRe JErere zeEt (The fundamental
base of the Bengali nationalism 1is)-

A. siwferwet (regionalism)

B. « (religion)

C. srerife (politics)

D. ©rat ¢ et (language and culture)

iR WY o FEa gFwa Fmemen (The
only woman member of the Constitution Drafting

Committee of Bangladesh was)—
A. =ICTETE (2519 (Anwara Begum)

B. sjfran sm (Sufiak Kamal)
C. trami Aitemi oigal (Syeda Sajeda Chowdhury)

D. 389 7. 7ifer weR a9 (U.A.B Razia Akter Banu)

B=ete @ e =it (Greenland is a prt of)—
A.g&=8 (USA) B. ce=i@ (Denmark)

C. 7@ (Russia) D. 78w (Norway)
IR @ TH wEifeTet Bieme I @ Jt (The
ethnic minority of Bangladesh who do not live in
Sylhet is)-

A. it (Khasia) B. #W@ (Patra)

C. w[4+jf" (Monipuri) D. w%75t (Tanchangya)
e wdSie’ 77e I 70X TF (The ‘Blue-economy’ is
mainly related to)—

A. &= (climate) B. $f¥ (agriculture)
C. &-qrerifs (geo-politics) D. 3% (ocean)

Zoo-2Yfea w®ee @ (— is not included in
Hotspot technology)—

A. ciEa @i+ (Cellular phone) B. em2-#18 (WiFi)

C. eug wF¥ (Wimax) D. «5a%H (NFC)
AR LT AesqEE ATz @w (The duration of
the Seventh Five-year plan of Bangladesh is)—

A. 0d0-203¢ (2010-2015)

B. 20d¢-2020 (2015-2020)

C. w0-20-3¢ (2020-2025)

D. 305v-2030 (2016-2020)

Ifeyn fofes safvg oar ania <7 AfasEat F@a (The
Liberation War film titled Chitra nodir pare is

directed by)—
A. si@ew« 289% (Nasir Uddin Yusuf)

B. *iza wierw (Shahidul Alam)

C. s @Ht= (Tanvir Mokammel)

D. =1ts< 97w (Traeque Masud)

i wifea gfe =W zeett (The Charter of Freedom
for the Bengali nation is)—

A. = W% (Six point)

B. @dital =¥ (Eleven point)

C. a T1t69 ©rFet (7" March speech)

D. 35 w# (21 point)
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mreres @FB g FF4 7 (One of the major
causes of monetary inflation is)—

A. T=Am= (production)

B. simif« (import)

C. 3@« (export)

D. 3917 @9 3% (increasing supply of money)

2035 FIETE it fatFE ‘w1 W B Adifee
Z (‘Player of the Tournamen’ in the World Cup
Cricket 2019 was)—

A. @fZe =7 (Rohit Sharma)

B. i3 5= =1+ (Shakib Al Hasan)

C. @ 5137 (Ben Stokes)

D. &= 28 (Ken Williamson)

g FAS Wize geat (The highest law of the state is)—
A 757 =itea 919 (The highest law of the state is)

B. #=<ifa fefey (The governmental decree)

C. #ifR«i== =112 (The constitutional law)

D. e« gfqgi (The administrative regulations)

@ HitwrEeas Gt (‘Where knowledge is limited,

intellect is inert, freedom is impossible’- is the
slogan of)—

A. =/ gitwiE« (Language Movement)

B. =1 witw@= (Education Movement)

C. 3= & =iw=e (Movement for rfreedom of intellect)
D. sief=167 witwi= (People’s Theatre Movement)
‘S 4G YT &3%a 33 (The concept ‘Good
Governance’ was first introduced by)—

A. wifs5eg (United Nations) B. 28¢afef* (SNDP)

C. "¥anw (World Bank) D. wi29was (IMF)
F-@ATe-9 FR*AE F1-97 72471 ze&t (The number of
functional keys used in a keyboard is)-

A. 357 (9) B. %f5 (10)

C.3»fe(11) D. 335 (12)

Fhew g9 Rl ek afes @ @ RriRwEes
(The first public museum of Britain is founded in
the University of)—

A. sE@Ee (Oxford)

B. =5i@e (Cambridge)

C. W51 (Manchester)

D. qifigz™ (Birmingham)

‘(BTETR’ IACS ([T AR-IF =T — LT (‘Gender’ is
defined as — difference between male and female)—
A. tef<= (biological) B. swif&=s (social)

C. ta= (sexual) D. s@< (mental)

3> TEOE WD MR GF0 FJiGES @HE geE a7l
7a1R (A common feature of the E-8 countries is

that they all are)—
A. 9=iw (7* (Asian countries)

B. 2ewi7y (7* (European countries)

C. et~ weeisidl (=l (Environment polluting countries)
D. Ggz==i= (q=l (Developing countries)

IR Aferanys @geida == (The helpline of
resisting child marriage is)—

A. Sob (109) B. 09 (103)

C. 555 (999) D. w99 (333)

24

25.

26.

27

28

feqme =ee ‘Bt fosss' w’fEe  (‘Shikha
Chiranton', a symbol of the liberation war is
located at)-

A. 5151 i1 (Dhaka Cantonment)

B. sit&tisjta (Gazipur)

C. wtza?ta (Heherpur)

D. tzareami Smitte (Suhrawardy Uddyan)

Few Fo-Rend Q9w i afswiy witw=a (The
first anti-British armed resistance movement In
Bengal is)-

A. F71% famiz (Sepony Mutiny)

B. wfea-5iaAt famiz (Fakir and Sannyasi Rebellion)
C. i1 fammiz (Indigo Revolt)

D. FamE witwEe (Faraizi Movement)

203t FITA TS @I T IR A 7w 932-
(In 2018, the Nobel Peace Prize has been
awarded to Nadia Murad and-)

A. tefe 3esi@ (Denis Mukwege)

B. te= PGFeuis (Donna Strickland)

C. g« #=61 (Juan Santos)

D. f&ré femat (Liu Xiaobo)

Gifemy Bxme (o7 TAT SFEw oo A0y AEEw
wfezta 7 (The highest ranked country in the
world, as per the human development index of
UN,is -)

A. 72t (Sweden)  B. 3&asy (United Kingdom)
C.7wew@ (Norway)  D. f#%a (Singapore)
Afszifse 7= ‘T3’ w@fge (The historical place
'Karbala’' is situated 1n)-

A. 3refq (Qatar) B. %4 (Iran)

C. 3tzr9 (Kuwait) D. 231s (Iraq)

Answer : 1B 2. B3D 4C 5D6.D7.8B 8D9.D 10.

Al1IDI12CI13. A14.D15.D16.C17.C 18.C 19.D
20A21C22.C23.A24.D25.A26.A 27.C28D

GIRCAR)
sTa: 8o f3faB UREICHE:T
==

WA G W3 fAee eatata (3-9) Tea whe: 3 .ex8=30
ARBE GF01 T 712 | ©f TER A@we 7 @47 Fa0g =1 |
(@RI (SO 26O ZBLe APPBIT @TS ©F (BT
SRl 20 W | @EAIISA 877 B Aerz Wi | FI e,
SF A AT 1 @F0 CFIOT | BIHF IR @@ A =i
AT FES FIoI (1 U6 R | 65 AWt 7w =3, 37
(o5 & AiFres A Fie? o $ MG wret (7diss?
G HOAIE, 7 (&6 @D, 7 FACST (TR, 7S AT
fufnfa, wifs RfFoR A4 - ema o s oEe TS
W, GIRT IS | ©F @RI OS & T4 @IeAl A2
(A A AT T2 (TF | 7 (@ T8 I@ Ro | -
(ZACIA JBCS (@ Ao-#® ©} | e @@aFisa oo J
Iwq 69| 06 W2 @2 @ P 9 e @
AR |
) ‘B (o IE0O WM P @RI ZER?
Tez: §FE (ow Tte SfewmE (veam I <T@ R |
@ Bl oo frge =ik g f=m wsvem et | 559
AA 8 Y EREERE TR TE IS & FEma
A wEwE A e difesia e ek =3 9w 3
Ay e A9 (&Rl FFEEa fograd coql | Ja Sl
@2 e 39 Tz A 0RO PR (otER R i
TAE A%l e =V @ W@ AR T @12 | ST ([
@RI I @, B (T8 IO e 0o GAE @RI
B |

3



UCC

<) SR qIRge ‘@fE’, ‘e’ - *% 1t Aifewi qifzin dfe
YA e iRelry «ifvea 927 9, Fren?
TEF: W02 9% GIE, JFS *% Yo EAE ASS-ma
dfe o=, A9, ¢Fe, Y 6T =79 I | WA =
G SRAY fHoq @ TN G Boq | = it
wdE *FatEl SFEHE IRE JFA WREA IE @-
"t " ¢ “FEE A Pl gdq FMe” FA 7iow W
WAS R WG IS I {07 W2 99 I I ©[E Ol
ey Fad M 9iod oy fog | 39 g9 AgRe =g
92 2 7 e it [, cre o 957 30q |
) ‘R0l 92 @3 @ P < eE @ FEE )
Bfeba oAy <17
Bea: “frGol W2 (R0 @ P F A 7 IER
Cfefbr SrRAF Pro W2 @ISO 34 ARY a1 wea
T@ YFEd YRR T© (RITR | I[ FEE A9 =6
(517 SIS B2 ENPST SIt@ (0d id AW TR 91 SIS
Y AR | G5 SATFH WA THACAS (SN 9208 Bl (9
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v 2 ABCS AE W QST S IfEa A €,
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) ‘CSITS TR 79 (IO FFA IIEH G,
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AW F4: ¢
Kuakata i1s one of the unique tourist spots in
Bangladesh. It allows a visitor to watch both the
sunrise and the sunset from the beach and that
perhaps makes Kuakata one of the world's most
attractive beaches. The long and wide beach at
Kakata has a typical natural setting. It 1s also a holy
land for several religious communities. Each year
thousands of devotees come here to attend various
festivals.
Tea: FURIOl AFNMR WUOH TOH L FF AH0
B | @t wadite Gl (@AtF M I Tenl (MeId
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General English
Write a paragraph by analyzing the significance
of Bangabandhu Sheikh Mujibur Rahman's

Historic Speech of 7" March 1971. 10
Answer: The historic 7" March Speech of
Bangabandhu 1s a speech delivered by the founding
father of Bangladesh Sheikh Mujibur Rahman, at the
then Ramna Racecourse ground (now Suhrawardy
Udyan) in Dhaka to a gathering of over twenty
thousand people on 7 March 1971. It was the core
inspiration of our liberation war. During the speech,
Bangabandhu declared in a thunderous voice that
"The struggle, this time, i1s for our freedom; the
fight, this time, 1s for our independence." It was
delivered during a period of escalating tensions
between East (now Bangladesh) and West Pakistan.
Pakistam1 military rulers refused to transfer the
power to Bangabandhu, whose party Awami League
gained the majority by winning 167 of the 169 seats
allotted to East Pakistan and a majority of the 313
seats in the National Assembly in the general
election of 1970. The Bangalees were already in
destitute due to the economic favoritism practiced
by the West Pakistani rulers for 23 years. The
speech inspired them to prepare for a war of
independence amid widespread reports of armed
mobilisation by West Pakistan. The Bangladesh
Liberation War began 18 days later, when the
Pakistan Army launched Operation Searchlight
against Bengali civilians, intellectuals, students and
politicians. On 30 October 2017, UNESCO
recognized the speech as a part of world's
documentary heritage.

Fill in each gap of the following passage with
appropriate word (s) from the basket given

below: 1x5=5

pollutes discharges waste free toxic
dumped since paid back because of

Dhaka city — the bounty of the river Buriganga by

sucking life out of it. According to newspaper report,

the Buriganga 1s dying — pollution. Huge quantities of

— chemicals are — 1nto the niver every day. The city

— about 4500 tons of solid waste every day and most

of 1t 1s directly released into this river.

Answer: paid back, because of, toxic, dumped,

discharges.

Make sentence with each of the following words:
1x5=5

Heritage, Empowerment, Hospitality, Fascination,

Integrate.

Answer:

Heritage = Sundarbans 1s a world's heritage.

Empowerment = Woman empowerment 1S very

needed for Bangladesh.

Hospitality = They were glad by their hospitality.

Fascination = Fascination 1s a thing which can be danger.

Integrate = We should integrate all the notes.
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21. 'She walks in besuty, like the night of cloudless
climes and starry skies.'- 9% S&% IXIIM-
A. O AT AT CTAA T OIS TS TS |
B. 9 THaRives Nl G 39 SR (=06 56 GF |
C. craa @i =i rea 0! @0 5@ G |
D. (] TESA! JWal A0S &I I G |

22, ‘i NN @F (MR 7 6 - AT
TRA F=IF T 9% THETT Sie-

A. SR B. & stgess
C. ™ ¢ 3fe= wifezet D. weifs3 o=y

23. ‘RITE O AW i e e eS| -Retes
I 92 FHISYL@ad ACK 3 R (@ JA1E-
A. et To 7st B. SEARNE FESe
C. 5ite =Kz FhEE Fe D, I Fiosi

24. T Tt e TESiE TF TER-

A. 5—<+9 B.T-3%+7 C.9—+4 D. @—G+uer

25. ‘czrai® WieE oo ot 1’ -9% I ‘Foreite’ (@ 9= -
A.9FE B, weifeat C.fusds D. a@es
Answer Kevs: 1.A 2B3. A 4C5. A6D7.A 8. A
9.C10B 11.C12B13.C14.C15.D16.C17.C
1. C19.C20.A21.A22. A23B24.C25.C

General English
Read the following passage and answer questions (1-4)

using information from it:
In Bangladesh folk music has great variety, with songs being

composed on the culture, festivals, views of life, natural
beauty, rivers and rural and niverine life. These songs are also
about social inequality and poverty, about the material world
and the supemnatural. Mystical songs have been composed
using the metaphors of rivers and boats. Since the country is
basically riverine, the bhatiyali forms an important genre of
folk music. Flok music is formed and developed according to
he environment. Differences in the natural environment are
reflected in the people of the different regions. The dialects
too vary across the different regions. Bangladeshi folk music
therefore varies from region to region. Thus there are the
northern Bhawaiya, the eastern Bhatiyali and the
southwestern Baul songs. Folk songs may be sung
individually or in chorus. Folk songs sung individually
included Baul, Bhatyali, Murshidi and Marfati, While songs
sung 1n chorus include Kabigan, Leto, Alkap and Gambbhira.
Some songs are regional in character, but others are common
to both Bangladesh and West Bengal.
01. The most sultable title for the passage is:

A. Bangla Folk Music B. Folk Musical Saga

C. Bengal Folk Trends D. Bangladeshi Folk
02. The rural riverine life is reflected in -

A. festival songs B. alkap songs

C. leto songs D. mystical songs
03. The word 'Genre' stands for-

A. typical religious varities

B. categories of creative forms

C. associated varients

D. subclasses of folk music
04. Find the statement which is false.

A. Folk songs contains supernatural elements.

B. Bhatiyali and Baul are two regional folk varieties.

C. Folk songs must bear local flavours.

D. Social crisis is also a part of folk music
05. The word-category of 'Foment' is-

A. adjective B. verb C. noun
06. 'Blandishment’ is related to-

A. honeyed words B. abusive verse

C. declamatory speech D. modest reply

D. adverb
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'In the sea, flocks of flying fish skimmed in terror
from the approaching hull.' Count the modifiers-
Al B.2 C.3 D. 4

The gist of the poem 'I Died For Beauty,' 1s-

A. Love 1s beauty and beauty 1s truth.

B. Truth, Beauty and Goodness come first.

C. Beauty will save the world.

D. Beauty 1s truth, truth beauty.

Dreams are disguised fulfillments of repressed
wishes.' The best synonym of the bold faced word is-
A.subdue B. encourage C. liberate D. accomplish
The apostrophe (') is placed correctly in-

A. My parent’s home 1s in one of the town's posh areas.
B. My parents' home 1s in one of the town's posh areas.
C. My parent's home is in one of the towns' posh areas.
D. My parents home 1s in one of the town's posh areas.
The correct spelling 1s-

A. Conscientious B. Concientious

C. Conscintous D. Conscientous

Progress is the antidote to stagnation.
bold faced words are-
A.homonyms B. synonyms C. antonyms D. hyponyms

It is difficult to sympathize —an unfortunate man.
A. for B. with C. by D. at
'"To keep an eye on' means-

A. To keep calm B. To be active

C. To observe D. To look

She can easily get along with others. The meaning
of the bold faced word 1s-

A.walk B. adjust C. accompany D. stay
The verb form of the noun 'Humanity' is-

A. Human B. Humane

C. Humanitarian D. Humanize

Find the appropriate antonym of "Malice'.

A. Bitterness B. Animosity

C. Malevolence D. Kindness

'Mina's lovely voice was music to our ears' is an
example of-

A. metaphor B. metonym C. simile D. symbol
"He questioned softly why I failed." Change this
sentence into reported speech.

A. He questioned softly, "Why did you fail?"

B. He questioned softly, "Why did I fail?"

C. He told softly, "Why have you failed?"

D. He told softly, "Why had I failed?"

Translate the sentence into English: “&E 52
Fiterd o< ot Tp 3t fmp =3 1”

A. No work 1s superior or inferior from its value.

B. No work 1s better or worse as itself.

C. No work 1s superior or inferior in itself.

D. No work 1s better and worse as itself.

01

The

'He will finish the work .' Choose the
appropriate word for the gap.

A.1n no time B. right time

C. of his cost D. absolutely

She was sliding depression.

A. into B. of C.on D. at

I like travelling to visit different places of the
world. In this sentence the verbal noun is-

A. travelling B. visit C. world D. places
Find the correct use of 'although'-

A. He likes music although he 1s always busy.

B. We decided to return. Although, 1t was raining.

C. Although he 1s young, he is very careful.

D. My grandfather is over 70, he 1s although active.

25.

02.

03.

04.

06.

07.

08.

09.

Change the form of voice: 'He did not give up the

fight even though he was badly bruised.’

A. The fight did not give up by him even though he
was badly bruised.

B. The fight had not given up by him even though
he was badly bruised.

C. The fight was not given up by him even though
he was badly bruised.

D. The fight was not giving up by him even though
he was badly bruised.

Answer Keys: |. A 2D3. B4. C5. B6A 7D 8.

D9AI0BI11LA12.C13.B 14.C15B 16. D 17.

D18. A19.A20.C21.A22.A23.A24.B25.C

Ay [ General Knowledge

. =gifod == ‘Ffes’-93 w4 (The meaning of Latin
word 'civis' 1s)-

A. =14 (city) B. =si<<18 (city state)

C. =vife= (citizen) D. 92 (state)

‘iz’ g 9T &7 ('Flip-Flop' is a kind of)-

A. =fers o6 (logic gate)

B. Wi5-S12@67 (multi-vibrator)

C. fe514 (register)

D. =yiatee 994! (analogue circuit)

Wit 1206 “FERFS oiwd 75 (The name of the song
sung at the 'boat-race')-

A. 7 (Sari) B. wif@ (Jari)

C. sifbmif (Bhatiyali) D. steudw (Bhawaiya)
=6 dibiwew? (Which one is the oldest?)

A. =@ g (Mahasthan Brahmilipi)

B. vdi*iw (Charyapada)

C. smwsf@ed (Ramacharitam)

D. sirstiie™w (Gitagovindam)

. FEies w4d«i1ex 5w (The father of macro-economics is)-

A. 7316 WA (Robert Malthus)

B. &1 @ &% (J M Keynes)

C. &4 336 3= (John Stuart Mill)

D. ey 49 (Adam Smith)

Trogai AfFE 27979 Swizzd (Example of matrilineal
family is)-

A_ =iTeat 8 41t (the Garo and the Khasia)

B. +iitat ¢ 91412+ (the Garo and the Rakhine)

C. <if7m @ wf=+jfa (the Khasia and the Monipuri)

D. vi==t @ it (the Chakma and the Khasia)

— TR TEg-co% fRemR Ao | (— is known

as the seismic sea wave.)

A. Btet (Tornado) B. zji@t@= (Hurricane)

C. 3=ifal (Tsunami) D. 518%+ (Typhoon)
*I1¥e; 551 8 Fe=ws Ay &= et 38?7 (In which
age the hills of Chattogram Hill Tracts and
Sylhet were formed?)

A. brafrafs el (Tertiary Age)

B. 2r2wsi@ oot (Pleistocene Age)

C. reffes 3o9 (Recent Age)

D. g=i= gust (Jurassic Age)

a1 e ATl A wewee (@ g1 Wi 2@ (The recently
concluded Summit of BIMSTEC was held at)-

A. ziars fage™ (Hyatt Regency)

B. W g=itzs6 ¢ziio= (The Everest Hotel)

C. czitoa was<ft (Hotel Annapurna)

D. @wies giie Sas-ciEes (Crowne Plaza
Kathmandu-Soaltee)
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FRFTACT FRYNE SO AAW FFFS Fia ST @
e &4 & T (As per the constitution of
Bangladesh the reserved seats for women were
first incorporated in)-

B. 5514 (1977)

A. Saxd (1991)

C. 3sbe¢ (1985) D. 5593 (1972)

T3 FAGH IN.EIMT ITIE N GEIET IR
fe=9 (In which sector Wing Commander M. K.
Bashar was the Sector Commander)?

A. 153 3 (Sector 2) B. 7% 8 (Sector 4)

C. i3 b (Sector 6) D. 783 ¢ (Sector 3)
FieETTT qa AfEFEAT oo’ T A IF (‘Bangladesh
Delta Plan 2100’ is associated with)-

A. e-qreIfs (geopolitics)

B. weraiy #ifsaed (climate change)

C. fa= ziow dfsfe (green house effect)

D. It #@sd (preserving wild animals)

oo 7Sl 8 FASIHAHT X TS Sifeoias
7eZl == (The UN organization related to gender
equality and the empowerment of women is)-

A. 2897 83« (UN Women)

B. B3« s15 (Women Watch)

C. 232 %1% (Equity Fund)

D. cersia 39281 #1% (Gender Equity Fund)

‘IR FH-aBl TR O (The term

'Persona non grata' is related to)-

A. qreifefaw (politicians) B. ?{ﬁlﬁ%ﬁﬁ (diplomats)
C. W= (players) D. @4< (writers)
TEEE @iea’ 9w Jer =< ("Montreal

Protocol’ is related to)-
A. 7 9 (white tiger)

B. @ig@ei= (chlorofluorocarbon)
C. #iif< y&4 (water polution)

D. ©firs¥7 (soil erosion)

T AGAIErS (71 IS @RI (Value added service means)-

A. 1 I=19 743 (Low cost products)

B. T==1e gwi (Giving discounts)

C. @33 4705 qrere @Rl (Additional service at the same cost)
D. taf* atena #i¢5 (High cost products)

Iegees vamed (The film based on Liberation War is)-

A. sial (Joyjatra)

B. <t (Kakhono Asheni)

C. &l97 ¢AtF 73t (Jiban Thekey Neya)

D. ¢ (v o« 99E (E Desh Tomar Amar)

WY (o f@Ew wEons (Bangabandhu was in

prison for a total period of)-
A. woee 1= (3053 days)  B. 8www e (4663 days)

C. a¢¢o M7 (2550 days) D. weoo e (3500 days)
T 1 SEEEe e 9gtT et =W (The
author of Bangladesh: The Unfinished Revolution is)-
A. 7™ ferwsere (Lawrence Lifschultz)

B. iR sfresE (Talukder Maniruzzaman)

C. =rgf« wiita==™ (Anthony Mascarenhas)

D. W iferes (Siddique Salik)

IR AR e Sk Ress 33 Wit e
(How many articles are there in the constitution of
Bangladesh regarding the fundamental rights)?

A. 2015 (20) B. 35 (19)

C. 3v (18) D. 396 (17)

Iega &gus w3¥S ¥ (In Dhaka, the Liberation

War Museum is situated at)-

A. SiiReite (Agargaon) B. GigRitis (Segunbagicha)
C. #izaisi (Shahbag) D. g@wf® (Dhanmandi)

T 2000 e FiEaE ot @ Gofens wgs &
(The stadium where the FIFA 2018 World cup
Final match was held)-

A. TR (Luzhniki)
C. FAwEt (Samara)

B. &=iidiv (Volgograd)
D. wifsif=aim (Kaliningrad)

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34

35.

36.

2034 FIE FiLS (7= 757 [F=d @@= (The Nobel

Prize winner in Literature in 2017 was)-
A. 33 %=1 (Bob Dylan)

B. cif 239 (Mo Yan)

C. == W™ (Haruki Marukami)

D. =158 2*at@i (Kazui Ishiguro)

IAIT L AIR0-Y BLH=q T g7 T T = (The
Bangabandhu Satelite-1 was launched from)-

A. wriiset (Florida) B. (6 (Texas)

C. sifeeeifat (California) D. 7e23% (New York)
203b-35 W IATC wrSE Feed cifamtd (The
volume of the Bangladesh national budget of FY
2018-19 is)-

A. 8,u8 99 I o1l (Tk 4,64,573 crore)

B. 8,049,833 (I o1& (Tk 4,07,422 crore)

C. 8,3%,¢99 31 6131 (Tk 4,21,573 crore)

D. v,58 u3s & 51 (Tk 3,94,621 crore)

FF  SICEE dr-an FEH eitewret (The
highest scorer of SAFF Championship 2018 is)-
A. iz 9919 (Mohammad Faisal)

B. w+fea iz (Manvir Singh)

C. =3 rzitaw (Hamza Mohamed)

D. e #1% (Sumeet Passi)

& a9 Mg AT WIF T TE@ Tgee e (G7
summit 2018 was held in the city of)-

A. =1 9=@12 (La Malbaie) B. st (Ottawa)

C. #i=i2 (Shanghai) D. @@ (Kobe)

‘e =7 gz’ @z ('Theory of Everything' is a) -
A. vafed (film) B. =f<®l (poem)
C. &5 (novel) D. s6% (drama)

AT @ Torsm it fe=-71wfe (Hieroglyphic
is the ancient writing system of the)-

A. fi=idiw (Egyptians) B. {t=4i@ (Sumerians)

C. #1@5 (Persians) D. sif<=ia (Babylonians)
47 8 FA TRFR S, Wb ATA T BeoweA
FieEeae e W (According to FAQO report 2018,

Bangladesh ranked in producing fish.)
A. &% (5th) B. 9% (3rd)
C. 84 (4th) D. v% (8th)

BIFE woe FHete B gfim sreent awfairs st
ceql (e 74Tt (The number of countries which
participated in the last Asian Art Biennale held in
Dhaka)-

A. 82 (42) B. ve (65) C. 230 (70) D. v (68)
‘q T% &I’ fyfRwtetm wafg® (The '7 March
Bhaban' is situated at University.)

A qreirgl (Rajshahi) B. 41+1 (Khulna)

C. 51914 (Jagannath) D. 511 (Dhaka)
e I [tesa 7@t (The number of
sellers in an oligopoly market is)-

A. @«F5=% @™ (more than one) B. fe=& (three)
C. y&=19 @™ (more than two) D. 7&+ (two)
e 20dy Al ifds ‘F wreelRei e o=
FRA 00’ -9 A4 == (In 2016, the head of

'"The Advisory Commission on Rakhine State' in
Myanmar was)-

A. "= &6+ (Bill Clinton) B. 3u5-91f (Boutros-Ghali)
C. = ==+ (Kofi Annan) D. 3 &3 (Ban Ki-moon)
SYYe FEEE FE Faca (@ 1At <inedwt ¥ (The phone
number 16263 provides the service of)-

A. 39 (agriculture) B. =515t (ambulance)
C. sz AfeA (fire service) D. 5™l (police)
VARSI [T T ATSEWMT Ww0dv AR I
ArFaeid oA TE (According to the UNDP
Human Development Report 2018, the present
literacy rate of Bangladesh is)-

A a3 bv% (72.8%) B. av.2% (78.2%)

C. 39.2% (77.2%) D. ar.a% (78.7%)
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AN Aot FfTBHEE WeSH GEIR IRFAWCE T
¢sEt (The first district of Bangladesh to become

hundred percent sanitized is)-

A.3w%l (Bogura) B. $f@il (Cumilla)

C. seiia! (Rajshahi) D. <=1t (Khulna)
‘Justice delayed is justice denied’ ®f&® ('Justice
delayed is justice denied' is a statement of)-

A. &FGER (Socrates)  B. ¢2ite@ (Plato)

C. @erbred (Gladstone) D. (€ ' (Bernard Shaw) 49

w IwErt-ag Ig@@ Toq WwW@EE  (The new
addition to the fleet of Biman Bangladesh is)-

A. @32 999-900 (Boeing 777-300)

B. @i ara-v» (Boeing 787-8)

C. 9a99™ woto (Airbus A350)

D. @39 wovo (Airbus A380)

OFHR BFTs TENEE we s F7 (Sustainable
Development Goals do not include )

A. (51%19 99l (gender equality)

B. si/e#i#e (democratization)

C. W===Ag %t (quality education)

D. fewcal T=1 (zero hunger)

e GRFEE A9 @ e ARHTET cEvMeE w9Eae
R (The first Asian country that has recently
removed the Presidential term-limit 1s)-

A. ©eq ¢@ifam (North Korea)

B. si3ex« (Taiwan)

C. ffa1#137 (The Philippines)

D. o= (China)

BT (Tgieas 9gE wieeEE 99 (The official name

of the metro-rail system of Dhaka city is)-
A. W wif*ie Gwfet (Mass Rapid Transit)

B. =ifitviga wvif*ie Gfes (Passenger Rapid Transit)
C. sfeo wif+e Gif&t (Commuter Rapid Transit)
D. #=ai2 q51f#s GifEs (Passer-by Rapid Transit)
ST SIS A FIF0R (S0 VAT FHS gt
F@ (The right of exercising the casting vote in the

National Parliament of Bangladesh is held by the)-
A. A 79l (Leader of the House)

B. ™= (Speaker)

C. g wereret (Leader of the Opposition)

D. 7i@9f® (President)

‘e sies’ et 9 ('Rose Garden' of
Bangladesh is a)-

A. "wEifes Arwew (&9 (International conference centre)
B. @igw wfsfaxie (state guest house)

C. Sfgn-Gwri (botanical garden)

D. @fex5% &9 (historical mansion)

Zeferet 235 Bfemt cereeiife (8 I AW IR (AT I
fwemifs =s @ (The English East India Company
received the Diwani of Bengal from the Mughal

emperor)-

A. %’T *12 o=ty (Shah Alam II)

B. w=R™ 4 (Alivardi Khan)

C. wa4f*a@ (Farrukhsiyar)

D. <izi9R *Iz &% (Bahadur Shah Zafar)

16 Efew weifbaer = gat 9% ¥3wa (Search engine
optimization is a kind of)

A. IzRSId-aEd (@ (user-friendly strategy)

B. 9tzq (2152 (&% (web hosting code)

C. (SIw3s i (domain structure)

D. &9it=19 @5 (41 (classroom service of google)
'Heuristic' == ¥® Ftx w=+<s (The word
'Heuristic' is related to)-

A. TZFEIF 91E<S (epic hero)

B. Jfem gfarat (artificial intelligence)

C. a%= Sz (global warming)

D. @@l (sports)

48. o CFEOH NI AW AEE JW® T FTWIF 9T W I
IRG CY I T AR FF Qe T Qe
Zzate? (Which volume of the book entitled Secret

Documents of Intelligence Branch on Father of
the Nation Bangabandhu Sheikh Mujibur
Rahman has recently been published?)

A. 297 (First) B. v*1 (Tenth)

C. vow* (Fourteenth) D. si# (Fifth)
7S 1 1 e (Jack Ma Yun is a /an)
A. W=Rif&3[ 391 (human rights activist)

B. Sl (entrepreneur)

C. sidmi &1d< (feminist writer)

D. &fifi-=ifg=7 <31 (animal rights activist)

50. drETicaR ORI T gt e e
+f2f5® &== (In the history of Islam, inhabitants

of were known as 'Ansars')
A. =1 (Mecca) B. #itsr® (Damascus)
C. 9% (Medina) D. ariniv (Baghdad)
Answer Keys: 1.C 2. B3 A 4A 5 B6 A
SA9.DI0.DI11ICI12.B13. Al

17.A18B19.A20C21.A22. A23.D 24.
26.B 27.A28A29.A30.B31.D32.D3
35. B 36.A 37. B 38. C 39. B 40. 1.
B44D45.A46.A47.B 48. A 49. 0.

Elective English
Read the following passage and answer questions (1-4)

using information from it.

International efforts to protect animals often aim to prevent
animals from going extinct or losing their natural habitats.
Many countries prohibit imports of ivory through laws that
commonly include the African Elephant conservation Act of
1989. But ivory remains in demand in various parts of the
world. According to a 2013 report from the Los Angeles
Times, in 2012, at least 25,000 African elephants were
slaughtered by criminal gangs eager to market the lucrative
ivory from their tusks. The poachers' take has risen to
alarming levels over the last twelve years, with about one in
17 wild elephants being felled in 2012, by some estimates.
Elephant populations have fallen from 5 million a century
ago to fewer than 420,000 today. The situation is equally
worse for other species. In United States, 623 animal
species are listed as either endangered or threatened. Thus
includes 85 mammalian species such as bear, foxes, ocelots,
otters, panthers, rats and whales. The International Union
for Conservation of Nature (IUCN) produces a 'red list' of
animal and plant species that are endangered around the
world. However, the mountain gorillas in Eastern Africa are
making a comeback with a 26 percent increase in
population after many years of conservation efforts. Such
successes are due to the fact that there are more protected
areas in the world, including wildlife refuges and reserves.

01. Producing 'red lists' can help to-

A. motivate the hunters B. combat the situation

C. save the world D. rescue African animals
02. The word 'poacher’' stands for-

A. 1llegal hunter B. false receiver

C. injured animal D. faulty methods
03. Choose the best way to preserve rare species-

A. apprehending culprits B. promoting surveys

C. establishing sanctuaries D. building awareness
04. The most suitable title for this paragraph is-

A. Stop killing animals B. Animals are in jeopardy

C. Save animals, save morality D. Animals' endangerment
05. 'Sarcasm’ is-

A. a belief 1n everything that is sacred

B. a special kind of body movement

C. a belief that nothing 1n this world 1s of any value

D. an ironical remark or comment
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If someone is 'saturnine', he/ she is-

A. an extremist B. brilliant C. satiric D. serious
‘Magnum opus' is a Latin expression that refers to-
A. a person's habit of working

B.a mﬂgmﬁcenl operation

C. a person's greatest work

D. invaluable source of information

'Biman Bangladesh —— your home in the air' is
an example of-

A. metaphor B. simile C. metonym D. oxymoron
'She is always running down her neighbour' is
closes in meaning to-

A. She 1s always winning over her neighbour.

B. She is always facing problem with her neighbour.
C. She 1s always c1'1t1c1zmg her neighbour.

D. She 1s always earning more than her neighbour.
The qluute, '"Autumn is a second spring when
every leaf is a flower' is by-

A. George Herbert B. Willam Shakespeare
C. George Orwell D. Albert Camus

If sumebﬂdy 1s 'supine In the face of racial
injustice', he/she-

A. stands firm against it  B. fails to protest 1t

C. supports it D. protests it strongly
Choose the correct spelling-

A. Cameraderi B. Camaradry

C. Camaraderie D. Cameradirie
'Cul-de-sac' means-

A. 1mpasse B. turmoil C. a dark street D. a curve
The synonym of 'Belligerent’ is-

A. friendly B. flexible C. pugnacious D. repugnant
After sus&:ended for misbehaviour, the
student requested reconsideration.

A. having been B. having C. have D. was

"Take with a grain of salt' means-

A. not to take something too seriously

B. not to harm anyone

C. not to injure someone

D. not to feel insulted by someone

If Vertex: Pyramid then-

A. Strand: Hair B. Frame: Picture

C. Summit: Mountain D. Rung: Ladder

Even though the surface of the ocean seems

smooth, as we look at it, it is at the floor.
A. unreal B. disproportionate
C. irregular D. unsteady

The book that does not fall into the same category-
A. Frankenstein B. The Great Gatsby
C. Misery D The Shining

The antonym of the word 'Equanimity’ is-

A. agitation B. aplomb

C. ataraxy D. assurance

The pursuit for ambition fills one with
towards the task undertaken. Which of the
following is not a correct answer?

A. enthusiasm B. fervor

C. conviction D. apathy

The sagamty of Mohsin is known to all. Here
'sagacity’' means-

A. good looks B. hypocrisy

C. intelligence D. sportiness

Guilt about neglecting their children makes
parents — in the toy shop.

A. 1rreparable B. overindulge

C. irresponsible D. overrated

When the disease is at the latent stage it is almost
impossible to determine its existence by —.

A. a thorough examination B. mere observation

C. a scrutiny D. a rigorous checkup
The "odd one' is:

A. Brilhant B. Luminescent

C. Bright D. Brittle

Answer Kevs: 1. D 2. A3. D 4 A5.D6.D7C 8A
0.C10.D |i.D12 CI3.A14.C15.B16.A17.C
18. D198 20.A21.D22.C23.C24.B25.D

TiIl Yf_essg o> a- Qt::bb’

;S ojera
I
01. e RaEe o @ sieet -
A. 2R B.iw C.@Fsn  D.ssi
02. ‘¥’ *=ib (¥ Wi RIS 2 yare-

03.

04.

05.

06.

07.

08.

09.

10.

11.

12.

13.

14.

15.

16.

17.

18.

A.Resd B. e C. 7= D. ©@%fe

“TiE W S ST GHRiRAT =S 9. — P
BT IS FIHa 9T ST FACS HrAREA?

A. AT Ve AR 994

B. clizeee-faawicag [aosaer e%i9

C. TEETa-AAgEed HEtK 92

D. F2rsd AWEd ﬁﬁ’ﬂw‘rﬂ a9q

5= *~rewR TrA—

A. fFErm, fireee, gefs B, Wo2, e, AJbI

C. b, g7, (IFG-uEa D. o7, 453, Sraiga

IR 1T Srofm-

A. efepier woufrs B, @feg a9 &=

C. vy v AEZa &+ D. S«6bId &)
JFIIHF = 4-

A. @ B.wNE C.IamE D, g3

< Gieres wRid—

A. SftabeigTe @6 B. wieary f«fg

C. S*1E1<! g D. S@E Aty

‘TR i v / A gEs S — S gm?

A. ‘TS T3 FIITS ST AR T’

B. ... gl WO S=peE (FI0 To

C. ‘Fr=fas Fd = SFAme @G 1R g3039 2’

D. ‘% 3t S &, Wi [ (w6 <%t |
‘R (FO AT, (IO G, (FC IFEl I IAFD T

T (ATTF OFo—

A. SR TF B. W@ i
C. wzerifes fFewte D. §97 ¢ T

I S G (T /AR AT SoImiA—

A.Tonsf  B. Tl C. dom D. far=gel

The singer has a very sonorous voice. 33503
ARET IXFIT—

A. ST THIG S99 SESd | B. SIHtea 9 9 el |
C. IR R A= R WE | D. S0 41 S & |
‘TG TR IS T ST S5l Wi 918 1" Biet—
A TR B.*gae  C.Sgtm@ D, Fae
‘it ¥R TN @ Ao TR @ GFo /R QS |
TeTad 2 CFTS T8 wvaed afefaam—

A sfE Bz C. w=n @ D. aoisiie

T FLT S T ;Y IR T 8 AiFeF R TR’
A.Tea% B.=@eiee C.ATes D, $999
AL ST *THA BIE A1

A. s@F@ B.9dqf@ C.dfeewrel D. GEfeaw

‘Bz MY (wg @ wRE e vt 7R 3 wifeaE”

B. T4 *[$ (I WA

C. JIEgH T4 e D. «xfwa sofe sjfefary
wwmﬁamﬁaw Ti7 PIts TeeRR
TS FS' | 92 ST A LHAGHF ZA1-

A. Fiferea afeqm B. S9YITe Qb
C. afeqima q[iRTs] D. FfF7d gerrare
A. dfS + ToA B. &f® + wiqed
C. ooy +q%q D. a3 +SFe



19. SRAw W TG 8 Y1 STewd Ny i e oi=-
A SogE SENES B. =R I39R
C. AR SEeE D. 57 gpirela

20. ‘AW @I g @2 ACH' | TIT O

A. 54 B. &6 C.adfs  D. i
21. ‘SeEHE T ANt Swigat—
A.oFY B. ¥Ry C.Ighiiz D, S9Eer

22, ‘T 8 AW — WGTS! FEE TG || 9 T EH

T C(F *¥—
A.fFe  B. 5@ C.¥@®% D.3g
23, ‘FiEE o7 i IR o — 3rmfore Ry iR 3mrs @Rim-
A. TSt oot B. A& T3
C. (39 (514 D. &% BizH

24. ‘SIS T e Twiad—

A . 9vgi?E B9 C. SHUTAE D. SYUTATS
25. 'Syntax' *mfoa et AifErsiEs wet g

A. =m-gs9d  B. @F-gsad  C. a-go9d  D. *R-stow

Answer Kevs: 1. A2C3.C4B5A6B7A8B9.C
1I0C11.BI12B 13.C14.A 15C16.C17.B 18B 19.C
20C21.C22B23.D24.C25C

General English

Read the following passage and answer questions (1-5):
using information from the passage:
After two periods of captaincy cut short by his constant
companion, namely injury, Mashrafe bin Mortaza was
handed over the baton once again in 2014 to lead the
national side in both ODI and T-20s. The journey of
Mortaza, called the "Narail Express”, as a captain coincided
with the glorious transformation of the Bangladesh Tigers
from the perennial minnows to a major cricketing power.
His charismatic leadership and unflinching patriotism
helped Bangladesh turn into a strong unit and qualify to the
quarter finals for the first time in their history in 2015
World Cup Cricket. That too by knocking out England, the
birth-land of the game and one of the favorites for the title.
This spirit 1s induced by the by the brave skipper who led
the Bangladesh team to beat top-class opponents like
Pakistan, India and South Africa and lose narrowly to
England in subsequent bilateral home series. He inspired
Tigers in qualifying to the semi-finals of 2017 edition of
Champions Trophy by trumping the strong outfit of New
Zealand. Moreover, Bangladesh under Mashrafe's fearless
leadership fought neck to neck with Sri Lanka on the latter's
home turf in 2017. The Tigers won more matches than lose
under his shrewd stewardship, thus making the most
successful of Bangladesh captains.
01. What does the author say about Mashrafe's role

in the Bangladesh team?

A. cullies players B. conspires with players

C. motivates players D. facilitates players
02. Which of the following words does not match

with others?

A.leader B. skipper C.fighter D. captain
03. Choose the best title for the passage. Mashrafe, the—

A. great pacer B. comeback hero

C. crazy player D. brave fighter
04. The phrase 'to fight neck to neck" is closet in

meaning to:

A. to fight back

C. to fight equally
05. "knocking out' means—

A. destroying

C. defeating

B. to fight one-sidedly
D. to fight randomly

B. beating up
D. cutting

UCC

06.

07.

08.

09.

10.

11.

12,

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

Fill in the blanks with the most appropriate word/words
(questions 6-11):

He can sing better than in his family.
A. everybody B. everyone

C. anybody D. someone

A comedy is than an action movie.

A. more funny B. funnier

C. most funny D. funniest

Left himself, he would be able to complete
the work less than a month.
A.with B.on C. by D. to
'Jaws of death is an example of
A. Metaphor B. Simile
C. Personification D. Symbol
love is such beautiful thing.

B. a, no article
D. DU founded

A. no article, a

C. the, a

Do you know when ?
A. Du was founded B. was DU founded

C. had DU been founded D. DU founded

The enemies gave in at last. Here '"gave in ""Mean—
A. Yielded B. wielded

C. Infiltrated D. Fainted

The synonym of "energetic'’ is—
A. Sprightly B. Hasty
C. Humble D. Extreme

Choose the correct sentence:

A. He 1s used to work had.

B. He 1s used to working hard.

C. He used to working hard.

D. He has used to working hard.

I hope you can account for the time you were cut of
doors. The meaning of the words in bold face is:

A. spend B.misuse C.explain D. utilize

The museum painting by S.M. Sultan.

A. did not have any B. did not have no

C. did not have hardly D. did have any

Which of the following is NOT an abstract noun?
A. Goodness B. Family

C. Bravery D. Childhood

Ayesha hopes to attend DU, —

A. and she has not yet submutted her application form

B. but her application form has been submitted.

C. yet she has submitted her application form.

D. though she has not yet submitted her application form.
The antonym of "Elegant" is:

A. Evlogy B. Pendant

C. Awkward D. Egotistical
The verb form of the noun "Origin" is:
A. Original B. Originated
C. Origination D. Originate

The first line of the poem The Charge of the light

Brigace by Lord Alfred Tennyson is-

A. Half a legend, half a legend

B. Half a league onward half a league

C. Half a league, half a league

D. Half league, half a legend

"Whom do you want?' Change into passive.
A. By whom you are wanted?

B. By whom are you wanted?

C. Whom is wanted by you?

D. Who 1s wanted by you? 10



23.

24.

25.

UCC

"May our cricket team win the "World Cup'.
Change into an assertive sentence.

A. I wish our cricket team to win the "World Cup'.

B. I wish that our cricket team wins the "World Cup'.
C. I wish our cricket team could win the World Cup'.

D. I wish our cricket team can win the "World Cup'.
Translate into Bangla: "Everyone wants peace
and like the principles of non-violence."

A. "R e g sk gm0 |

B. "3RS @3 SfEGiR 29 v "

C. "tz =ifE o1g v wizeia S «ww = ("

D. "eEs «fESn w3z g Afea Ty |

Mother said to me, '""Do not tell a lie." Change
into indirect narration.

A. Mother frightened me not to tell a lie.

B. Mother suggested me to not tell a lie.

C. Mother advised me not to tell a lie.

D. Mother warned me to not to tell a lie.

Answer Keys: . C2C3B4C5C6C7TB8B9 A
10A11.LA12A13.A14B 15.C 16.A 17B 18.D 19.C
20D 21.C22D23.C24.C25.C

49 e[ General Knowledge

‘GO FIAMS 039" TPIE T[WE I FS IRA?
(What is the age limit of the youth according to the
'National youth policy 2017'?)

A 53-38 (12-24) B. se-xe (15-25)

C. s»-o¢ (18-35) D. 2c-9b (20-38)

TEgm ‘T’ @ GEEe W4 @- (During the
liberation war 'Mujibnagar' was under sector—)
A S (11) B.v(8) C.:(2) D.>(10)

=afe AEC @ A ‘cSretEe e e
Tgre ¢R- (The product of Bangladesh which
has been recently recognized as 'Geographical
identity Product’ is-)

A. et (Hilsa) B. wwifs (Jamdani)

C. @<= (Benarasi) D. s=fEm (Muslin)

FEFR Lo Toa ‘FIS-97 w=wg= f@@- (The ancient
city of Bengal 'Karnasubarna' was located in-)

A. 3f@™ (Comilla) B. W@ (Mushidabad)

C. 3awi@ (Bogra) D. Frei&ite (Rajshahi)

T g e Tgw TErem are FW — JE
(Bangladesh became a member of the World
Trade Organization in—)

A. 3558 (1994) B. s55¢ (1995)

C. Y359 (1993) D. 55Y (1996)

FERF ‘wFeAm FuFad @9 (Bengal was named
as 'Jannatabed' by-)

A. T1=9 (Babur) B. wi<ag (Akbar)

C. gig@ (Humayun) D. wizrEiw (Jahangir)

T TAloed STt "EiSiw bAftha 4T 0d¢’ TS FI-
(The film received the 'National Film Award
2015' in the best film category-)

A. 7=t qieaeEe (Bapjaner Bioscope)

B. &3« Wfdl (Bhuban Majhi)

C. =t=it9 1w (Jalaler Golpo)

D. wif<e1 qreifos 9w (Anil Bagchir Ekdin)
TR WY s — et 7Se- (The constitution of
Bangladesh is mainly divided into -)

A.5(9) B. o(10) C.5(11) D.s3(12)
‘entaterl’ B BwEw @@ ("Wangla' festival is
celebrated by-)

A. vzt (The Chakma) B. sFi#fe=t (The Monipuri)

C. sita=t (The garo)  D. sdi@=@t (The Rakhine)

10.

11.

12.

13

14

15.

16.

17.

18.

19

20.

21.

22

A. gaga vl (Fort of Humayun)

B. wiisz=@m vl (Fort Aurangabad)

C. @t=a g (Fort Aurangabad)

D. wi<@d g+ (Fort of Akbar)

T AT AE R B SIS Mg — -
(Bangladesh Bank has given permission to — bank

to start Poypal service.)
A. Tt (Sonali) B. =@t (Agrani)
C. =91 ((Janata) D. =@ (Pubali)

GRS IRFTCR A=t FHv w_Ee- (The training
centre of the Border Guard Bangladesh is located at-)
A. 1299 2w (Baitul Izzat) B. #imwi (Sarda)

C. FE=¥ (Sujanagar) D. Teizie@@ (Dulahazra)

&= 718+ 17157 79- (— is not a greenhouse gas-)

A. 712G 972 (Nitrous Oxide)

B. sfgeee (Oxygen)

C. fite= (Methane)

D. s¥=7-wi3-wg2e (Carbon dioxide)

afezie ‘wm wen' @ [Tl wede &= =t (The point
that was not included in the historic 'Six points' is-)
A. *Preifgs toicat (Constitutional structure)

B. c@oasrREa =l (Power of the central govemment)

C. =5 95931 (Separate currencies)

D. favra-=1971 (Legislature)

FEE 4w T4 FEe- (The first independent
Sultan of Bangla is-)

A. 2w 3@%< =iz (Fakhruddin Mubarak Shah)

B. #feam =iz (Ilias Shah)

C. ifwx =iz (Nadir Shah)

D. 7i& ®wi= (Nasir Uddin)

IETet AFeT U e @& 795 =@- (In
Bangladesh, natural gas is mostly used in-)

A. “fs<=ee (transport)

B. =& ®=eimtA (producing fertilizer)

C. fagre Be#imea (producing electricity)

D. sjz%if#14 J1tet (household purpose)

I F9E waRS- ('‘Bangladesh Square' is in-)

A. <t (Congo) B. #if2afad (Liberia)

C. zi3fe (Haiti) D. 5% (Chad)

A" i iR i @ CFE SR e Sy
*w< (Ataes- (The Honourable Prime Minister
sSheikh Hasina has received the United Nation

Medal for-)
A. W1e7r3y S+ (Maternal health development)

B. freggre g@&™ (Reducing child death rate)

C. grifa< Fri-Bas= (developing Primary education)

D. ferssrarel wi=E4 (To bring gender equality)

ot FffwEes Q9w RSy wmee z@ (The first
convocation of the University of Dhaka was held in-)
A. 59 (1923) B. 538 (1924)

C. 53¢ (1925) D. 53v (1926)

F&u ey ‘% % #5'-93 o<=t-t (The proponent
country of the 'New Silk Route' in the present world is-)
A. 57 (China) B. @& (Nepal)

C. =4« (Japan) D. ©e (India)
&zt = Berifega (The Tista originates from-)
A. femrs (Tibet) B. fiffex (Sikkim)
C. ©617 (Bhutan) D. == (Nepal)

=ity wREEitTet AgR Wik sER 73 i-(The number

of official languages used in the Organization of
Islamic Cooperation are-)

A 1% (1) B.aB(2) C.e6(3) D.sf@4)

11



23.

24

25.

26.

27.

28.

29.

30

31.

32

33.

34.

35.

UCC

« 53 FErwe e SHRUTHE @FRoaE 93 TR (T Fi
w5®® z@- (In upcoming December, 'International
Festival of Harmony' will be held at-)

A. TZg=® (Mahasthangarh)

B. gateia (Cox's Bazar)

C. s=mafe (Moynamoti)

D. @i=isiie (Sonargaon)

TEAET (¥ wHaenv o Fia=s! 5@ (The USA

state which demanded independence recently is-)
A. % 333 (New York)  B. &=t (Alaska)

C. sfercwi=at (Califomia) D. @ifael (Florida)

‘ST 17 FoIT 2033’°-9F FU AT Jgos T3- (The
final round of the '"World cup football-2022" will
be held at-)

A. SIE 5+t (Argentina) — B. 3o (Qatar)

C. i@ (Germany) D. geife (Ttaly)
yeage EeRE o WAt (The number of

electoral votes in the USA are-)
A. @ob (538) B. ¢80 (540)

C. exe (525) D. @¢oo (500)

Surrender at Dacca : Birth of a Nation 3I2®=
&F- (The author of Surrender at Dacca: Birth of
a Notion is-)

A. W= e (Siddique Salik)

B. @1 wawi 9= (Rao Farman Ali)

C. csmiz= e (General Niazi)

D. @&. ¢&. sawHie (&4 (Lt.Gen. JFR Jacob)

203 AA FFT T JpeF 4 - (The top ranked
country in Human Development index in 2016 is-)
A. s58t@ (Norway) B. =4« (Japan)

C. efemns (New Zealand) D. & (France)

g 8 Gim wiwe [FeEa<sE e (The sea
separating Egypt form Saudi Arabia is-)

A. 9199 A9 (Arabian Sea)

B. =iz Fisig (Baltic Sea)

C. 3= A5[ (Baltic Sea)

D. 3= 7rlq (Black Sea)

TRifeeE @ 433 WG (The type of Human Rights is-)

A. agfes (Natural) B. ftreafss (Political)

C. Jwife= (Social) D. w4tafes (Economical)
EfSzIT@ B 77 (—is not a source of history-)

A. 7157 98 (Textbooks) B. @1 (Coins)

C. e (Inscriptions)  D. wfe= (Documents)
‘%-c'7 7tx fFE ('D-Day' is related to-)

A. g4 7977 (First World War)

B. feeiw 9@ (Second World War)

C. =iE7« = (Afghan War)

D. ferresw & (Vietnam War)

‘GEnT’ @ Gieta wem Ay gt (ROSATOM is a
National Atomic Energy Agency of-)

A. o7 (China) B. 7 (@if<ai (North Korea)
C. zitr (Russia) D. ==t (Romania)
<R ‘qgriitsa o' z@- (the land of thunderbolt' of
Asia is)

A. @#irE (Nepal) B. ©619 (Bhutan)

C. 912a1s (Thailand) D. sreg (Myanmar)
7% el TR w8 EE (0ld Age Allowance comes under-)
A. 999-t3931 (Age inequality)

B. s=eE=| (Social service)

C. #mifers fA=177et (Social security)

D. =iifqaifss ===l (Family security)

36.

37.

38.

39.

40.

41.

42

43.

4.

45.

46.

47.

48.

49.

@ it F¢=8 Betfar=t fee M- (The country which
was never colonized-)

A. fmeam (Myanmar) B. =17 (Laos)

C. a2« (Thailand) D. Zrwitamat (Indonesia)
— GG SeiiEie 5T 8- (—is not an operating system.)
A. &% @3 €316 (MS word) B. &1 (DOS)

C. B3tziE (Windows) D. f=rs (Linux)
2 I 9F6H- (Imru'al-Qais is a-)

A. foa=g@! (painter) B. el (scientist)

C. =< (poet) D. @f1teT (president)
wifs e iR, Wi o IR oY’ B -

('I have not seen the Himalayas, I have seen Sheik
Mujib'. The statement was made by-)

A. TFma F1eE1 (Fidel Castro)

B. === 151tEe (Nelson Mandela)

C. == 561 (Marshal Tito)

D. 2/t 1% (Indira Gandhi)

(At IFF 98 (T TLeE 7w @™ - (The area

where weight of a matter i1s mostly heavy-)
A. ?5% === (Equatorial area)

B. &= 9% (Polar area)

C. #fadia 3G (Centre of the earth)

D. &itog 78 (None of the above)

TR ANFFEFOT JVEED 517 =@ @ FrgfRmrea-

(The first experimental use of internet was
iniroduced at-)

A. e (Oxford)B. <iges (Cambridge)

C. zrer% (Harvard) D. 28Fi9gsig (UCLA)
e =< (The father of logic is-)

A. & 35310 39 (John Stuart Mill)

B. cewafa @@dfg (Jeremy Bentham)

C. wiz.«w. Rt (I M. Copi)

D. «fgs6567 (Aristotle)

Faga fgaw- (Confucius was-)

A. wri@= (Philosopher)  B. @i (Leader)

C. swie (Emperor) D. @& (Scientist)
CEDAW 5#% (T 433 WLFIEs wiee-

A. 7=t (Education) B. =% (Labour)
C. fr-wifg=sta (Children's right)

D. =i€t-=fes (Women's right)

"Polis' *=f63 =< (The word 'Polis' means-)

A. 7138 (State) B. /& (Society)
C. =f%7i2 (City state) D. wifszi@ (Nation state)
@ *=yo *w=9-57=4F% 79 (The pair of words that
are not inter-related)

A. Jt@ o7 @ w4 (Socrates and Philosophy)

B. traifa @ wtsier (Ptolemy and Geography)

C. zwi9 8 4= (Homer and novel)

D. 2%f5w ¢ spifafe (Euclid and Geometry)
-7 ‘2’ wee *faet (' of EVM stands for-)
A. 2=3< (Electric) B. 2@ (Electronic)

C. 2ai%< (Elastic) D. ¢f$Fa® (Efficient)
p2o1a Teemt (Twitter is a)

A. e @it 3126 (Social networking site)

B. simwiférs gston (Social Organization)

C. coi=ireni< qreiiri 20 (Professional networking site)
D. =ttt 52313 (Corporate Business)

2! oS W et ¢tz (The remnants of Inca
Civilization have been found at-)

A. 3ifewa (Brazil) B. gy (Venezuela)

C. ¢vi=ts (Peru) D. 3f=fenw (Bolivia) 7



50. =zwizfFae sf%a &@9F (The writer of the Treaty of
Hudoybiyyah is-)
A. Tg9© 99 999 [911.] (Hazrat Abu Bakr [R.])
B. z¥ss 959 [911.] (Hazrat Omar [R.])
C. zg«s ¢39(+ [91.] (Hazrat Osman [R.])
D. == & [71.] (Hazrat Ali [R.])
Answer Kevs: 1. C2 B3 A4B5B6.C7.A8C0O.
C10B11.A12A 13 B 14D 15A 16.C17.B 18.B
19.A 20.A 21.B 22.C 23.A 24.C 25.B 26.A 27.D
28.A 29B 30.A 31.A 32.B 33.C 34.B 35.C 36.C

37.A 38.C 39.A 40.B 41.D 42.D 43.A 44D 45.C
46.C47.B 48.A 49.C50.D

Elective English

1. The expression 'raison d'etre' means:
A. A cause of one's downfall
B. A very untidy piece of work
C. A leading position in a group
D. A reason for one's existence
2. What figure of speech do you find in "budding

beauty"?
A. Assonance B. Alliteration
C. Simile D. Metaphor

3. "Euphemism" is—
A. A direct expression of admiration
B. A witty remark.
C. An indirect expression for a harsh one.
D. An unpleasant expression.
4. The word that is wrongly spelt—
A. Heterogeneous B. Iconnoclast
C. Impecunious D. Neophyte
5. The figure of speech found in "I have known the
eyes already, known them all" is—
A. Synecdoche B. Personmification

C. Irony D. Eulogy

6. "Lifeis a broken-winged bird.''—1is an
A. Simile B. Metaphor
C. Personification D. Symbol

7. Misfortune is to sorrow, as success is to-

A. Health B. Joy C. Money D. Food
8. The word 'Acquiesce' is —

A. anoun B. an adverb

C. a verb D. an adjective

9. The sentence "Sincerity frightens the boy.' —deviant.
A. syntactically B. semantically
C. lexically D. phonologically

10. 1 raised my head at the rusting of the leaves.
'Rustling’ is an example of—
A. Homophone B. Onomatopoeia
C. Rhyme D. Metonymy

11. 'Eulogy’ is:
A. A lament for the dead.
B. a study of the church building and decorations.
C. A speech or piece of writing expressing praise.
D. A written record of personal events.

12. The Brothers Karamazov is wriften by—

A. William Shakespeare  B. Leo Tolstoy

C. Henrik Ibsen D. Fyodor Dostoevsky
13. A personis 'garrulous’ when—

A. (s)he 1s gaudy B. (s)he 1s talkative

C. (s)he feels awkward D. (s)he feels dizzy
14. The quick-witted lawyer in The Merchant of Venice is:

A. Bassanio B. Antonio
C. Lorenzo D. Portia

UCC

Fill in the blanks with the most appropriate
word/words (questions 15-16):

15. John Keats, ill— tuberculosis, left the foggy weather
of London for the more — climate of Rome.
A. with, salubrious B. of, pleasant

C. for, 1nauspicious D. 1n, noxious
16. The myth of Narcissus tells the tale of a good

looking but youth who gazes at his
reflection in a pool of water until he turns into a
flower.

A.verb  B.vibrant C.valiant D. vain

17. Choose the correct pair— Page: Anger
A. Bliss : Apathy B. Dismay : Distress
C. Approval : Censure D. Fear : Shame

18. The word 'exacerbate' means—

A. Make better B. Make good
C. Make worse D. Make sure

19. The author who does not fall mto the same
category—

A. Ernest Hemingway B. Jane Austen

C. Joseph Conrad D. Emily Dickinson
20. The antonym of the word Nullrieabon' is:

A. Commencement B. Proscription

C. Disavowal D. Repudiation

21. The wrongly spelt word is—

A. Harass B. Caribbean

C. Convalece D. Millennium
Read the following passage and answer questions (22-25):
using information from the passage:
Rabindranath Tagore, an unparalleled worshipper of beauty,
pursues beauty mnot extrinsically but essentially
introspectively, and the sense of beauty appears in his
conception as a living, dynamic force. As the spring of
beauty is heart, his quest for beauty is chiefly in the heart's
Eden. He searches for the basis of the budding beauty of
creation within himself and finds an indomitable force
within himself. However, as human creativity is dependent
upon forces from the phenomenal world, unless and until it
is motivated by something in this world or universal life that
generates human capacity to appreciate beauty, the human
mind cannot succeed in appreciating it. Tagore's quest for
beauty, in such a case, is stirred by his wonderful
experiences with nature. The world of nature quivering
inside the poet's heart leads him to search for beauty in the
outer world. It appeals to him both on account of its purer
beauty and the sensuous beauty of the most trivial and
commonplace objects.

22, The way Tagore pursues beauty is—
A. extrinsic B. retrospective
C. reflective D. essential

23, In "...unless and until it i1s motivated by
something in this world ...", what does if refer to?
A. beauty B. World
C. Creativity D. Capacity

24. In order to become peaceful in appreciating
beauty we need—
A. worship B. mental capacity
C. motivation D. energy

25. What does the word ""commonplace' mean?
A. common place B. most important
C. cheap D. ordinary
Answer Keys: . D2B3.C4B5.C6B7B8C9.B
10B11.C12D13B 14D 15A 16.B 17B 13.C 19.B
20A21.C22.C23.C24B 25D 13
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General English

Read the following passage and answer (questions 1-5):
The gypsies are a group of strange people. They do not
have any fixed home. They wander about from place to
place and live in tents. They were originally natives of
India. But as they reached England from Egypt, the
English took them for Egyptians. This 1s why they came
to be called gypsies. They were believed to possess
strange powers. They could tell your fortune by reading
the palm of your hand. It was thought they stole little
children to train them in their way of life. Whenever a
child got lost, 1t was thought that it had been taken away
by gypsies. So they were arrested and sent for trial. This
attitude towards the gypsies has gradually changed.
01. The gypsies are people who-

A. have a settled way of life

B. who came originally from Egypt to England

C. are always on the move

D. steal children
02. The gypsies like to hve in tents because-

A. 1t 1s easy to read one’s palm inside a tent.

B. it 1s ease to hide there.

C. it is easy to carry them from Egypt.

D. it is easy to put them up.
03. The English took them for Egyptians’ — means:

A. The English related them to the Egyptians.

B. The English brought them from Egypt.

C. The English considered them to be Egyptians.

D. The English were taken in by the Egyptians.
04. Which of the following words does not match

with the word — ‘wander’?

A. roam B. nomad

C. sluggish D. stray 14




05.

06.

07.

08.

09.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Which of the following statements is true?

A. Gypsies have always been considered as suspicious.

B. Gypsies were considered favorably in the past.

C. Gypsies are treated with more understanding in
recent years.

D. Gypsies are treated with more hostility in recent years.

Fill in the blank with the most appropriate

word/words (question 6-12):

Had I heard the weather report, 1

umbrella.
A. would have taken

an

B. would take

C. took D. would have been taking
A day on Mars — slightly than a day on
earth.

A. are, long B. can be as longer
C. was, long D. is, longer

My nephew chicken pox this weekend.

A. came round with
C. came down with
There’s paper
the wastebasket.

A. at, into B. on, at

C.on,in D. over, at

Fill in the blank with the appropriate article.

Do you know the name of artist who painted
this portrait?

A a B. no article

C. an D. the

The chairman decided to call off the meeting. The
meaning of the words in bold 1s:

A. postpone B. advance

C. cancel D. dismiss

Choose the appropriate pronoun to complete the
sentence.

B. came along with
D. came over with
the floor. Please put it

It’s party finished. There is left.
A. nothing B. everything
C. anything D. something

Fill in the blank with the most appropriate
word/words (questions 13-15):

The recipe for vegetable soup has a number of
different .

A. parts B. components

C. ingredients D. elements

By the middle of the twenty-first century, the
computer a necessity in every home.

A. became B. becoming

C. has become D. will have became
Although research scientists had hoped that the
new drug interferon to be a cure for cancer,
its application now appears to be more limited.

A. prove B. had proven

C. would prove D. will prove

Find a synonym of the word ‘tenacious’ from the
options given below:
A. patient

C. firm

B. hardworking
D. slippery

Like foolish people who continue to live near an
active volcano, many of us are about the —
— of atomic warfare and 1its attendant
destruction.

A. worried, possibility B. unconcerned, threat
C. excited, power D. cheered, possession
Which word is spelt correctly?

A. Inconveniance B. Idiosincratic

C. Reneissance D. Hypochondriac
What is the synonym of ‘exhausted’?

A. plenty B. stored

C. animated D. drained

What is the antonym of ‘gloomy’?

21.

23.

25.

01.

02.

03.

04.

05.

06.

A. Dark B. Bright

C. Grey D. Pale

The correct translation of the following sentence is:

AT SR F=HTF AR S0 26t o |

A. We should be hopeful about our future.

B. Our future 1s hopeful no doubt.

C. Our future must be hopetul about us.

D. We must feel our future is good

Choose the correct sentence (questions 22-24):

A. The announcer awarded the prize to Jamil and mysellf.

B. The announcer awarded the prize to Jamil and me.

C. The announcer awarded the prize to Jamil and L

D. The announcer awarded the prize to I ad Jamil.

A. Irom Sharmila 1s on hunger strike since the year
2000.

B. Irom Sharmila is being on hunger strike since
the year 2000.

C. Irom Sharmila was on hunger strike since the
year 2000.

D. Irom Sharmila has been on hunger strike since
the year 2000.

A. Whose glasses are these? Are these yours or Sohel’s?

B. Whose glasses are these? Are these your’s or Sohel’s?

C. Who's glasses are these? Are these yours or Sohel’s?

D. Who's glasse’s are these? Are these your’s or Sohel’s?

‘Value’ means:

A. Principles B. Punctuality

C. Product D. Judgement

Answer Key: 1. C2.D3.C4.C5.C6.A7.D8.C

9.C10.DI11.C12.D13.C14.D 15.C16.C 17.
B18.D19.D20.B21.A22.B23.D24. A25. A

General Knowledge

AR I TG doAd (Y ReTA
*ifaf5s? (Which river of Banlgadesh is known for
natural fish breeding?)

A. ==l (Halda) B. <=1 (Meghna)

C. 9+ (Jamuna) D. =9 (Madma)

siftrs =S AerEcaa erwg 6? (The birthplace of

Pandit Atish Dipankar-)

A_ 534 (Chittagong)

B. gt (Comilla)

C. faena (Bikrampur)

D. szwfAgg (Mymensingh)

wifeae = Fidim w_Es? (Where is Arial Beel?)

A & (Kurigram) B. =r&ig« (Narail)

C. siteiE (Natore) D. 3f#ig (Munshiganj)
a5 A w3@s? (Where is Dublar Char
located?)

A. &7 64 &iest (in St. Martin’s Island)

B. Jvaatad wi= 8%gra1 (The southern coastal area of

Sundarban)

C. to=11¥ (1n Bhola)

D. 3g9@td (in Cox’s Bazar)

e W et g IWE @27 (Which of the

following countries has no seaport?)
A. (7199 (Lebanon) B. (Egypt)

C. wresiif=r@i= (Afghanistan)

D. wecei«at (Algeria)

B (s TEetT <Its 44T ORE Ggld F @7
(Who scored the first double century in test

cricket for Bangladesh?)
A. carrAEm saEe (Muhammad Ashraful)

B. wf¥= 2= (Mominul Haque)
C. wifiyw 2591 (Tamim Igbal)
D. if%ga afzw (Mushfiqur Rahim)
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07.

08.

09.

10.

11.

12.

13.

14

15.

16.

17.

18.

19.

20.

UCC

00 FIEAT qTAFEAN AT (FW *IT WIS TA?
(Which city will host the 2020 Summer
Olympics?)

A. W& (Moscow) B. (a= (Doha)

C. (5ifes (Tokyo) D. =™ «tete™ (Los Angeles)

A *Z2T Rt e’ S AAf@ee? (Which city is
known as the ‘Big Apple’?)

A. =& (Paris) B. € 312 (New York)
C. =%+ (London) D. =@ (Singapore)
Frergtd 9 feraw asee- (Satyendranath Bose

was-)
A. 9¢-ife@% (an economist)

B. fofessi= (a physician)
C. Fei<estel (a sociologist)
D. #widfaw (a physicist)

o=zt 17 (What is a piranha?)
A. 17 (snake) B. T= (fish)
C. Tife (frog) D. <827 (tortoise)

TEFACE0T T899 Aqiaat gav- (The present Prime
Minister of the United Kingdom is-)

A. (ot (3 (Theresa May)

B. 3f€s &= (Boris Jonson)

C. csfes Fitaa= (David Cameron)

D. =niee=t 19634 (Angela Morkel)

T ASIT AT (FAR] C(Fi6 FA0 FEA~HAF TS
ferrstew? (How many Olympic gold medals has

the US swimmer Michael Phelps won?)
A.237 B.13 C.24 D.9f6

IRLAT FAGE WY va @57 (Which is the longest
day of the year?)

A. 0§ (2:]‘** June)
C. 33 9 (22" June)

B. 2% g4 (21* June)
D. 29 g9 (27" June)

B ecitE 1?7 (What is Interpol?)

A. wwEifes <™ 7A@ (International Police
Organization)

B. wewifes dewafes ey (International Political
Organization)

C. wwwnies (Aifrs @@ @ (International Polio

Control Organization)
D. wiweifes areis Saaw 3¢5l (International Publicity

Organization)
ErAfT & creew Fret? (Helsinki is the capital
of-)
A. F72ts+ (Sweden) B. =01z (Finland)
C. ¢*=71% (Poland) D. ss8t@ (Norway)
e @Fee® &? (Who is the President of
Myanmar?)
A. 5254 46 (Aung San Suu Kyi)
B. fe= s (Htin Kyaw)
C. ce=1ta= A= (124 (General Than Sein)
D. 755 fae &34 (Tim Meo Win)
TR’ CFEE E w1Ee? (Where is ‘Tahrir
Square’ situated?)
A. 5™« (Amman) B. (=39 (Tehran)
C. |i"miv (Baghdad) D. st (Cairo)
Teanl daeaw (FEm w3Es? (Where is Uttara
Ganabhaban located?)
A. =ieta (Natore) B. g@wl (Bogra)
C. szl (Rajshahi) D. === (Pabna)
ArETSWa witer feeew @FeE- (Salvador Dali was a-)
A. fa=stt (scientist) B. =@ (poet)
C. foaf*gt (painter) D. wfewidr (explorer)
Fife= &= reta Sofaca=t fe=? (Brazil was a colony
of-)

21.

22

23

24

25.

26.

27.

29.

30.

31.

A. &3S (Denmark)

B. ¢mis=513A (The Netherlands)

C. siesit=1 (Portugal)

D. ¢4 (Spain)

g Fefemm i@ wREs? (Where is the Louvre
Museum situated?)

A. @< (Munich) B. @ (Rome)

C. =% (London) D. =iifs= (Paris)

GFAE (FF T GFR X SUIF  GR FASEHAY-GF
wwe&? (The only country which is a member of
both OPEC and the Commonwealth-)

A. 7351 (Norway) B. =i3tsi«a (Nigeria)

C. s¥ (Oman) D. @iiw =ie@ (Saudi Arabia)
TEFE (8 IE@ G 83 GF 0 A6 Aers -

(The name of an ancient civilization in Maxico-)

A. S99 (Aksum)
B. S&6F (Aztec)

C. =12fae (The Vikings)

D. creAesAe iy (Mesopotamia)

f&=b fites 1 ze=t- (The length of a
pitch is-)

A. vo T (60 feet)
C. ve b (65 feet) D. v TT (66 feet)

woe W e wR_yi w&ER{e? (Which of the

following countries has a constitution which is
unwritten?)

A. 3% (The United States of America)

B. s« (Germany) C. =7 (India)

D. ¥=arsy (The United Kingdom)

*¥e] SoATTd g ©wRfe 37 +ifere z@? (When is
the Biju festival celebrated in the Chittagong Hill
Tracts?)

A. @% #ffts (during Buddha Purnima)

B. #itze1 FIg= (on the first day of Falgun)

C. itz ¢<=itd (on the first day of Baishakh)

D. ¥ 2161@ 3% (during the harvest)

e (iogF I2mF At F? (Who wrote The
Prison Notebooks?)

A. Sefe A9 (Antonio Gramsci)

B. @efss arwem (Friedrich Engels)

C. === stE«l (Nelson Mandela)

D. 18 31 92 (Ma Tse Tung)

AR SR E WeE CeE? (Where are the
headquarters of the Human Rights Commission?)

cricket

B. v TG (62 feet)

A. ﬁ% 2% (New York)  B. =0ifa= (Paris)
C. e (Geneva) D. /51 (London)
AR IR T @ @3 |t A= w0

(The Richter Scale is used for measuring-)

A. 5tE! (tornados) B. 7= (tsunamis)

C. =911 (floods) D. =fie=i (earthquakes)

‘BFew' 3o eotes Tw e goR Jifem, 3l e,

31 @32 — 1 (BRICS is an organization consisting

nf Brazil, Russia, India, China and —)
%'IF{ (Sierra Leone)

B. et (Sri Lanka)

C. v &&=t (South Africa)

D. fiffeat (Syria)

T 3% § fFew atga wofst- (The writer of Long

Walk to Freedom is-)

A. 995 =¥ Ifege 929 (Bangabondhu Sheikh

Mujibur Rahman)
B. === Wte=l (Nelson Mandela)

C. 9rzifdg arErw (Mahathir Mohammad)

D. seza=1¥ iz (Jawaharlal Nehru)
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32.

33.

35.

36.

37.

38.

39.

40.

41.

42

43.

41

45.

UCC

G 7 A6 Ze&- (The other name of Japan
1S-)

A. @i’ (Cathay) B. =@ (Nippon)

C. festst (Kyoto) D. 5712 (Samurai)

m fasisfse 43 v~ (The author of The
Republic is-)

A. t2t6t (Plato) B. siteF6A (Socrates)

C. =rifs9654 (Aristotle) D. zitz= (Horace)
FETTT 8 SIS o Wieg A 7wdn- (The number of
common rivers between Bangladesh and India is-)
A. 50 B. 52 C.53 D. 54

FAeE 8T« dyiaaa® w9- (The present Prime
Minister of Canada is-)

A. Ttz Grel (Pierre Trudeau)

B. (efsE Ftaa= (David Cameron)

C. w1f75« Gret (Justin Trudeau)

D. ¢© guigs (Ed Broadbent)

Sobo E (FIN (7 TAYT GIFe AR dYiTar FiTe

F¢a? (Which country first elected a woman Prime

Minister in 19607?)

A. ©15e (India) B. 2xat@= (Israel)

C. wimiRens (Ireland) D. &=t (Sri Lanka)
TEEE GoF (I &7 7% g ? (With which sports
is Michael Jordan associated?)

A. (39991 (Baseball) B. ait#69= (Basketball)
C. 624 (Football) D. stsifa (Rugby)

QO &F GeE T@m wEl? (AFP is a news
agency of-)

A. &H (France) B. ¢si=m1® (Poland)

C. fgt67 (Britain) D. w7 (Germany)

FEN TEEa AN N A0s wenn F@reEa? (In
which of the following films did Kazi Nazrul
Islam act?)

A. =T (Ayna)

B. &9 (Dhuba)

C. #itd =& (79 (Pathe Holo Deri)

D. 9534941 (Raktakarobi)

qTeH (FIF M 779q ¥=197 (Aden is a sea port of-)
A. 2w (Yemen) B. ==@ (Qatar)

C. ¢u= (Oman) D. 3= (Iraq)

izt (9 e = 7=:g1? (Garuda is the airline of-)
A 89 (Greece) B. &=t (Sri Lanka)

C. 61 (Bhutan) D. =3t (Indonesia)
i A @ v Terew? (What type of
organization is Green Peace?)

A. 7i¥=MI (feminist)

B. A& (military)

C. w¥ftafes (economic)

D. #f{@*[m! (environmentalist)

AT J47 a*@g @ 79?7 (Which is not a central
Asian country?)

A. wiEr@aigen= (Ajarbaizan)

B. sed@E (Kazakhstan)

C. wif&fe®= (Tajikistan)

D. et (Algeria)

SHRfH-97 Y FEEE &EHE? (Where are the

headquarters of OIC situated?)
A. (=z9F (Tehran) B. g1 (Jeddah)

C. <uat (Cairo) D. feam (Riyadh)
TETG FF g Oid w3ge? (On which river
does Mahasthangarh stand?)

A. 191 (the Ganges) B. =ate@ (the Korotoa)
C. ===t (the Mahananda)

D. wiifsa (the Dakatia)

46.

47.

48.

49.

50.

SIATSa (19 s A6 & f&mw? (Who was the last

Mughal emperor of India?)
A_ *i==Ri« (Shah Jahan)

B. 9i$39 (Akbar)

C. 9i=ivs =iz (Bahadur Shah)

D. =91y« (Humayun)

srem wrow e s A% F? (Who is the
architect of the National Monument situated In
Savar?)

A. v wg9m @™ (Syed Moinul Hossain)

B. @¥ 95 99 (F R Khan)

C. frg= 33 (Nitun Kundu)

D. =3 7z9 (Hamidur Rahman)

i azfS T A F<63e? (Which planet is the

nearest to the sun?)

A. 94 (Mercury) B. == (Mars)

C. 3z~fs (Jupiter) D. @& (Venus)

BT widey at F6? (Which is the longest
river of Europe?)

A. wifsga (the Daniyub) B. ==191 (the Volga)

C. 7127 (the Rhine) D. &5 (the Thames)
T g /R & &GEw? (Who was the first
Nawab of Bengal?)

A. sl 49 (Alibardi Khan)

B. F&iefwe 3z=m 419 (Shujauddin Muhammad Khan)
C. gffas=r <= (Murshid Quli Khan)

D. frare-8v-caient (Siraj-ud-Doulah)

Answer Keys: 1. A2.C3.D4B5.C6D7.C8B9.D
10B 11.A 12A 13.B 14 A 15B 16.B 17.D 18.A 19.C
20.C 21.D 22.B 23.B 24.D 25.D 26.C 27.A 28.C 29.D

30.C 31.B 32.B 33.A 34.D 35.C 36.D 37.B 38.A 39.B
40A41.D42D 43D 44 B 45B 46.C47.A 48.A 498

50.C
Elective English

Read the following passage and then answer (questions 1-6):
Muhammad Ali was tall, agile, charming, naturally
expressive — but also very defiant, aggressive and
powerful. He was the unvanquished champion of his
people and was determined to be outspoken about what
he believed was right. He had tremendous self-belief and
no intention to be quiescent about what he felt was wrong
or oppressive. That was why he declined to be part of the
Vietnam War that his country had spearheaded. He was
not going to agree to be part of a war in a far away
country and against a people who had done him or his
fellow citizens no wrong. He was very much the
conscientious objector and had fierce belief in freedom
and justice for all the peoples of the world. For his
stance, he was banned from his sport at the peak of his
career. But he was not to be daunted or subdued or
robbed of greatness even by this unjust prohibition.

01.

02.

03.
04.

The most suitable title for this passage would be:
A. Ali and the Vietnam War

B. Muhammad Alr’s belief in freedom and justice
C. A true champion

D. Alr’s self-belief

The word closest to the meaning of ‘agile’ in the
opening sentence is:

A.lively B.livid C. supple D. energetic

A word that is a good antonym for ‘quiescent’ is”
A.1nert B. sluggish C.torrid D. turbulent
All was very much the ‘conscientious objector’;
this is evidenced by

A. his outspoken nature

B. his boxing stance

C. his refusal to fight in an unjust war

D. his ban from the sport of boxing 17
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06.
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08.

09.

10.

11.

12,

13.

14.

15.

16.

17.

18.

UCC

The passage indicates that the ban on Ali:

A. prevented him from excelling

B. made him quiescent

C. did no harm to his carrier

D. did not make him any less great

Al’s country ‘spearheaded the Vietnam War’.
This 1s to say:

A. it played the lead role in it

B. 1t played a minor role in 1t

C. it played a supporting role 1n it

D. it chose to be consistently committed to war
‘prodigal habits die hard’. Here ‘prodigal’ means:
A. Old and populist B. Wasteful and extravagant
C. Genuine D. Thrifty

Which is not the meaning of *catalyst’?

A. stimulus B. Incitement

C. Impetus D. Impediment

In each of the following questions, a related pair

of words or phrases is followed by four pairs of

words or phrases. Select the lettered pair that best
expresses a relationship similar fo that expressed

in the original pair.
Elevated : Exalted

A. Dirty : Filthy

B. Disorderly : Unfaithfully
C. Raise : Commensurate
D. Promoted : Mediocrity
Cells : Cytology

A. Worms : Cosmology

B. Insects : Microbiology
C. Paedology : Children

D. Tissues : Zoology

The admiral his order to attack when he saw
the white flag raised by the enemy sailors; he was
relieved that he could bring an end to the d

A. retterated : hostilities

B. countermanded : fighting

C. requisitioned : truce

D. confirmed : aggression

Many biologists have attempted to the
conditions on earth before life evolved in order
to answer questions about the of biological
molecules.

A. mimic : fitness

C. replicate : reactions
‘Stimulus’ is related to-
A. reward B. provocation

C. response D. motivation

The meaning of ‘encomium’ is-

A. enlightenment B. eulogy

C. denunciation D. admiration

The tail of an aeroplane is nearly in shape.
A. rectangular B. triangular

C. spherical D. semi-circular

Don’t miracles. Sometimes we can’t do
anything our fate.

A. accept, expect, except

B. except, accept, expect

C. expect, except, accept

D. accept, except, expect

He hit the nail on the head. The highlighted phrase means:
A. to make something stand out

B. to beat something

C. to do or say something exactly right

D. to insult someone

Apparently contradictory words appearing in
conjunction is called:
A. hyperbole

C. oxymoron

B. standardize : shapes
D. simulate : origin

B. paradox
D. antithesis

19,

20.

21.

22,

23.

24,

25.

Many of the students were in the red at the end of

their first year. The highlighted phrase means:

A. to bleed B. to owe money to a bank

C. to get involved 1n a fight D. to get a good grade

Which is the example of a metaphor?

A. The lawn 1s a beautiful green blanket we spread

out every summer.

B. You could have knocked me over with a feather.

C. The stars danced playfully in the moonlit sky.

D. The weather 1s as cool as a summer day in the Midwest.

The expression ‘hors d’ oeuvre’ means:

A. the finest art work

B. to fool someone

C. information received from an authortative source

D. an appetizer served at the beginning of a meal

If you ‘procrastinate’:

A. you produce young babies

B. you obtain something that is very difficult to get

C. you keep deferring your actions

D. you can predict things in advance

Which spelling is incorrect?

A. allegiance B. troubadour

C. virtuoso D. bursery

‘Jingoism’ is:

A. A belief that life 1s a continuous production of
gentle sounds.

B. a strong and unreasonable belief in the superiority
of your own country.

C. a strong belief in the superiority of your own self.

D. a belief that you bring bad luck.

‘Rank and file’ refers to:

A. the position or grade one holds in an office.

B. the arrangement of papers 1n a file cabinet.

C. the ordinary workers in an organization.

D. the most senior member in an office.

Answer Keys: 1. C2D3.C4C5D6D7B8DY9. A

10D11.B12D 13D 14B 15B 16.C 17.C 18.D 19.B

20A21.D22.C23.A24B 25.C

I RRwIET R0dE-03 Y

NI S Tt

(c5- o)
Ji=T (Bangla)

A1 : 320

e Srmi® #I% O3 Qs 510 ez @ vhe (2 72 »-8)3

TN TRIR — T e, MU, Tors wrfea «ifen A,
T4 SR — TRR AR 73 W@ W7 &1 @A vy @i
=7 fag ; =rotta FIEaR A wom wew el Igat sretete
= IS S 7, AR A AR /Y 2T TG ; YA WoA
ATFIER TGS ST «ifSw e | I SAR — AL 7]
wriva cifda fRgrerrs st 9 2% 3 «fem 4 | wieEr=-
forasit et e Ristrz o= (e TRt e 2391 wfesr=ire
zfars i, A e sreit Al g ey afErerg, wfe
SR SN IR S ITEENR — JF SIAR | TR 652
FEET | AETRF AT ANY TFCT CHCN FY AW A G T[RIE
eifraife T (Rt Bfia facea stz v=m €

1.

HILRATDTS BI15T 8 RIRTA 52 IS JLAR IGFTH—

A 9T e 23TM B.8<999)4q
C.x998894 D. 29994

‘T 8 ‘FTHEFNSTW *= A SN TR TIGFTI—

A SY 8 TREA (AT B. o< 8 TR A=z

C. of¢ ¢ T (A D. W[ @ TG (A

‘T ReEe ww Remw-w—

A=  B.ga C.3=% D. 14w
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14.
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20.

21.

22
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SR ATIZS 6 (T TR ST AR Y3187

A. Sfesq  B. =64 C. fut D. I8
Reflections on the Revolution in France g3
TR -

A. 7oIe 9<F B. wetene C. «BS IS D. Al @7 6
‘o Toan ot AgdieER o, e —— o
TgE 1" “REET SEe 9-ETR I WiR—

A. eIz B. SE-3MRA C. ToE-aEa D, (JiE-=iEs
‘cotorEt orae 9eE §Fl TR ) YShemtw wemR”
A.3R  B. S@EE C.*¥esrt  D. sife
FR-ZACEET 8 9% WiNE ¥ 79y Wt 1* Y9 o
el SRR FIEA" oy 92 et Frre—
A. (IMITRT B. SweEm C. sfea
Discriminatory-«93 #ifaeifEs *~—

D. Fit74

A.@Tn  B.@ImmEe Coodf@ D, fRewe
TR © ST GHR (FIAore—
A.JIg B. A C. 9IF[F  D. 36

‘CINE TS SRSt (RLADT, (SN(H Sy F9 JiMEs e
GFT' — T F=AE 971 ZATR?

A. =9 B. GIWitRS C.¢sire D. %9
‘staifw’ e Afw-fReew = ?

A @i+ 91v B. ¢+ 9[@W C. i+ D. s+ ™
TG /S T 517

A. 3@ LA W B. 7d3gd 3154
C. 9[9e Fma D. &we Gyl
FmiEal -

A. ql B.aiff@ C. cra= D. =it
TR’ I HAH?

A. TR FHYET B. Toifsre FgEm
C. S=I4FE D. qggifz

‘7 e, g o1 S woR | JIFIo—

A. 74 B. wba C. @< D. fa=
ELFAT WH—

Afet B.wirm C. 3@E D. g
A el B. fReidie C. e D. 5
TAFIET L TG F TR Tawt FEEa?
A =@ B.*W C. 33 D. 55

‘After meat comes mustered’-93 f55 5
A FRI@A WT B, I8 (I8 (A

C. T WS #f®! Farm D. TS 518 ©© I o
"TET AT AHILE ¥ FE0?
A.9Ee B, AgERr C. F@9re D. @55

& & 3T i = g Ao grmR?

Ad+a@e B .3+ C.3+% D.§+4

‘RO Y’ IMF ‘@G R o B ieEias
Aifen F?

A. Tefe B. *mgeom C. ~mifEe Fasie D. sl

‘o' g Rt e wgeniee (i wos IHE?

A. @ B. 93 C. 37 D. I
=yferny’ *em afirs St

A.fferitey B. sjfewnetd C. yfer=irewdat D. Ffer«irey
Answer Keys: 1.B2B 3D4B5.C6.C7C8DS9B
10.D 11.D 12.C 13.D 14.C 15.B 16.C 17.D 18.A 19.C

20C21.C22D23.C24D 25C

General English

Read the passage below and answer questions 1-5:

Vultures are not careful about what they eat. This makes
them vulnerable to eating meat that could be toxic. The
consequence often 1s the death of these birds. That is one
reason why these birds are not widely seen in Bangladesh
anymore. The other 1s that the trees which vultures perch
on have also been disappearing from the land. The net
result 1s the birds are not present throughout the country
in the numbers in which they were viewed a generation,
or even a decade, ago.

1.

10.

11.

A suitable title for the passage would be :
A. Birds of Bangladesh

B. Food habits of Vultures
C. Disappearing Trees

D. Disappearing Vultures of Bangladesh

“The net result’ is closest in meaning to which of
the following words that have also been used in
the passage:

A. consequence
C. generation

B. perch
D. reason

An antonym for ‘toxic’ is:

A. deadly B. fatal

C. contaminating D. harmless
A ‘decade’ is the same as :

A. twelve years B. ten years
C. twenty years D. thirty years

"Widely’ used in the passage is a/an:

A. adjective B.adverb  C. participle D. gerund

Choose the correct preposition to fill in the gap
(Question 6):

We must discourage people — throwing trash in
public places.
A. for B. from C.into D. into

Fill in the blanks with suitable word/s (Questions
7-15):

Since the island soil has been barren for so many
years, the islanders must much of their
food.

A.deliver B.import C. produce D. utilize
After the governor’s third overseas trip voters
complained that he was paying too little attention
to — affairs.

A. foreign B. domestic

C. professional D. intellectual

Nature finds ways to ensure the survival of—

A. the fittest B. the fitters

C. the fitting D. the fits

Make sure you read all the — carefully before
setting up the device.
A. packaging B. papers C. instructions D. files

Pinocchio is hungry and looks for an egg to cook

an omelet; but, to his surprise, the omelet
flies out of the window.

A. hisown self B. itself C.oneself D. himself
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

UCC

— Pohela Boishakh, there is a festive mood all —
the country.

A. At,over B.In, across C. Sin, across D. On, over
—did Kamal realize that there was danger.

A. Upon entering the bank

B. When he entered the bank

C. Only after entering the bank

D. After he had entered the bank

He is hardworking and—

A.lamso B.solam C.soam]1 D.1Itooam

"Rose’ i1s often used as — for beauty or the
beautiful.

A. a metaphor B. parallel

C. collocation D. euphemism

Which of the following words best replaces
‘revealed’ in the sentence: Studies have revealed that
infections are associated with cancers.

A. found B. warned

C. emphasized D. told

Choose appropriate article/s (Questions 17-18):

One of Akbar's most vigorous opponents during

his lifetime had been — outstanding scholar
Sheikh Ahmed and, like Akbar, he was also
venerated as — Perfect Man by his own disciples.
A. the, the B. an, a C. an, the D. the, a
Bangabandhu Sheikh Mujibur Rahman Memorial

Museum stands as — symbol not only of the greatest
moments in our history but also as evidence of the
darkest moment in— history of this land.
A. the, a B. a, no article

C. a, the D. the, no article

‘No man is an island.” What does this proverb mean?
A. Everyone should always be prepared

B. It is best to do everything on time

C. Everyone needs help from other people

D. Your own home 1s the most comfortable place to

live in

Which word is spelt correctly?

A. concensus B. hiararchy

C. medieval D. posession

Which of the following is a form of ‘die’?
A.dryad B.dye C.dying D. dieing
Choose the correct passive sentence:

A. The meeting is to be reschedule.

B. The meeting is to be rescheduled.

C. The meeting is to rescheduled.

D. The meeting to be rescheduled.

‘it ¥=e (¥, & w9%° The correct translation of
this sentence is :

A. Meena told that she has been 1ll.

B. Meena said that she 1s 1ll.

C. Meena said that she was ill.

D. Meena told that she was 1ll.

24,

25,

Find a synonym for the word ‘vigorous’ from the
options given bellow:

A. important and necessary

B. shaping and quivering

C. strong and energetic

D. harmful and dangerous

The word “vegetarian’ refers to—

A. plants B. animals

C. mammals D. carnivores

Answer Keys: 1.D 2A3D 4B 5B 6B 7B 8B 9A
10C 11.D 12D 13.C 14.C 15B 16.A 17.A 18.C 19.C
20C21.C22B23.C24.C25.A

(General Knowledge) A

it wtafos 78 T@=- (Mixed economic system is—)

A. =& a8y fF@Ft (state ownership of property)

B. s=ffiea i@ (private ownership of property)

C. s~ifes @if¢ 9 BT W@ (state and private
ownership of property)

D. Tfgste F=ifeqs @i WAt (joint ownership of
individual property)

qEAre At i e wafEe? (In which district is

the river Dhanshiri located?)

A. =17+ (Pabna) B. 5@ (Chandpur)

C. 3= (Jhalokathi)  D. 9=t (Khulna)

A0 S et w1? (Which is not fossil fuel?)

A. @@= (petrol) B. &Igfes «i313 (natural gas)

C. <341 (coal) D. ¢&@sli (biogas)

Dreams From My Father 323 &1¢%— (The author of

the book Dreams From My Father is-)

A. 99 @99 (Barak Obama)

B. 374t «it&l (Indira Gandhi)

C. ¢ =1 (Sheikh Hasina)

D. (@fe@ 981 (Benazir Bhutto)

wsee IEE < 79wE fmmw— (The last Chief

Minister of undivided Bengal was—)
A. 9 & TEeE 22 (A K Fazlul Haque)

B. @@ *2v Giiz=isii (Hoseyn Shaheed Suhrawardy)

C. 5ig@ = (Abul Hashim)

D. 4rerl wiferyfwa (Khawaja Nazimuddin)
iR e < w9t 7@? (What is done with abacas?)
A. 9iif4fea =37 (mathematical calculation)

B. @ =7 (disease detection)

C. g4 9171 (measurement of fever)

D. g&« [7 (weight measurement)

e foafE < <t o9 a7 e @ @ei-

(The famous artist Pablo Picasso was born in—)
A. T&918 (United States of America)

B. gwife (Italy) C. &1 (Greece)
D. === (Spain)

cse® g5 T&rm=— (David Frost was—)
A. 9o« e (a freedom fighter)
B. e bfF<5@ (a physician)

C. a3wem Are-irean (a politician)

D. aew ARAWS (a journalist)
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16.
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18.

19.

20.
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FRATACE FRYF 9@ *IF® 7eehigs T3t TEe—(So  far,
the constitution of a Bangladesh has been

amended—)
A. (SRIIR (thirteen times) B. 5% I (fourteen times)

C. =ttt 99 (fifteen imes) D. (FIT#1 919 (sixteen times)
wfitE wAwiae o & [9rs? (Who is noted for
contribution to economics?)

A. @ifoen (Kautilya) B. *#ffel«it (Panini)

C. =73 (Vatsayana) D. Trife (Valmiki)

o3 S0 F1F =1 2H? (Who is called the ‘Sur Samrat’?)
A. g8 wiFre Wil A (Ustad Ayat All Khan)

B. 8@ wEneiwa 41 (Ustad Alauddin Khan)

C. s¥m 5@ &1 41 (Ustad Akbar Ali Khan)

D. szma e o= 21 (Usted Bade Gulam Ali Khan)

T2 GReT @ Soigwd e TR Im I9TS
ZF—(ISBN is used to identify-)

A. 3% (book) B. Ffa<! (periodicals)

C. \%5'83MF (software) D. zesad (hardware)

At ggeirge W w8? (Which is not an
archeological site?)

A. T3=Ere (Mainamoti) B. #lizre#@ (Paharpur)
C. 7grg=4® (Mahasthangarh) D. 37%<< (Sundarbans)
wifFEE’ %9 g 99— (Not a member state of the
ASEAN-)

A. Tt (Malaysia) B. et (Sri Lanka)

C. 32 (Brunei) D. ¥4f2=1S (Thailand)
wifewew rgFmem @E? (Where is the United

Nations University sitnated?)
A. g&=tes (in UK) B. 8 (In China)
C. g&4itd (in USA) D. =91t (in Japan)

fme b FWrcst 97 ST GRvE R @ifFe
Tute? (Which of the following has been declared

a world heritage site by the UNESCO?)
A. 90 sige wiem (Sixty domed mosque)

B. &reiw &m9d (National Museum)

C. 7% w57 wigents (St. Martin Island)

D. wiz#= wfg= (Ahsan Manzil)

fawe i =t vt ReifRwe ‘s e’ Ko
“ifere zg? (Which of the following days is observed
as ‘black day’ by the University of Dhaka?)

A. 20 95 (23 August) B. 2¢ 915196 (25 August)

C. ¢ 96 (25 March)  D. 39 916 (13 March)

TR aFE e 9w (i—(The only Muslim
member state of the NATO is-)

A. firig (Egypt) B. fafqet (Libya)

C. ©9% (Turkey) D. =& (Morocco)

‘At 38 Wy ==’ e #ifRes &7 (Who is known
as ‘the lady with the lamp’?)

A. FgaifE-l wi8E (Sorojini Naidu)

B. 27w (=119 (Helen Keller)

C. Fitas w126 (Florence Nightingale)

D. W19 oAl (Mother Teresa)

‘g sirest s’ #ifes - (‘World literacy’ day

is celebrated on the-)

21.

22

23.

24.

25.

26.

27.

28.

29.

30.

A. v (16%4 (8 September)
B. 3 t:b%4 (11 September)
C. a6 (17 March) D. 23 w5 2% %15 (21 March)
e  Jfges wRem wwm wiewm 3.
Fq9E—(Chinese Traveler Fa-Hien came to Bengal
during the reign of-)
A. Twsia v9ed (Chandragupta the second)
B. wiErewa 21134 *1z2 (Alauddin Hussain Shah)
C. d99 v92€ (Chandragupta the first)
D. =939 (Harshavardhan)
TEe 7 & @381 Fa? (Who introduced the Hijri era?)
A. Z&9e 939 [91.] Hazrat Omar]r.])
B. zewe w&! [91] (Hazrat Ali [r.])
C. z&9e 9ig 934 [91] (Hazrat Abu Bakr|[r.])
D. z&we @3 [911] (Hazrat Uthman [r.])
ciifers wiaiE Zee west <9t @@ FEoE? (Which
one is considered the fundamental phllosophy?)
A. ¥ifsfaws (Ethics) B. wtaif<es« (Psychology)
C. 3@ (Religion) D. fdfqwi (Metaphysics)

1 wdAIfSRm =yl 7rs’ s gt 353117 Fw? (Which
economist has used the term "invisible hand’?)
A. =e) (W (Amartya Sen)
B. ey a2 (Adam Smith)
C. wrEgs 9@ (Alfred Marshall)
D. cefes @Fitel (David Ricardo)
‘Tepat a0’ 1?7 (What is ‘Manpura 70°?)
A. 36 @l (a poem) B. @G 519 (a song)
C. «=(0 te1169 (a film) D. @36 fo@sl (a painting)
BIFAIT FACLE IG 4iF B9 (=62 (Which one is
the biggest religious festival of the Chakmas?)
A. fag (biju) B. ¥ ei=l (wangala)
C. 7ty (sandrey)  D. #Hi@12 (sangrai)
H{F FAR ARG FRAER (0T M I Iy
© “vi4faeaai— (The Bangladeshi physicistwho led the
discovery of an elusive massless particle is—

A. SIgE Ster (Maksudul Alam)
B. @ ifgw g (M Zahid Hasan)

C. Aiterg=Md (37 (Satyendranath Bose)

D. e weeel 239em (Jamal Nazrul Islam)

o ehRe eid 9¥ Terkes— (The inventor of the

World Wide Web is-)
A. W% 98B g@iFast (Mark Elliot Zuckerberg)

B. foafd &« q@-f1 (Timothy john Berners-Lee)

C. Titew 319 (Jawed Karim)

D. &5re = (Chad Hurley)

e & EmeE S Fhifes giEsmt (22 (Which

of the {following places does not have a
community land ownership system?)

A. 9o (Rangamati) B. 9wz (Khagrachari)
C. 9794 (Bandarban) D. 582 (Chittagong)
B W (I IR *17% fege=? (Which dynasty
did Emperor Ashoka belong to?)
A. @2 (Gupta) B. ¢4 (Maurya)
C. i (Pala) D. #itat (Pathan)
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31.

32

33.

34.

35.

36.

37.

UCC

T A2 TSl A 8 WY — 9 TN G WIS
zaea? (Which revolution was inspired by the
motto "Liberty, equality and fraternity’?)

A. ==it1 729 (French revolution)

B. Wi+ @29 (American revolution)

C. ¥ 9219 (Russian revolution)

D. b9 9= (Chinese revolution)

& ot Sl IREEeE e T witrw TenE

cargt F?(Which of the following countries or

organizations declared Bangladesh as a low-
middle income country?)

A. @1 B 153 (Asian Development Bank)

B. Wi« y@=aig (USA) C. fas=imes (World Bank)

D. &9« (Japan)

qF AT B 17 FAt 8 AW (H0 T QT B | OfEF

(ST AAF FC T QFOINHINOCE CSTAR AN SIee

7@ 1| fawe e setmm awe sswme FEt [

F@? (One morning you wake up with a sore

throat and a running nose. Your doctor examines

you and says that antibiotic will not help you get
better. Which of the following is the most likely
reason for the doctor’s statement?)

A. Gt @9 @ @re “itd (antibiotic may
increase your pain)

B. aftqiafores «ifaate comie oat @em A= (you
need to be vaccinated instead of taking an
antibiotic)

C. (oA & «foaits 7@ fewEioe dre™ (you
need an antiseptic, not an antibiotic)

D. (oMY IR A 9Bz (you are infected by a virus)

IR s ot =em ¢ it F@=? (Who built
the famous Tara Mosque of Dhaka?)

A. &t 4 (Suja Khan) B. #€ifafq (Paribibi)

C. %% <9 (Isa Khan) D. =izt 419 (Shaista Khan)
FIAITAT *i6° FAeiiod Ferst 7 (Who wrote the
poem ‘Asader Shirt’?)

A. e 9 w99 (Sikandar Abu Zafar)

B. 9 &F4d 933qaiz (Abu Zafar Obaidullah)

C. frite &4 (Nirmalendu Gun)

D. =539 9=9= (Shamsur Rahman)

IEE QAT Fiqw  gEow fegew—(The first
independent Sultan of Bangal was—)

A. =ifer 3ot =iz (Haji Ilias Shah)

B. w4g@ @ik =17 (Fakhruddin Mubarak Shah)

C. &2+ *I12 (Hussain Shah)

D. cirzmm (i (Mohammad Ghori)

‘eatewR wEea’ IE @i A eEo® =&? (In which Bangla

year did the great "famine of seventy six’ occur?)
A. Soqu (1076) B. v (1176)

C. 3249 (1276) D. o3y (1376)

38.

39.

40

41.

42

43.

44

45.

46.

SRTS %90 oA @FrifEm Hee WS 9%
AT 7(In which year did the rule of the East India
Company end in India?)

A. Seb (1858) B. S»o¢ (1905)

C. 555y (1911) D. 35819 (1947)

ooy a7 w=g= gwar gei— (Lumbini, the birth
place of Gautam Buddha, is in-)

A. =509 (India) B. ©61t7 (Bhutan)

C. &=r&ra (St Lanka) D. @=ite (Nepal)
TR TS e A BIF — G WSS 7 |
(During the hiberation war of Bangladesh, Dhaka

was under —.
A. 53 5 (Sector 1) B. 734 2 (Sector 2)

C. isd © (Sector 3) D. 54 8 (Sector 4)
e At TFuiEs afed 71? (Which one of the

following is not a constitutional body)

A. 353ia S (Public Service Commission)

B. giifs Wi @i (Anti-corruption Commission)

C. =<7 <= (Election Commission)

D. Wifzar Fdrss ¢ Famea s@@w (Office of the

Comptroller and Auditor General)
JeETT-SiEe fRbwge R pfe F17 =@ 03¢ AT
& T9iw? (Ink which month of 2015 did the

Bangladesh. India Enclaves Exchange Treaty
become effective?)

A. =i (January) B. w6 (March)

C. g (June) D. =56 (August)
Tepee wwret ke — el i1 (‘Mandhata’,
accordingto Hindu mythology, was a ruler of —.)

A. 7eigd (The Satya Yuga)

B. @1y (The Treta Youga)

C. wisisg#l (The Dapar Yuga)

D. =fergst (The Koli Yuga)

&= e f&Siw FEsrat 3tE? (In which country is
Bangla the second state language?)

A. s (India) B. 941 (Ghana)

C. @t fare= (Siera Leone) D. #3i® (Ruanda)
FTeros (@ Wi &ioE (34— (Badminton is the
national sport of-)
A. 5 (China) B. wecatz (Malaysia)
C. ¢r#ia (Nepal) D. %be31% (Scotland)

‘AR ST (NIt WL, W-WifE ) qnet emt’ s
5iael- (The composer of the song “Moder Garob
Moder Asha, A-mori ! Bangla Bhasha’ is—)
A. 79r&@1d o199 (Rabindranath Tagore)
B. Ze) e 25eny (Kazi Nazrul Islam)
C.fs. «=1. 71w (D.L. Roy)
D. 5= &5w & (Atul Prasad Sen)
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47. wifeATEE AiA-Sgaw F95F ©2_ER @ (The name of 2.

UN fund related to women’s development is-)
A. 289+ 83w (UN Women)

B. 2efies (UNIFEM)
C. et wgfee (Equity Fund)
D. cesi7 el ©gf<e (Gender Equity Fund)
48. owiRs Ry Ay fafem <Affsest @ TATe?
(Across which river will the proposed Tipaimukh

Dam be built?)
A. 539 (the Surma) B. @@t (the Kushiara)

C. 395 (the Barak) D. foei# (the Titas)
49. FEFs =@H @ v [Ae— (Frankfurt city is

famous for-)

A. =127 2% (Ice hockey)  B. 32w (book fair)
C. 834 9935 (medical products)
D. 3f¥47 (agricultural products)
50. &2 @s {EE = &7 (Who is the first female
Nobel laureate?)

A. Tifda $ (Marie Curie) B. <i2fs= 34 (Irine Curie)
C. &3 Witze (Winnie mandela)
D. =& (&« (Laura Jenni)

Answer Keys: . C2C3D4A5B6AT7D8D9.DI10A
11B12A13D14B 15D 16.A17.A 18C19C20.A 21.A
22A23A24B25D26A27B28B 29D 30B 31.A32C
33D34D35D36B37B38.A39D40B 41.B42D 438

44C45B 46D 47B 48.C49B 50A

Elective English

Read the following passage and answer questions 1-5;
There 1s a popular perception that the reason behind the
lack of economic dynamism in a range of countries 1s the
of entrepreneurship. The reality 1s that people who live in
poor countries have to be very entrepreneurial even just to
survive. For every loiterer in a developing country, you
have two or three children shining shoes and four or five
people hawking things. What makes the poor countries
poor 1s not the absence of entrepreneurial energy at the
personal level, but the absence of productive technologies
and developed social institutions, especially modern firms.
The 1ncreasingly apparent problems with micro-credit-
very small loans given to poor people in developing
countries with the pronounced aim of helping them set up
business-shows the limitations of individual
entrepreneurship. Especially 1n the last century,
entrepreneurship has become a collective activity, and so
the poverty of collective organization has become an even
bigger obstacle to economic development than the
deficient entrepreneurial spirits of individuals.
1. A suitable title for the passage would be:

A. Entrepreneurship in poor and rich countries

B. What makes the poor countries poor

C. Limitations of individual entrepreneurship

D. Collective organizations as obstacles to development.

UCC

4.

10.

11.

12.

13.

14.

According to the author of the passage, which of

the following is true?

A. People in poor countries lack entrepreneurial spirit.

B. People in rich countries exhibit plenty of
entrepreneurial energy.

C. Micro-credit 1s an effective strategy for large-
scale poverty reduction.

D. People in poor countries are more entrepreneurial than
people in rich countries.

The word "loiterer’ means:

A. destitute and disorganized B. dishonest person

C. lazy in an aimless manner

D. ruthlessly ambitious

In the passage, the word ‘obstacle’ refers to:

A. poverty and lack of opportunity

B. lack of institutions

C. Lack of entrepreneurial spirit

D. domination of the rich

The word ‘pronounced’ in the passage implies:

A. stated B.secret C.unreal D. genuine

Fill up the gaps with the best option (Questions 6-13):
Melbourne has its status as the world's
most livable city for a fourth year.

A retained, consecutive B. sustained, repeated

C. prolonged, successive  D. maintained, consecutive
You are at loggerheads, when —

A. you are 1in strong disagreement

B. you are 1n a confused state of mind

C. you are cutting wood into logs

D. you are unable to think logically

A "dirge’ is a song to be sung at—

A. weddings B. reunions C. funerals D. temples
The evil of class and race hatred must be
eliminated while still in — state.

A. an embryonic B. the budding

C. a dormant D. the growing

The narrator of a novel written in the third
person is called — narrator.

A. a dedicated B. an omniscient

C. a ubiquitous D. an evanescent

Wars — everybody, and their destructive — last

for generations.
A. affects, effects B. effect, affect

C. affect, effects D. effect, effect

Anger, even when it is— has no virtue ; it overcomes—
A. sinful, sloth B. inevitable, reason

C. unnecessary, malice D. Intense, hate

London is being — by outrageous crimes against
architectural taste.

A.rackedup B. wrecked C. whacked D. roughed up
The bank will not accept the guarantee of a man of
straw. The underlined phrase means:

A. one who refuses to surrender

B. a man of no substance

C. one who never thinks of material gains

D. a har
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16.
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22.

23.

24.

25.
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When we say someone is ‘occidental’, we mean
he /she is associated with:

A. Europe and America B. the occult and the oriental
C. Asia Minor D. occupational therapy

The antonym of ‘flout’ is:

A. disregard B. approve C. break D. change
Substitfution of an vulgar
expression is called:

A. euphemism B. alliteration C. allusion D. eponym

unpleasant or

Choose the correct sentence:

A. Whose does house belong to?

B. To whom does the house belong to?

C. Who does the house belong to?

D. Who belongs to the house?

The word "Reminisce’ is—

A.averb B. an adjective C. anoun D. an adverb
Choose the word or set of words for each blank
that fits the meaning of the sentence as a whole
(Questions 20-22):

it I — Aladin’s magic Iamp, I — all the problems
of our country.

A. had, will solve B. had had, would have solved
C. have had, would solve

D. had, would have solved

In Germany, her startling powers as a novelist are
widely — but she is almost unknown in the English

speaking world because of the difficulties of — her
eccentric prose.

A. 1gnored, editing  B. admired, translating

C. espoused, revealing D. obscured, comprehending
Liberty is not easy, but it is far better to be an—
fox, hungry and threatened on its hill than a —
canary safe and secure in its cage.

A. aging, young B. angry, content

C. imperious, lethargic D. unfettered, well-fed

High levels of absenteeism, reduced productivity,
uncharacteristic accidents or bad decisions are tell
tale signs of depression, Here ‘tell tale’ means:

A. superficial B. revealing C. superfluous  D. fertile
An antonym of “eerie’ is:
A. bizarre B. ordinary C. supercilious D. weird

Find a related pair of words or phrases that best
expresses a relationship similar to that expressed
in the original pair in capital — DIGRESSIVE :
STATEMENT

A. slanderous : slur

B. tangential : presupposition

C. biased : opinion

D. circuitous : route

Answer Kevs: 1.A2D3.C4A5A6CT7TA8CH9A

10B 11.C 12.A13B 14B 15A 16.B 17.A 18.C 19.A
20B21.B22.D 23 B 24B 25.A

IS RY_Rvwi&Eg 20d38-20>@

A S I

(GT5- )
General English

(Answer each question by choosing the best option.)
Answer questions 1-6 based on the following passage.
The first shock that I received had nothing to do with the
stone figures I had come to see. It was the sight of the
island itself that filled me with astonishment. It was so
barren : there were no trees, and 1t was apparent that
scarcely any ground was good enough to support crops.
Yet nobody looked hungry or unhappy. The second
shock left me in a state of wonder. Many people have
indeed seen photographs of the enormous stone figures,
but the pictures show single statues or groups of only
three or four. What I now discovered was that there are
hundreds; they are all over the island. The greatest
concentration of the figures 1s near the eastern tip. Here
lies the quarry from which the stone was taken.
1. 'Which sentence is true?

A. Many statues were spread all over the island.

B. There were only single or small groups of statues.

C. All statues were near the eastern tip of the island.

D. The photographs gave clear idea about the statues.
2. 'What was the result of the writer's second shock?

A. He was baffled. B. He was delighted.

C. He was disappointed. D. He was amazed.
3. Inthe passage ""quarry" means

A. the place where the statues were made.

B. the hunted animal

C. the place from where the stone was dug out.

D. a track.

4. The word "apparent’’ means .
A.uncertain B. confusing C. obvious D. surprising

3. What surprised the writer at first?
A. The stone figures B. The size of the statues
C. The island itself D. The quarry

6. Why was the writer astonished by the fact that the
island was barren?
A. A barren 1sland could produce so many statues.
B. Nobody looked unhappy or hungry.
C. The soil was fertile, but no crops were grown.
D. There was a stone quarry.

7. To "catch off gunard" means
A. to neglect duty.
B. to substitute a guard.
C. to get someone when he/she 1s careless.
D. to be on guard

8. In the poem "Ozymandias', the phrase "king of
kings'"' is an example of

A1 : 320

A. exaggeration B. irony
C. sarcasm D. humour
9. his convincing argument, the project was
not approved.
A. Although B. However
C. Despite D. Inspite
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11.

12.
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14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24.
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In Roberty Herrick's poem "To Daffodils”
human life is compared with

A. summer's rain. B. morning's dew

C. spring D. all three (A, B, C)

He wanted nobody to know —— the
treasure was hidden.

A. except him, what B. but himself, where

C. else, which D. and him, when

The universities have opened recently, 4
A. aren't they B. hasn't they
C. haven't they D. weren't they
The word "'fabricate" is nearest in meaning to
A. manufacture B. demolish C. refresh D. arrange
Several new diseases

in the recent years.

A. grown up B. have come up

C. have discovered D. have found

Hamidur Rahman to make the of
the Shaheed Minar.

A. had responsibility, foundation

B. was asked, selection

C. had, construction

D. was assigned, design

Control . Sabah! Everything is fine, so
don't start crying.
A. yourself B. you
Rahim is one
A. much

C. of the more

C. me D. herself

superstitious people I know.
B. very much
D. of the most

pair of socks too small for me.
A. This, 15 B. These, are
C. These, is D. This, are
All my efforts to bring about a compromise ended
smoke.
A.with B.in C. off D. through
When Penicillin?

A. did Fleming invent
C. Fleming invents

B. Fleming invented
D. has Fleming invented

We went to Rajshahi last month to see the house
where we in the 1960s.

A. will live B. live

C. would live D. used to live

While the man in the field, suddenly a dog
came and him.

A. was, bite B. was working, bit

C. worked, bitten D. was working, bite
We to Dhaka in 1994 and here since then.
A. came, lived B. came, were living

C. came, have been living D. came, had lived
Choose the appropriate translation of “3f¥ =W I
«ft =Tt faTs e st zost 1"

A. It would have been better if you could give it to me earlier.

B. It could have been better 1f you could give it earlier.
C. It should have been better if you gave it to me earlier.
D. Giving it to me earlier should have been better.

25. The weather is

gloomier today than it was

yesterday.

A.more B.morethan C. very D. much
Answer Kevs: 1. B2D3.C4C5C6B7.C8A9C
10D 11.B 12.C 13 A 14B 15D 16.A 17D

18.A 19.B 20.A21.D22B23.C 24.A 25D
=T (Bangla)

s I 115 7 932 AU S50 2Ara Taz wihs (&4 72 5-¢)s
ST ot wia Fare | W AGIR T IEL; Swd ArfEe e
e I AR e @ opawts Irfem, o T3 orterm
Gt @ XA T S (ANACSTS BT (GAR FHFCA SHARE JAE,

AL

gzfiw ot <t 2ifSet | w3 waeny % o, g s

AIEFCT A7 TS A e wawmg 712 g wfas
crisrEres | <iffere IS fomre oifs T =t | g 9w TS e

et e =4t |

Creiea Wil wiffsy adta o

TR U3 TAAfge Tm | (3 oy wiors i T@ W s STem e
VI T WIS SlE (St 09-07 Whshe o Ao et
TCA | SIMA WY WET AR WN-Fenat fee et e
FAEGT S e - ureifen et ww @ | I
SR 6ot 3% 3t WA witstA AT #irE ot Rewz Bgrey A

ST 7' BT A |

1. SoIHT HPRM FAM AIM-LI67 AR
A 9«36 B.9q C. feap D. 51

2. R 9RO TFICE (6 745t
A. 9 B. 9o C. 8% D. 3%

3. R ORI ARG W 07
A. fesft  B.orf C. 4B D. =6

4. TRABTS IJIQS AT e
A.(S@  B. 0% C. A3 D. @™

5. SHRALCS O IFE (@ve 1 Ramfoe age gre?
A 2790 B. o7 C. bR 7909 D. 415 99097

6. R SIR (W I Ia1 AR i 7' 757102
A. tZx3! 8 el
B. S 8 SoaEd oig
C. aFT*¥ 518 8 WA= Iy
D. fa@ 3 ¢ w36 weAr Airza Sz

7.  ‘cErEA-gErE 99 T 9 AR (F Fe?

A. tER B. 3<%
C. OIRIEE 71T T D. & %4 qtea

8. “WICIR FW WIS ANET (R |” I (I (IR0
AT F2?

A. SrE B, ST C.arrst  D. Ieigmt

9, Ff5F AT *=_get=r 731-

A - B.os-fR C.ed-59 D. T3<-fag4

10. =i I F9F <taa IS 8 ([vw=Ta II%T IER?
A. 7S B. GTE o4l
C. Sl =1 I D. SwE <F i@

11. “Ireors W= i Fom 39 22A0E @G- FAd
Head 9o 396 fom (@ ©f FeFEEeE vifieres e
fe= | " -fers SifeT Iors Braa FRTt
A.BR B. 46 C.=¥ D. s

12. = 7ol == 71?

A =g B. if6 C. =rzal D. off
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13. Millennium-93 “ifssfat

A% B. *Isi% C.5 =™ D.*™
14. % 57 Z030E IFIFIOLE ALF 64 A0 2T

A. SE  B. oS C.3eowi® D. ¢liiFrere
15. He is a hard nut to crack.-To7 Ffss Iat wgq™m

A. TS Z(E =& Wi i Shel Tia 1 |

B. fef (ot «ie[ & 4 |

C. fofvr =fo= ¢ |

D. fsf SR+ g 603 1 |
16. ‘<femfn oM’ S & o0 A 77

A. (3 [T 913* 929 4@ TFMIR B. Shmw 9o e[ 7EmE

C. OIWITER MIE Ao D. ©1g I 96
17. =G wfes 7a?

A. Vog+am = (4 B. YA+ =(el

C. V=il+3 = Gl D. Vip+@ = 1%

18. “c=io g 3097 =1 | " -IIfoTE FE I FSEe Mm@
A. I8 (=0, ©3 I0T A B. 901 =41 (=15 o2
C. (26 9 907 &4 D. (=6 Z(=18 (A &4

19. ‘==t - (I SiEl (7T WS =77

A FelE B.TwEA C. SRR D. 7T
20. ‘tz=Sl’ sty SfERT auvTs IFT 641 (I TEE?
A. FgiRge B. sgrsigirei
C. =41t {21 D. == [2a
21. ©MR I EE
A. I FRESAEE 9Fud AR B, 996 F6i9IE
C. a3ee *[FHwm D. a3+ f*reF
22. I *M5 Wiy S sifes?
A. @ B. TEES C.z¥@E D. SaEe
23. Wi Mo 39S @
A. eER TCel B. [{efes e
C. «iga Wre D. ANCAE WS
24. “=2fS I A9 g T oAt 1"
A. frerge 79w B. S0uH SfqE5R
C. samte siqar D. 4R SfFar

25. Wl JRZIEA CFCE AIASCS Lo #5718 slereaiers
e @l
A TS B.IREITAZT C. =¥ D. A=A
Answer Keys: 1.C2.A3B4D5D6.D7.A8B9.C
10D 11.D12.A 13.C 14B 15.C 16.A17.D 18D
19.A 20.C21.A22.A23.A 24.C258B

Elective English

(Answer each question by choosing the best option.)
With reference to the paragraph given below answer
questions 1-6:

Let us define a plot. We have defined a story as a narrative
of events arranged in their time sequence. A plot is also a
narrative of events, the emphasis falling on, causality. "The
king died and the queen died" is a story.”" "The king died and
the queen died of grief,” is a plot. The time-sequence 1s
preserved, but the sense of causality overshadows it. Or
again: "The queen died, no one knew why, until 1t was
disocovered that it was through grief at the death of the king."

This i1s a plot with a mystery 1n it, a form capable of high

UCC

development. It suspends the timesequence, it moves as far
away from the story as its limitations will allow. Consider the
death of the queen. If 1t 1s a story we say, "and then?" If it 1s a
plot we ask "why?" That is a fundamental difference between
these two aspects of the novel.

1.

10.

11.

12.

13.

14.

An antonym of ""fundamental’ is
A. incidental B. elementary

C. inessential D. supplementary

The death of a queen in a good plot will be
treated
A. casually B. usually

C. episodically D. sequentially

A suitable title for this paragraph would be:

A. Defining Plots B. Defining Narratives
C. Plots and Time D. Story Versus Plot
Which word best conveys the idea of a '"'time
sequence''?

A. Chronicle B. Chronological

C. Chronic D. Chronograph

A synonym of "causality’ could be:

A. Determinant B. Eventuality

C. Certainty D. Casualty

To "overshadow'' something is to it.

A. eclipse B. stretch

C. shade D. lengthen

Given the in house prices in the city, more

and more people are settling in the suburbs.
A. stagnation B. gradual slide

C. affordable figures D. astronomic rise

The antonym of "Central” is
A. essential B. fundamental

C. peripheral D. centripetal

What figure of speech do you find in "budding
beauty''?

A. Assonance B. Alliteration

C. Simile D. Metaphor

Said opted for a peripatetic existence which saw
him travel all over the world. Here "peripatetic"
means

A. settled. B. unfortunate.

C. unsettled. D. exciting

London's status as the world's most influential
city was largely a
A. hangover

C. turnaround

from its past glories.
B. misnomer
D. distraction

To be utopian is to be
A. pessimistic B. curious

C. visionary D. distraction
The best kind of writing is in language that is
A. pedantic B. idiomatic

C. arcane D. esoteric

He was unable to catch the

my speech.

A.1llusion B.elision C. allusion D. insinuation
26
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18.

19.

20.

21.

22,

23.

24.

25.
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Choose the correct sentence.

A. The setting of a short story affects it's plot.

B. The setting of a short story affects its plots.

C. The settings of a short story effect its plot.

D. The setting of a short story affects its plot.

What is the synonym of "altruism"?

A. Honesty B. Philanthropy

C. Tolerance D. Selfishness
Homophones are two or more words that have
the same.

A. pronunciation but different meanings.

B. meaning but different pronunciations.

C. spelling but diferent meanings.

D. spelling but different pronunciations.

The secretary as well as the members to
submit the proposal to the Minister.

A.need B. needs C. have D. are likely
What does the word ""commonplace’ mean?
A. A common place B. Cheap

C. Ubiquitous D. Ordinary

"Plagiarism" is the act of

A. pleasing somebody superficially.

B. making fun of somebody for amusement.

C. taking somebody's ideas without acknowledgment.
D. indulging in self-satisfaction.

The feeling of having seen or experienced
something before is called :
A. deéja vu B. surreal

C. been voyage D. hallucination

A closing speech In a play, often delivered after
the completion of the main action, is called

A. a monologue. B. an epilogue.

C. a prologue. D. a dialogue.

A novel in the form of letters is called
A. picaresque novel B. novelette
C. non-fiction novel D. epitolary novel
"Waifs and strays' is an idiom that refers to

people.

A. irrational B. simple C. homeless D. mystified

A lyric poem mourning the death of an individual or

lamenting a tragic incident is a/an .

A_elegy B.tragedy C.epic D. hymn
Answer Keys: 1.C2.D3D4B5B6A7.D8DO9B
10.,C11.A12.C 13B 14.B 15.B 16.B 17.A 18.B
19.D 20.C21.,A22.B23.D 24.C25.A

(General Knowledge) A

wigeres Nreerat w3t w7 [The purpose of the

International Mother Language Day]

A. 917 sfga [the right of language]

B. WIrgsM Wiwwifes e [international recognition
of the mother language]

C. wreem fame« @om@ [publicity of the mother

langauge in foreign countries]
D. reeEts s=igel [popularity of the mother language]

10.

11.

FeEa-Sie Tage [y eife s 75 /fA
Il e el wiEew JfePe grme?

[Bangladesh's right established according to the
verdict on the dispute of the maritime boundary

between India and Bangladesh]
A. >5.¢ so@m w2e [19.5 Nautical Miles)

B. 2.2 @@y W2 [21.2 Nautical Miles]
C. Sv.5 s6y@ W2# [18.9 Nautical Miles)
D. 5.4 o3n= W2= [19.7 Nautical Miles]
ERITSIGH-«3 &8 [The birthplace of Herodotus]

A. geif [Italy] B. {491 [Greece]

C. ¢« [Spain] D. fi*@ [Egypt]

= Jfe ot iRweew g few? [Who was a

student of the University of Dhaka?]
A. =mre] (7 [Amartya Sen]

B. csuife 99 [Jyoti Basu]

C. 7eifér ¥ [Satyajit Ray]

D. 999 99 [Buddhadev Basu]

03¢ T (7 (Tt ST fae fra<eiet wigfos 2@ [The

2015 ICC Cricket World Cup will be held in]
A. ©=iF9 8 qiEme*! [India and Bangladesh]

B. &= [Sri Lanka]

C. syt @ FefEmuits [Australia and New Zealand]

D. #iife@t @ qteerimaeel [Pakistan and Bangladesh]
STEIAIRWGE Y= TS It =7 [The original page of
Website 1s called]

A. ¢*fa ¢#i2e [Last Page] B. St3d (712w [Web Page]
C. 999 ¢*3% [First Page] D. 29 ¢*2% [Home Page]
SR S22 7w 79 [Not the symptom of Ebola Virus]
A. & g9 [High Blood Pressure]

B. =t<< g9 [High Fever]

C. 91t 9991 [Headache]

D. #ieg4R 9121 [Stomach Pain]

FFCFEA 77 *° 73y U seErem? [For how long

did the battle of Kurukshetra continue?]

A. v r= [18 days] B. v 5eiZ [18 weeks]

C. > 9% |18 months] D. 3 9%7 [18 years]
TEga w0 41% [Famous for textile industries]
A. @S [Dundee] B. @fes@at [Edinborough]

C. W=eo51@ [Manchester] D. ¢*if%< [Sheffeld]
TWER FE @y RmEm g Bee Ao
[The government has decided to establish
Rabindra University in]

A. *rzem=a, fFaresig [Shahzadpur, Sirajgani]

B. ¢(*[974, 9@%l [Sherpur, Bogra]

C. Fai#4i, 25 [Kumarkhali, Kushtia]

D. sfEa!, TFREPieg [Valuka, Mymensingh]

TS (@ (TF Redw e TROLIE TRIES F
ZWe [Termed as the dumping country of

electronic wastage]
A. 5% [China]

C. g=a8 [USA]

B. =i« [Germany]
D. =14« [Japan]
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12.

13.

14

15.

16.

17.

18.

19.

20.

21.

UCC

wifee  Foice wfRtew  ®eWie  [Inseparpble

element of social framework]

A. 71y [anarchy] B. 9@ [disquiet]

C. ¥=taid [morality] D. f=jet=r® [disorder]

Feyeia Aifamiet =2t 7 [Civilliaztion is measured by]

A. W= By fefere [basis of mental development]

B. ®exifdsia 3@ [inheriting]

C. Ttz 2wt (id [applying technique and arts]

D. w¥elq fefers [basis of efficiency]

et s AfENe Q9w Q4w [First Chief of

Bangladewh Air Force]

A. 977 ©i25 @ 9. & etea) [Air Vice-Marshal
M.G. Tawab]

B. @I} ©2A @ @ F. W3R [Air Vice-Marshal
A K. Khandokar]

C. «aR Sf2% IH@ FFrew WEgw [Air Vice-Marshal
Sultan Mahmud]

D. [ 27 = @9, @. I#1F [Air Vice-Marshal M.

K. Bashar]
2058 JAER AR @R IEAACR Tt I

T¥ [As per the statistics of 2014, the population
growth rate of Bangladesh]

A 3.00% [1.06%] B. >5v% [1.16%]
C.3v0% [1.60%] D. 5% [1.66%]
IME oA GIFeT A7 s s coitmr [Newly
discovered natural gas reserve by BAREX]

A. ™= [in Sylhet] B. 3w=1%@ [in Sundalpur]
C. 581 [in Chittagong] D. %#5it& [in Rupganj]

“IfF 8 ey (o @R RS 2@? [Where will '"Mukti
O Gogotanto Toron'' be constructed?]

A. 531 fegf@vr=ed [in Dhaka University]

B. wiztigeria fesfamer [in Jahangiragar University]

C. wia sfew=e (in Jagannath University]

D. qterhig} fef”wie=d [in Rajshahi University]

ArerEa FAGE oS FFFas [Most imporant
safeguard of Democracy]

A. a5t fqeieia T1diwet [Independence of Judiciary]

B. i@meitzs et [Independence of Newspaper]

C. at=-=id=ret [Liberty of Speech]

D. &w=eiteds W=z [Peoples’ Participation]

@-fE W weEE {Fge dvw CfwEe @
[Maheshkhali power plant would be run by]

A. 351 [Coal] B. «1H [Gas]

C. Aff-fagr  [Water-electricity] D. GTia =if& [Solar Power]
o (TSR YA FrA AT FHITTT Mm@ e
&= [The company of the country which got

work order for constructing main structure of
Padma Bridge]

A. F™w [Russia] B. ¥#s1 [Canadal]

C. w7 [Japan] D. B [China]

2097 (7 FEE @Eew Site IRATT 3 I FE

[Bangladesh signed an agreement in Raillway
sector as the 20" country]

A. 06 HEsY 39 @9t [Network System in Railway]
B. G-« &S0 (0SS [Trans-Asian Railway Network]

22.

23.

24

25.

C. Sieomiges Biab FHrEsw 39 @@9@ [Computerized
Ticket System 1n Railway]

D. T=gomt w9 @9 Afed [Improvement of
Railway Service]

g wdimEm gafee g AifiviEe feme

s mme@s s [The NGO run school for

children with World Bank support]

A. g+fers e [NGO School]

B. s femyrer@ [Children School]

C. si=% %4 [Ananda School]

D. {85 [Pre-School]

FieEATHCIR Ay Bt Az Feeinba w19 [Name of

Bangladesh's 1 Education Commission Report]

A. SieEaeea et sshit fqeeii® [Bangladesh Education
Commission Report]

B. < i faeeid [Bangladesh Commission Report]

C. wmeiw ™1 =hw faesiie [Nationl Education
Commission Report]

D. Fwse-2-4w P FheE f[eeie [Kudrat-E-Khuda
Education Commission Report]

HESH FIWE % =t [The biggest country in area]

A. SGERT [Australia] B. ¥=1et [Canada]

C. 59 [China] D. %= ¥&=i# [United States of America]

SAred 259 7rey [The 29" state of India]

A. (o7 [Telangana] B. =& &tw* [Andhra Pradesh]

C.TmRm™ [Hyderabad] D. @8 [Jhakhand]

Answer Keys: 1.A 2.A 3B 4D 5C 6D 7.A 8.A

9.C10A 11.A12.C 13.D 14B 15.C 16D 17.A
18D 19.A 20.D21.B22.C23.A 24B 25.A

(General Knowledge) B

o v witwtE=? [Which one is a philosophical
movement?]

A. S&gam [Existentialism]

B. 3%<iw [Rationalism]

C. fafdsizam [Dogmatism]

D. i wiewi=e [Social movement]
ez A4is BoiEiar [Main element of History]
A. TFFETER SR@E 919 [ Advancement of human society]
B. W==<aite =rere ¢+l [Past description of human society]
C. Wigras we® =gf% (Awg" [Remembering past

memory of mankind]

D. JigEs "ql%ﬂ?ﬁ [Reminiscence of mankind]
" QYT TR I, FRpYE foew/Fmes =i, FEm Wi
@ ae=R"” R F=@ woa1? [Who composed the
poem ''Ekhane Rammar Batamule, Krishchurar
Niche/Kandte Asini, Fansir Dabi Niye Eshechi'?]
A. SRy siwer el [Abdul Gaffar Chowdhury]

B. W29 SF (oigsl [Mahbubul Alam Chowdhury]

C. 5= iggw [Al Mahmud]

D. *9¥q 9=« [Shamsur Rahman|

“T SNIEE 2eRT TEe RN Saita 2fereT- Sfet
F=? [""The history of mankind is basically the
history of class struggle'’'- whose statement is this?]
A. @+ [Lenin] B. «t#e [Engels]

C. W@ [Marx] D. w+{f% [Mogran]

28



10.

11.

12.

13.

14.

15.

UCC

It *iRee AN FIReSH Graiyd St =¥ [The first
flyover of Dhaka city opened on]
A. © 9889 008 [3 November 2004 ]
B. 8 It5%¥4 2008 [4 November 2004
C. ¢ 9t%9 008 [5 November 2004
D. & 9t5%4 2008 [6 November 2004
e “FR e #ifErs =@ @ i ['Agriculture Day'
is observed in Bangladesh on]

A. s@i g [1¥ Asharh]  B. &1 @) [1¥ Baishakh]
C. >a1t wezrad [1% Agrahayan] D. de1 ¢*1® [1¥ Poush]
TYIPE WIS I A SES FIFEd wead
GAifars s=iif® za? [In which year Professor

Anisuzzaman was honoured with the title

Padmabhushan of Indian government?]
A. 203 [2011] B. 2052 [2012]

C. 2030 [2013] D. 2038 [2014]

A. @919 *ot= [1in eleventh century]

B. #it=9 *fet= [fifteenth century]

C. (99 *[o(< [thirteenth century]

D. 1% *et& [fourteenth century]

Tair Rg@a s wiRgs zwem [The French
Revolution led to the emergence of]

A. 7ifé=i [capitalism] B. Srei¥eR% [nationalism]

C. smrereyd [socialism] D. fat3= [ globalization]
BRICS-9% % woam wiweies 2f%ss [The
international organization, comparable to BRICS]
A. T2eHaEiEfe [USAID] B. Wi29a«® [IMF]

C. 28979 sst=g [UNHCR] D. wgeve [WTO]
HiEgEires ©EEE R a4y Swwies 31 =@ [The
international language year was first observed]
A. 2030 FAE [1n 2010] B. o0b A [1n 2008]

C. 205 AtA [in 2011] D. 2wos HA1ta [in 2009]

frastst Foaem ez wdw  citemist  [Highest
scorer in the history of FIFA World Cup]

A. Tifitel= [Maradona] B. (39it31 [Ronaldo]

C. ¢sita [Pele] D. fawaEr 361 [Miroslab Klosse]
rive e @ FE SWWIeE &9 eei{iTs [Sigmund
Freud is famous for contribution in]

A. ST [Psychoanalysis] B. edf<eE« [Biology]
C. #ifz®s [Literature] D. w# [Philosophy]
‘o=’ pfea g2 [The two parties of the 'TICFA'
agreement]

A. soIFm* [India-Bangladesh]

B. =E-qi=ita* [Nepal-Bangladesh]

C. qieenv+-g&<z [Bangladesh-US]

D. FiE=ta=-g@qiey [Bangladesh-UK]

=TS IRFATACT II6 WA FIETSa FAFw= AsTl it
(¥ ¥t [The architecture of Mughal period found
recently in]

A. #fie*lt, 9reaife [Pangsha, Rajbari]

B. #@si@, 3&ig [Shibganj, Munshigant]

C. =iferaitea, siifersa [Kaliakair, Gazipur]

D. <=7, 989! [Kahalu, Bogra]

16.

17.

18.

19.

20.

21.

22

24

25

¢-f& ETHRE0 R vy FRS IR & @=? [Which
country is going to introduce 5-G internet service?]
A. w7 [Japan] B. 5 [China]

C. =318 [USA] D. w54 Fifaat [South Korea]
T=Af® (@ T @RALET Fq= *Heqt itz [Recently
the Buddha Bihar has been discovered in]

A. ¥@itg [Munshiganj]

B. #9@99t&® [Narayanganj]

C. ¥F3eiq [Cox's Bazar]

D. sir&i7@ [Gazipur]

TRifEs® g 77 wigs=@? [What type of right is
human rights?]

A. &1fes wfga1® [Natural right]

B. smifera wfgea [Social right]

C. seiafos wigq [Political right]

D. wdtafes wig=@ [Economic right]

FLATEF TAFT 058 TTANH IRFAACR Tee TRifog
=" % WifFq wa@? [The per capita income of the
people of Bangladesh according to Economic
Survey-2014]

A. 3,350 [1,190] B. 5,388 [1,144]

C. 5,50 [1,180] D. 3,200 [1,200]
lia Io9H A&l [Current Prime Minister of Japan]
A. 1stel 19 [Naoto Kan|]

B. &Rz 7mi [Youshihiko Noda]

C. F=tett s [Shinzo Abe]

D. 2&fa 9 [Yoshiro Mori]

TEEiE Fiwa eea? [Whose festival is jalkeli?]

A. f@*ai [Tripura] B. 5@ [Chakma]

C. it [Garo] D. 4137 [Rakhine]

. BzeEt Ftgaitaet s @ [The English arrived in

Bengal in]
A. deds [1599] B. >aea [1757]

C. s8¢ [1475] D. Svoo [1600]

Fejfer AEF GaAlted 79777 (I AbF JEw 5o [Satyajit
Ray's film Gonoshatru was based on the play]

A. JHT &7 v 9 3 [Enemy of the People—Ibsen]

B. gy frena (1E#ima [Julins Caesar-Shakespeare]

C. w7 9% Faa- qE [Man and Superman—Russell]
D. «r=51q c&iv7-8=E [Emperor Jones— O'Neill]
Ateremia ©ifer faras [Salvador Dali was a'an]

A. /9= [scientist] B. (514F [writer]
C. fouf*5i [Painter] D. g [artist]

« IRF ICEH AT Afem? Fage WAt [The limit

of tax free income for men this year]
A. %,00,000.00 B9 [Tk. 2,00,000.00]
B. 3,%0,000.00 519 [Tk. 2,10,000.00
C. 3,30,000.00 5= [Tk. 2,20,000.00]
D. 3,90,000.00 6iF [Tk. 2,30,000.00]

Answer Keys: 1.A2B3B4C5B6CT7TD8DIA
10B 11.B 12.D 13.A 14C 15C 16D 17.A
18.A 19.A 20.C21.D22.D 23.A 24.C25.C
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UCC

FAA: S TO1 (G75- )

General English

(Answer each question by choosing the best option.)
Answer questions 1-5 based on the following passage.
Academically, Asian students are outperforming
their American counterparts on all levels. However,
as adults, we are finding ourselves falling short in
the area of creativity and the ability to influence
others, and the successful people are those who can
know how to influence others. This 1s an area that 1s
emphasized in a Western upbringing. In the West,
children are taught to question authority by asking
why, something which is not encouraged in Asian
culture. At the same time, I think the Western
emphasis on creativity may have gone too far. On
the other hand, in Asia, there 1s too much emphasis
on memorization and drilling. I find that my Asian
students 1n law school have trouble coming up with
creative 1deas. Ideally, we should take the best from
both worlds.

The aim of the writer is to persuade the reader that
A. the most effective upbringing is the Asian way.
B. the Western way of upbringing is superior to the
Asian ways.

1= 1 %0

C. Western children are brighter than Asian Children.

D. both ways of upbringing have advantages and

disadvantages.

To explain the relationship between upbringing

and student performance the writer has

A. provided a dictionary meaning of upbringing.

B. given statistics of student performance.

C. compared and contrasted students of two
different cultures.

D. used logic to reach a conclusion.

The word 'outperform’' means :

A. to surpass B. to produce

C. to achieve D. to fall short

Which is a criticism of Western upbringing

made by the writer?

A. There 1s not enough respect for authority.

B. There 1s not enough memorization.

C. There 1s too much stress on creativity.

D. There 1s a shortfall of discipline.

The phrase 'on the other hand' is used to signal

that the writer will

A. present the opposite point of view.

B. conclude the text.

C. give an example.

D. elaborate the previous point.

The woman was someone might recognize her.
A. afraid so B. afraid about

C. afraid that D. afraid with

respect your point of view, I cannot agree.
A. Much as | B. As much I

C.Ialso D.somuch as I

Choose the mis-matched pair.

A. immune, protected B. nervous, disturbed
C. neurotic, stable D. net, mesh

She went — the big gate — the prison — the road.
A. through, of, onto B. into, by, to

C. across, 1nside, over D. by, to, on

11.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

25.

. From "I Wandered Lonely As a Cloud" we can

infer that the poet saw
A. ten thousand daffodils.

B. a large number of daftfodils.

C. the milky way and daffodils.

D. a host of yellow daffodils.

An "apple of discord'’' means

A. a beautiful object. B. an object of dispute.
C. a favourite thing. D. a delicious fruit.
The noun of 'predict’ is .
A. predictable B. predicting

C. prediction D. predicted

Iron for weapons and tools in the Bronze age.
A. 1s generally used B. used

C. generally used D. was generally used

A snake can eat and digest animals much larger
than ‘

At B. itself C.its D. it has

Of the two boys, Latif is intelligent.
A.most B. more C.as D.far

They have tried but failed, ?

A. haven't they B. aren't they

C. don't they D. didn't they

of his obstinacy, we could not reach any conclusion
A.Full B.Much C. Greatdeal D. Because

My broken ankle is me.

A. paining B. aching C. hurting D. wounding
You may culture shock by getting
to the new way of life.

A. overcome, accustomed B. feel, used

C. get, expose D. need, familiar
Choose the correct spelling.

A. Inacessibility B. Inaccissibility
C. Inaccesebility D. Inaccessibility
The word 'Ingenious’ means .

A. deceptive B. skillful C.simple D. complicated
The synonym of ‘commemorate’ is
A. overlook B. memorize C. observe
The antonym of 'assail’ 1s ‘
A.attack  B. befriend C.prevail D.fly
Choose the appropriate translation of =¥ cst=
SATTE R J10 ST =1 |

A. Was I you I would not take the risk.

B. If I were you I could not have taken the risk.

C. If I was you, I would not take the risk.

D. It I were 1n your shoes, I would not have taken the risk.
In "Jerry" the writer says that when she gave
Jerry some candy and apples he

A. thanked her. B. smiled in gratitude.

C. just looked at her D. did some extra work

Answer Keys: 1.D 2.C 3.A 4.C 5A 6.C 7.A 8.C
0A10B11.B12.C 13.D 14B 15.B 16.A 17D
18.C19.A20D21.B22.C23.B24.D25.C

D. assert

Ji=T (Bangla)
FHYA AT (F 0?7
A. eyt B. TS C.wmH  D. =gafza
G =0 ¢7t?
A.T95  B. WBR C.@™ D.=em
T FAOE IRET 9 T0R-

A =g B. amwid C. fafzstd D. oredd
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10.

11.

12

13.

14

15.

16.

17.

18.

19.

20.

21.

22

23.

24.

UCC

eofs | 47 ofet 7w?

A. AL GG B. e s

C. fewgsve s D. #itaa Wty feorst A=
TACEF ATS FF [T FA?

A 9011 5 99 QTR 9=

B. e 37 fgw 3=

C. gv=aife sfoe zaf aw=

D. A% #itex 4 [AWiEe csfen i =1 I
Corrigendum-«3 Iteat sifserat

A 9o B.wg@igei@  C. FFsREEes D, A&
SRS * (D 4TS 8 ASTHTITC B ZLACR S

AT+ TS B. w9 + ©3

C. &g + G D. &5lg +%2

TR I I T R 8 R Weels, F o
A. BF M= B. i e¥re e

C. féras Twet Tt D. IHTHER AMF

10 TSa9dT?

A.TgH  B.eamre  C.1d D. *i<=

I e TerR i 67 it |'—=araoa FnfEet

A. OIg S *=Togfana B. wifzq armg=

C. v shErears D. g siEem

e e Toaes v1afS Ivsfa et 9otg?

A g B. & C. % D. g

(FIH0 TLIGAENIF *IT3R {3 7H?

A. g B. 12 C.a D. =3

T IO JF SR F WS GHiE TEE
CAIATCRAT X T FCACRA?

A.Fw@  B. 4@y C. S0 D. Freis
‘iR =it Rl ==-

A.gE  B.@@  C.eivie D, weR

You should accept this job to cut your teeth on.-
9 T IAIM 0?7

A. (AT8- 7@ A6 & (SR BIRIEID (F9F] b |

B. wfows! #AS &0 (SINK BIAIAL (9% ©fbs |

C. = JGItAE & (SINF BIe[e (1e%] Tbe |

D. Tafeq &0 coiie si&faft (et Tfos |

TR qEI-9F WEE ST FICH (AT T4 S IFIF
I I'— Q- FF WIS T 971 TR

A. OWREE B, waates C. 289w D. Sfers
‘G T arE ofY T A, 7 90 oNifeee (@ o WS
AT T "I 43T 1977

A.-f=ag  B.wta s C. @@ 3@ D. @ 199
FEn! SfF (WE A | —(F IEIT Twiggel?

A eI B.weamy  C. S[@mT D, ©R4y
ST e M WeEd 8 Wieawa Wi
& |- HCS BT F FeT

A. BiR B. #ii5 C.=¥ D. #r®
HITZTST (et 2Tw Y BT (i T ITeA(=7

A. et 2ite R o

B. 9191991 (A0S AW A9 90E |

C. =g Sl TeEq IS Sl |

D. 3@ W Aol @it Fzrem Sefe |

ST I2T IT FC6
A. f9ma IR B. y&is =@ ITe
C. *#td9 ez D. & W

‘CoToT” =l (I B (LT Wsie?
A.oF  B.wrM C.wrfs D.f&f%
‘sifsrohf’ onem-qiffa® i

A. S (rsdt B. 4 =41
C. vipaifaet =41 D. % (msw
wiefae 4t 99 St Gele

A.PE6E B Tww C.wveres D zuezw

25.

10.

11.

HP RFeRRes 8 FEREE ATEY WUg 00 T W
QT G 1—bfeTe ST IFHTS B Fedi
A. B B. A5 C.=x D. 7re

Answer Keys: 1. D2C3B4C5D6A7TB8B 9D
10.B 11.C 12.D 13.A 14C 15B 16.A 17.D 18.A
19.C20.C21.B22B23.C24.C25.D

AR @i (General Knowledge)
ZBIR® FeiE Ryp<ssyn i &@a? [The proposed
power station 'Rampal’ is located at]

A. 9reie=ie [Bagerhat]  B. ge+m@ [Khulna]

C. sre%ia [Satkhira] D. #i5¥iiEe [Patuakhali]
AR WEg oW @459 ¥99%7 [The number of
next Bangladesh parliament election]

A. a¥ [the 7" B. v¥ [the 8"

C. 5% [the 9™] D. So¥ [the 10™]

FSIE ot FiF I qeiR wsifss? [The present
Pope Francis is the citizen of]

A. gifew [Brazil] B. 3fafew [Bolivia]

C. w1 [Argentina]  D. ¢siw [Perul]

SIS (GHaTE IS 374 517 fea? [For how many years
the telegraph system was in operation in India?]
A. 8¢ 929 [145 years|] B. d¢o 929 [150 years]

C. se@ 9=a [155 years] D. >3 924 [162 years]
TSI FAHE @ F=foew oo g0 [At present highest
number of films are being produced in]

A. B [China] B. sit#itte [Japan]
C. st [India] D. g=aig [USA]

TogE e aeEmwedm Fggeat [ The maritime
boundary fo Bangladesh from the shore]
A. 33 767 W24 [12 nautical miles]

B. 00 #i69@ I2a [200 nautical miles]
C. 230 @oa7= W29 [220 nautical miles]
D. 330 a6z Wigd [120 nautical miles]
iywE o, Giew, 33, 3T 8 JES-9YR FBSE
A1 (&1 Fereid we*? [The modern Turkey, Syria,
Iran, Iraq and Kuwait were part of]
A. fidiw erst [Egyptian civilization]
B. &9= 7e5el [Roman civilization]
C. % srerei [Indus civilization]
D. crei=teRE Werst [Mesopotamian civilization]
00 FAEE wireTw et F@ee [2013 has been
declared by the United Nations]
A T8 949 99 [ Year of Micro Credit]
B. #if szg@ifst 99 [ Year of Water Cooperation]
C. 37 94 [Year of Forests]
D. =%t 99 [Year of Language]
‘TEOET (7 (ea TIwerg! ['Reuters' is a news agency of]
A. FF [France] B. ¢oi=11® [Poland]
C. G5+ [Britain] D. wiifs [Germany]
‘11’ 97 [What is 'APEC'?)
A. ar=igs 79-efie 1@ [ Allied Peace-keeping Council ]
B. = ¢ie¥@ «HEGE IACAE@= [Asian Power
Exchange Corporation]
C. afat eAAE (@=eia= [Asia Pacific
Economic Cooperation]
D. 352 =9 [None of these]
sy’ #fasios =ow= [The editor of the journal
'Sankriti']
A. 94 T4 "WizTw [Abul Mansur Ahmad]
B. 39w« &9 [Badruddin Omar]
C. et 29 ogdl [Serajul Islam Choudhury]
D. wifeEstae [Anisuzzaman]
‘TR >[5 TR A} F=01EF ['Mahasen' is related to]
A A1%@H [Cyclone] B. 5ttel [Tornado]
C. ofie=4 [Earthquake]  D. <51 [Flood]
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14

15.

16.

17.

18.

19.

20

21.

22

24.

UCC

IS JEeae wikiteg wim  [The
percapita income of Bangladesh]

A. 200 2897 &g [1200 US Dollar]

B. Yooco 2847 &g [1000 US Dollar]

C. Y088 289 wed [1044 US Dollar]

D. oo 28« Gag [900 US Dollar]

T TS €S § T6° IR (@4 [The author of the

book From Third World fo First]
A. (@=9= TtE=1 [Nelson Mandela]

B. 71 9= 28 [Lee Kuan Yew]

C. =1. 727 [A. Lewis]

D. == szgper [Nagib Mahfuz]

et i *1zF At B =if® Ja=e dgt IEa?
[From which city Malala Yousufzai received the
Child Peace Award?]

A. eTif#Ba [Washington] B.  ¢z#l [The Hague]

C. =19 [London] D. 7% 23 [New York]
et sifEeE= REae Festotaw AW [The name of the
organization on Bangladesh Environment]

A. (59 I TFH [Committee for Oil & Gas
Preservation]

B. fR3«was [BEMF]

C. @i 951 [Grameen Bank]

D. =2nca qie=a* [Hriday Bangladesh]

“i5ifer@ Freiat f= [Pataliputra was the capital of]
A. w87 [the Guptas] B. 4 [the Senas]

C. =143 [the Palas] D. @it [the Mauryan]
(efes g6 f&re= [David Frost was a]

A. Iferrat [freedom fighter] B. fof@=%< [physician]
C. sreifefaw [politician] D. siiw= [journalist]
11, RfSg g7 o= I3 N1 ok =13 [Learning by
reading newspapers, watching TV. following
other's examples and visiting different places can
be termed]

A. SBi@% @imfe [formal education]

B. Soimpifss “*&fe [non-formal education]

C. w=rwia 2% [informal education]

D. R ¢ Bi-g Tfake skt @ [all methods

mentioned in A. B. and C]
it J&T (=107 F76 [Feitt? [How many divisions
does the Bangladesh Supreme Court have?]

A. 930 [one] B. 92 [two]

C. foafo [three] D. 5@ [four]

Aifere #fFeSma ©+wiw 79 [Not an element of
social change]

A. g [Industrialization] B. a8 [Residence]

C. =@+ [Urbanization] D. 7=t [Education]

Sy werer fee o [Tamaddun Majlish was a]
A. oS 2fSu [cultural institution]

B. AfifE @fe®i# [social institution]

C. qretfos &fewi= [political institution]

D. wisay &f$Bi= [charitable institution]

FECR TG F@E IE OEe IS AEE- [Can
declare war according to Bangladesh constitution]
A. g4 T3t [Prime Minister]

B. 7E+T® [President]

C. afsz=t w9l [Defense Minister]

D. ot @i« [Army Chief]

HRYARYT @ oad fofes 3@ Iim IIme @
[ISBN is used to identify]
A. 38 [book]

C. W6 eunF [software]

present

B. sisf@<l [periodicals]
D. zesmid [hardware]

25.

26.

27.

28.

29.

30.

31

32

33.

34

35.

36.

it IFEE mE Eewt J=_¥9 givs @ [US
suspended Bangladesh's GSP on]

A. 29 T 2039 [27 June 2013]

B. 2% g9 2059 [29 June 2013]

C. o T 3039 [30 June 2013]

D. > T2 039 [1 July 2013]

G ©tet (FG? [Which is the Semetic Language?]
A. ST [Arabic] B. ©9 [Urdu]

C. w51 [French] D. =@m [Persian]
Fy7e-9q Wgam<F [ Translator of Meghduf]

A 252 (b1gdl [Pramatha Chowdhury]

B. <@ 7 [Bishnu Dey]

C. ¥2tv<2 99 [Buddhadev Bose]

D. 799 79 [Samar Sen]

T2 (@I (@TRRARIET AT oeTt ¢iz? [Recently
Buddha Viharas were found at]

A gaifsiite [Bajrayogini]

B. @==eiist@ [Sonargaon]

C. 5aitF [Technaf]

D. siferita [Kaliakoir]

@gs dfseret [The founder of Facebook]

A. 7= o167 [Bill Gates]

B. o5 1+ 713 [Team Burners Ltd]

C. widez@alsl [Markjokerberg]

D. =nif&eare [Andrigrov]

AT AE @ I7F FS SifE) ¥ <tg? [Rana Plaza
crumbled on]

A. 20 @fg= [23 April]
C. x¢ 9fg= [25 April] D. 2y @fgi= [26 April]
I Tt qEE Zraes ©iee? [The trial of
Felani killing case was held in Indian]

A &= ﬁﬁ%ﬁﬁ @™ ¢ [General Security Force Court]
B. wifil &g (26 [Army Tribunal Court]

C. s=arel & @16 [Judge Court of Kolkata]

D. Jo@el (&E Wieenb @b [Kolkata District
Magistrate Court]

FEATHCR (@ FRST JSIET FA6HE CfE (e
¢itates [The Bangladeshi citizen who has been

awarded the Congressional Gold Medal of USA]
A.©. (mafeg ©us1 [Dr.Devapriyo Bhattacharya]

B. 79 &t T Witaw [Sir Fazle Hasan Abed]

C. ©. 1ig9gqa wiea [Dr. Maksudul Alam]

D. ©. 32w 289 [Dr. Muhammad Yunus]

it Ft? [What is Sarin?]

A. ida RmiE wa [rebel group of Syria]

B. @ 297 qa=<e 97 [chemical weapon]

C. ¢« 9509 F [a kind of flu]

D. ©124f [a virus]

AT ATRTS6 CGTHT I A6 e [Apex

body of the Bangladesh private sector business

B. 38 «féie [24 April]

community]
A. fefBreng [DCCI] B. awfafHtremg [FBCCI]
C. few=g [DSE] D. Rfeewg [BGMEA]

w3y oY FIZE 8 A @Y (F-NIZAG JIZE FA

Z3- [The act for prevention of use and transfer of

illegally eamed money]

A g (=1 =iz [Illegal Money Transfer Act]

B. Wi« w%ifae fete== =g [Money Laundering

Prevention Act]

C. 54 ==lq @3 @@ 24 [Money Use and Transfer Act]

D. =if% =roifae wigw [Money Laundering Act]

A ofie e weiReE &l e=w 3eeR? [The

ruins of ancient Gaur city are in]

A. Tit=i6 [Sylhet] B. ==t [Khulna]

C. 329 [Kushtia] D. bi+i2 @ieei® [Chapai Newabgani]
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39.

40.

41.

42

43.

44.

45.

46.

47.
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FEaed - @3fe v =@ [The 3G technology

introduced in Bangladesh on]

A. 58 SI5[d 2059 [ 14 October 2013]

B. 3% 73199 2032 [16 October 2012]

C. Yo (699 20>9 [10 September 2013]

D. 8 (6% 0d9 [14 September 2013]

TG FEMTTN (536 TFis Orae (et Feawzs [The only

Bangladeshi to score double century in test cricket]

A. Sarge 23 [Asraful Islam]

B. sifim 294t [Tamim Igbal]

C. 3*frga afzs [Mushfiqur Rahim]

D. wtee e [Alok Kapali]
e Ry afsem?

constitutional organization?]

[Which omne is

A. @ A@aes *ife sfiem [Bangladesh Atomic
Energy Commission]
B. <wnme oigtebidteM @M% [Bangladesh

Privatization Board]

C. qiia= [fvaamst @S [Bangladesh Investment Board]
D. wieiw= f"4e sfiew [Bangladesh Election
Commuission]

82 4 F1¥ [The currency of Oman]

A. @& [Dollar] B. sz [Dirham]

C. f=am= [Rial] D. W= [Dinar]

FITSF A3 T 8 AWEF g2 Sivt St F@eA [The
first person who divided Economics into two parts:

Micro and Macro]
A srsi=1a & [Ragnar Frisch]

B =i 799 [Adam Smith]

C. &= ©@64 [John Dalton]

D. &« 1% &9 [John Menard Keynes]

A I i o T 8 T - R THAL (ATF T
sifEed ~Hei™ 3w 375 I e It =@ [The
Government of Pakistan was forced to release
Bangabandhu from the case titled 'State versus
Sheikh Mujibur Rahman and Others' on]

A. 33 ¢fgs Ssuvy [22 April 1968]

B. 33 ®9¥iF 5590 [22 January 1970]

C. 33 TG 3544 [22 March 1967]

D. 22 @@ S5ub [22 February 1969]

039 FAH &FH RO ATFIST ATHE (o7
[Which institution got the UNESCO Literacy
Award in 2013?

A. B9 SigHifE [Dhaka Ahsania Mission]

B. w1t =t @1¢ [Dhaka Education Board]

C. 3 [BRAC]

D. 1 w@eiterm [Ministry of Education]

=6 Bag WiIN' SPED (@ TNE YT e FA T

[The ceremony of 'Kathin Chibar Dan' 1s mainly
observed in]
A qeFITaces ©&1%ete [Northern Bengal ]

B. qie=mimae=ia wiEeeea [Southern Bengal]
C. TN=Ed A Wi sz weea [Garo tribal

area of Mymensingh]
D. #<%; o [Chittﬂgn}} Hill Tracts]

'‘ego’ TW-SEIHIRTE FJOX [The branch of
knowledge with which 'ego’ is linked]
A. v [Philosophy] B. wgaifse= [Psychology]
C. smief<et [Sociology] D. w9t [Anthropology]
‘9=’ €5 9 99 ['Thesaurus' is a kind of]
A. fey@1e [Encyclopedia]
B. {91915 &3 [research book]
C. 99iF99 [grammar]
D. wfeqi= [dictionary]
@ig=*=2 [Robespierre]
A. SIaESE @14<F [American author]
B. T=it=ia ¢ife=nl @@t [guerilla fighter of Spain]
C. vfted wfetel [cinema actor)
D. w51 {279 7ot [leader of French Revolution]

48. ‘I TOrEa (A2 WIEHIT WIer WiF (= '-Fiat 7= sihew
9% Ao FF gowv F1em? [Where is the Coffee

House mentioned in the song sung by Manna Dey
'Coffee Houser sei addata aj ar nei?]v
A. ¥991e@ [Kolkata] B. 2 [Mumbai]
C. ui=1@ [Dhakal] D. 9=t [Bangalore]

49. 2039 A FXCS @R JFFF ST S THET 7
[The country of Alice Munro, Nobel Laureate in

Literature, 2013]

A. g&qen [UK] B. 3&a8 [USA]

C. si=rel [Canada] D. wizGfeat [Australia]
50. IR GFICEAR A SEarEsao F19 AC?

A. ©. 3z =gigag [Dr. Muhammad Shahidullah]

B. *IT99q 9=« [Shamsur Rahman]

C. =i¥i-*i£ 39%% [Bhasha-Shahid Barkat]

D. =iy <sfa ifzes fe=itsm [Abdul Karim Sahityo Visharad]

Answer Keys: 1.A2D3.C 4D 5C 6B7D 8B

i ] B 12A 13.C 14B 15B 16B 17.D
18D 19C 20B 21.B 22.A 23.B 24 .A 25.A 26 A
27.C 28.A 29.C 30.B 31.A 32.D 33B 34B 35.B
36.D 37.B 38.C 39D 40.C 41.A 42D 43.A 44D
45.B46.D 47.D 48.A 49.C 50.B

Elective English

With reference to the passage given below answer
uestions 1-7:
ate in 1991, Zlata Flipovic, a ten-year old Bosnian girl
of mixed ethnic heritage, began keeping a diary, for two
years, through the destruction of her native Sarajevo and
an atmosphere of incessant fear, she wrote about the
mounting atrocities of a war she could not comprehend.
Having read Anne Frank's Diary of a Young Girl,
Zlata decided to imitate her role model by writing to an
imaginary friend, Mimmy, about the start of an ordinary
school year, piano lessons, and tennis. However, this
sheltered, peaceful life soon became balefully dramatic.
Rumours of war filtered in from Slovenia and Croatia,
and by the spring of 1992, Sarajevo was under siege.
Zlata's entries are filled with details about the hardships
of hiding in basement shelters; contending with shortage
of food, water, electricity, and fuel; and trying to
maintain a mien of normality while friends go into exile
and artillery shells shatter her apartment windows.
1. Zlata's diary covered of her life.
A. the entire period B. the infancy
C. a short period of her life
D. only her bitter experiences
2. Which word could best replace 'incessant’' in the

passage?
A. relentless B. intermittent
C. horrific D. dreadful

3. Zlata could not comprehend the atrocities of the
war because she was
A. quite safe B. too young to know the underlying
C. naive D. busy with studies.

4. From the passage we can understand that Zlata
was interested in
A. painting, music and sports
B. writing stories, music and sports
C. music and collecting informatin
D. music, sports and wnting about personal experience

5. Which of the following words could best replace
'‘balefully’ in the passage?
A. unusually
C. threateningly

6. 'A mien' here means
A. an appearance
C. a casual sense

B. personally
D. gradually

B. an undisturbed look
D. a genuine feeling

1. Zlata's diary was hlled with details.
A. 1maginary B. pleasant
C. dreadful D. realistic
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

UCC

Cleopatra's romantic and military
with Julius Caesar and Mark Antony made her a
prominent figure in history.
A. instincts, aggression B.lgaisnns, alliances
C. desire, skilF D. arraction, bravery
What is the meaning of 'convalesce’?
A. Recuperate B. Degrade
C. Regain consciousness D. Refapse
Choose the correct speﬂinﬁ.
A. Connesieur . Connoissure
C. Connoisseur D. Connoiesseur
"Life's ,!’ a tale / Told by an idiot full of sound
and fury,/ Signifying nothing.' Who said this?
A. angyLearg Y u}Jil.gHﬂnﬂet
C. Macbeth D. Othello
The expression "'to have an eye for'' means
A. to love. B. to have fascination
C. be enamoured of D. be a good judge
means to make fun of someone in a good
humured way.
A. Pun B. Banter
C. Satire D. Castigaion
"Bangladesh Biman — your home in the air" is
an example of
A. metaphor B. personification
C. simile D. hyperbole
The movie, including the previews,
two hours to watch.

B. takes

A. need
C. have required D. has fixed

The parade of ''Seven Deadly Sins" occurs in——.

about

A. Volpone B. Doctor Faustus
C. Everyman D. The merchant of Venice
Wars everybody, and their destructive

last for generations.

A. affects, effects B. effect, affect

C. affect, effects D. affect, effect

The lines, "All the world's a stage./And all the

men and women merely players." are taken from

A. Hamlet B. As You Like It
C. Othello D. Twelfth Night

Jashim's radical ideas were too
conservative tastes of his coworkers.

A. precise B. meticulous

C. traditional D. 1conoclastic

Hamida could appreciate the beauty of St.
Martin through the description of others.

A. vicariously B. innocuously

C. heedlessly D. symbolically

When the ladder , he grabbed me to
save ]
A. began, to fall, him

B. was beginning, to fall, himself
C. begun, to fall, himself

D. begins, to fall, them
I can hear the bell
the door.

for the

, but nobody seems

A. ringing, to came, to open

B. ring, coming, to open

C. ring, come, for opening

D. ringing, to be coming, to open

Choose the correct sentence.

A. That was I whom you saw yesterday.

B. That was me whom you have seen yesterday
C. That was me whom you saw yesterday

D. That 1s I whom you have seen yesterday.
Choose the correct sentence.

A. If I were him, I should not accept the proposal.
B. If I were he, I would not accept the proposal.
C. If I was him, I should accept the proposal.

D. If I were him, I could not accept the proposal.

25.

Choose the correct sentence.

A. Tlliteracy of a person means he cannot read or write.
B.1lliteracy is when a person cannot read or write.

C. A person's illiteracy 1s incapable of reading or wrting.

D. Illiteracy 1s the condition who cannot read or write.

Answer Keys: I D2 A 3B 4D 5C 6.A 7C
9A 10.C TI.C 12B 13.C 14.C 15B 16.B

18.B 19.D 20D 21.A22D 23 A24B25A

8.B
17.C

GBIl R _RwET Rod3-20>39

01.

02.

03.

04.

05.

06.

07.

08.

A S I

(G- R)

General English
Answer questions 1-6 based on the following passage.

There are some qualities of a sonnet which make it
different from verse forms. Its definite restrictions
make 1t a challenge to the artistry of the poet and call
for all the technical skills at the poet’s command. The
more or less set rthyme patterns occurring regularly
within the short space of fourteen lines afford a
pleasant effect on the ear of the reader, and can create
truly musical effects. The ngdity of the form
precludes too great economy or too great prodigality of
words. Emphasis 1s placed on exactness and perfection
of expression. The brevity of form favours
concentrated expression of 1deas or passion.

The word ‘brevity’ means -

A. shortness B. freedom

C. conciseness D. permanence

What characteristic of a sonnet can create
musical effects?

A. form B. regular rhyme patterns

C. suitable words D. verse form

The author’s primary purpose is to

A. 1dentify the characteristics of a sonnet

B. contrast different types of sonnets

C. criticize the limitations of the sonnet

D. teach readers to compose proper sonnets.

The word ‘afford’ means -

A_exaggerate B. charge C. able to pay D. provide
The author’s attitude towards the sonnet form
can be best described as one of

A. strong disapprobation  B. effusive enthusiasm
C. scholarly appreciation D. amused toleration
The adjective of ‘rigidity’ is -

A.rigor B.rnigid C.rigorous D.rigidness

It was so dark that the security guard could not

A1 1 320

see ——,
A.nobody B. somebody C. anyone D. none
Choose the correct sentence.

A. The children were delighted by the monkeys
swinging through the trees.

B. Swinging of the monkeys through the trees, the
children were delighted.

C. The monkeys swinging through the trees, the
children were delighted.

D. Because the monkeys swinging through the trees,

the children were delighted.
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the rain, the cricket match was not cancelled.

A. Due to B. Although

C. Despite of D. In spite of

The proposal was tentative means, the proposal

was
A. conclusive

C. definite

B. indefinite
D. timely

is it difficult —— dispose waste?
A. Where, to, for B. When, for, such
C. Why, with, in D. Why, to, of

If T had not intervened at the right moment, Jim
arrested.

A. may have been B. can have been

C. might have been D. could have
The antonym of ‘dormant’ is ——

A. latent B. active C. sluggish
The synonym of ‘pandemonium’ is ——,
A.order B.calm C. commotion D. peace

1s considered a serious crime.
A. Shoplift B. To shoplifting

C. Shoplifter D. Shoplifting

D. torpid

resigned, we would have been forced to sack him.
A. Had he not B. He had
C. Has he D. If he has not

The word “amenable” means .
A. moveable B. durable

C. agreeable D. answerable
Frequent badly academic progress.
A. closure, affect B. closures, effects
C. closures, affects D. closures, affect
The antonym of ‘blasphemous’ is ——

A. irreverent B. respectful

C. ngid D. frivolous

Some of my relafives have left— Canada—to find jobs.

B. for, desire
D. for, hoping

A. to, expectation
C. at, wishing

I'd a blue bedcover a green one.

A. prefer, to B. like, to

C. prefer, for D. buy, in

What do you is the cause of air 74

A. say, chief, pollution  B. consider, primary, scarcity
C. think, main, pollution D. count, only, filth

Jerry said, “I the axe L

A. put down, slow  B. brought down, carelessly
C. took away, now  D. hit over, powerfully

In “I Wondered Lonely As a Cloud”
Wordsworth compares the daffodils with a
A. the stars of the milky way B. the waves

C. the trees D. the milky way
Choose the English translation of “Gie & 37
T =i TS cARfET 1

A. Fortunately I could get into the next bus.

B. Fortunately I management the next bus.

C. Luckily I entered the next bus.

D. Luckily I rode the next bus.

Answer Keys: 01.C 02.B 03. A 04.D 05.C
06.B07.C 08.A 09.D10.B 11.D 12.C 13.
B 14.C 15.D 16. A 17.C 18.D 19.B 20.D

21.A 22.C23.B 24. A 25 A

01.

02

03.

04

05.

06.

07.

08.

09.

10.

11

13.

14.

15.

16.

ezt
&I 516 Borpsf A IRAN 8 oW [weFs] Ten owu
Tt T?

A 9 /M, B. 9, wi#, &, =t
C.3 3, &, = D. ©4, fa, fa, =
The girl 1s possessed.- 97 IYTY JIE NFIM-
A. G wregg! B. Tt catsias
C. @ [rwas D. craft weifas

‘e W 7, 9] 72 R wimee Te-fFg seaE
T 10-

A5 B.wba C. @< D. Age

‘g TEETE - FEOE AAF-HARISET @D F
Hgeq Tl TLAR?

A. TR T B. Wi fgel

C. e Spad D. W fagfe

‘anticipation’ *It3= Il AAfvera

A s B.wem Codsfoea D, s@w=
‘CSTTHR TENA F(oF (90T -(F GF*IH (A

A. FeEwa B, Affesa C. Afasd D, #faam=

‘ZIE I A1 Core eretn’ -sifafEe e

A. TEIErgEl gl B. Fgaisaal

C. A6 =gt D. $9% 2hY

= 1= ‘7" [3-=1] Bfos A sty (FRG?

A.37 B. s C. €99 D. 5
gl 1w fAres wogwer I 99 °F fAweas
ASFS! (T (@AY~ wiwers g fweedt
IS F2 |- IFIBrS Aot 8 [Feetae witg adfem

A. 51E% 8 A5 B. 415 ¢ =3
C. =3(© 8 #Hre® D. =6 ¢ W5
‘ot -7 oS ==

A gifi B.gedi C. gifaw| D, ane

i o IRgs @ =t

A = MR I B. AT @RITS

C. 7BTa AR ST D. T4 f<@E

A. TfETe AfS TEEe SuEs Seard

B. sferwa dife wigma va g

C. ¥3&9 e i+ *a IRl I

D. Tl tefam wifig siem

‘Tt oF e’ sEen e o’ Ft faca cam?

A. FAFIF S B. 973 el

C. & «irere<i D. aa-eTet
‘Fferain MR’ @ AN GAIMR APSAR SSFiEa A9y
L ob U IERREY

A T *P{-=igt B. & SERR TNE
C. 21 41 gieq D. sfel =6
TFI0 A6 *%?

A. StFEN B. &%

C. atere D. &=y

T *eTRs I AT5F?

A. (sifes, 3, eer=t

B. Fzeatll, &, =i
C. 94io, aresifeam=, aSibt

D. ¢oit2 =i, ceitge, afewifret
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"sie' - =G 1 ey sifes?

A gem B.sam  C. A& D. St
IEIE TieE Swigzd

A vimmm B. e C.owitima D, wises
AT 1

A 1] B.w3gew C. &2 D. A=

"STITS IFAt AfRTS AifYE @, St F T -F TFS
AT TATS FHTEA?

A. FTESE B. &g cofrifet

C. 395-@4% D. sif=w=

TGN A, TR 8 NEE (AT TS ==

A. @S, T*F, (o B. =&, =i, s
C. WB[Ee, (5ITal, (FrFs D. 18, TWEE, T*IE
fge’-9z s *=
A TFe B
Ao o5 %

C.¥gd  D.=bl

A. 9% + ufgs = effgs B. 98 + Qo = 93

C. *I%8 + 59 = *H0 D. 9 + %7 = 797

TS (7 ICAT TS AHICS FHEIWA Ged 7197 3909
TS SAF I© 6 1919 S5 F FAR?

A. #<90R B. #f5aatad

C. Sogard D. wiEei_rere
FIET FESE I g FA1?

A. TEHA sEetE B. femt Sfeam<re!

C. wifsai= g iz D. 90T FSIEd Nl
Answer Keys: 1.C2D3.C4A5C6ATDS8BSD
10B 11.B 12.D 13.D 14B 15.A 16.B 17.A 18.C
19.B 20.C 21.A 22.B 23.C24.D 25.C

RIKIERRG

2052 TEFHF o WP IRATTN IS
FifRedtFitas w1 [Choreographer of Bangladeshi
origin in 2012 Olympic Games]

A. A W [Salman Khan]
B. wifs 903 [Danny Boyle]
C. wiea 419 [Akram Khan]
D. Ta&a 419 [Mohan Khan]
q A (FEH AR wweel Fedw 9 Tww weriS
wig=t [According to Forbes Magazine, the most
powerful women this year]

A. fzaidt =6+ [Hilary Clinton]

B. i «itst [Sonia Gandhi]

C. @tz 9«3 [Angela Markel |

D. far== @3 [Michele Obama]

SN Feiit fFrdtes [Wrote the poem ‘ Asmani’]
A. TEefws wE-wrev [Alauddin Al-Azad]

B. =is#e 91z« [Shamsur Rahman |

C. emeqa« [Jasimuddin]

D. F& 7e@a 259 [Kazi Nazrul Islam]

FRFTWCNR AT fFeEE [pe g I JT1Est il
[Will provide support for the first nuclear electricity
plant in Bangladesh]

A. =@ [India] B. w=raf*@i [Malaysia]
C. qif*= [Russia] D. &= [Japan]

iz RERTS ¢dfSte® ©. 333= weorg «119- [The name of
the party of newly elected President Dr. Mursi]|

A. P59 % (ereer+tr s [Justice and Development Party]

B. @ & 4 [A K P]

C. 3fem gwisge [Muslim Brotherhood]
D. 912 #if6 [Bath Party]

10.

11.

13.

14.

15.

JieEra e =HFAEE Wieny’ = i oF 1990
Zest? [During Muslim rule in Nengal ‘Abwab’
was used in the field of]

A. 74t [River] B. =% [Water]

C. <&t [Tax] D. wf¥ [Land]

©a? (DAE) IR=t J5=iEs 9 {55 7gi? [What
kind of organization of the Bangladesh

government is DAE?]
A. €3¢ [Drug] B. 93 [Agriculture]

C. 7=t [Education] D. =51@e [Dramal

T (e &Y Y 979 -99 754t =47 [The origin of
Arab Spring’]

A. wirerceEaat [Algeria] B. feef=at [Tunisia]

C. fi7 [Egypt] D. feifeat [Libya]

W HAIT HoCF (T ANEAT Gl FEAAAI SIS (S (AT T
[The year, Aumg Sung Suchi was awarded

Congressional Gold Medal]
A. 20019 [2007] B. 200 [2008]

C. 2005 [2009] D. 2053 [2012]

OAS @M wwrma o AfF® @o? [QAS is the
alliance for the region of]

A. wel-#id gf*ai [East Asia]

B. %&g wivan6< [North Atlantic]

C. ==t 7=t [African Continent]

D. wiizafa=et @#3= [American region]

FeaoreR T ST st i ST A
[The religion of Tnpura indigenous group of Bangladesh]
A. 7393 <3 [Vaishnavism]

B. 29 & [Hinduism]

C. @& 3 [Buddism]

D. &2 «3f [Christianity]

TS SifeATa TP 4759 @S I’ [The winner
of UN Equator award]

A. 999F AwIf #1¢ [Bangabandhu Safari Park]

B. pafe W&y [Chunati Reserved Forest]

C. 3%%99 [The Sundarbans]

D. sgiers Wy 7@e [Cox’s Bazar Sea Beach]
T2l FTAH FTF WIRAFS 7wFw [Gas field recently
discovered by BAPEX]

A. Fiteeea 2f9sia s [Haripur gas field in Sylhet]
B. v 3% =i9cFa [Sangu gas field in Chittagong]
C. aEa Jwa+a sicsa [Sundalpur gas field in
Noakhali]

D. it Si<ei2a siyeiesa [Srikail gas field in Comilla]
JATACR Aagat et wifesgm 3w e [UN's
verdict given on Bangladesh’s Maritime boundary]
A. 38 M6 3033 [14 March 2012]

B. 38 G 305 [14 May 2012]

C. 53 G 3053 [12 May 2012]

D. 38 @fére 2033 [14 April 2012]

BN SISAIFIA AT ACSIGIA wiF NG JHIIFT FCRA
[Astronaut Neil Armstrong died on]

A. 3¢ =95 2032 [25 August 2012]

B. 2¢ T7112 3053 [25 July 2012]

C. x¢ si9aifa 2052 [25 January 2012]

D. 3 g9 2033 [26 June 2012]
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16.

17.

18.

19.

20.

21.

23.

24.

25.

26.

27.

UcCC

AW qEH WiEA ATHN RS WS (Fiq AFE?
[‘Legislation to stop boycott of Parliament,
‘advocated by]

A. g9 71tF [Grameen Bank]

B. wi==ifi@@ S+ [The Human Rights Commission]

C. s [ACC]

D. fowi2fd [TIB]

wigeres fPrFs Waw < =@ [International

Teachers’ Day 1s observed on]
A. ¢ CT694 [5 September]

B. 3¢ @5« [15 September]

C. ¢ 53199 [5 October]

D. s¢ =it8aq [15 October]

03 AA FHEA ¥ v I@ [Carbon Tax 2012
introduced by]

A. g=33 [the United States] B. 3ifem [Brazil]

C. st [Australia] D. &% [Japan]

W O I FACWES (STANA Wpe 7@ [16" NAM
Conference held in Tehran]

A. @ W [in May] B. =12 W6 [in July]

C. =155 e [in August]

D. @164 [in September]

210 H16 2jer w9 [Not an internet search engine]
A. &= [Google]

B. wsi##=1 [Dogpile]

C. w=161 f&161 [Alta Vista]

D. $51ae0 «HeAiwE [Internet Explorer]

AWiere “iFasea ©otwie 718 [Not an element of social

changes]
A. Fgr= [industrialization] B. ™= [education]

C. 799139 [urbanmization] D. 993[ [residence]
<16 =R A7 Tt (T 2 s 71 wrifecme [Willing
to take labour from Bangladesh after five years]

A. ¢l W9 [Saudi Arabia]

B. s [Kuwait]

C. W=tz [Malaysia]

D. =957 [Singapore]

(TRIRA (FILA AW TG0 Bfe FAMfS v F¢a [First
introduced satellite TV service through mobile phone]
A. wei 9 [Japan] B. =42 [USA]

C. wi#d @ifaat [South Korea] D. 5 [China]

@ o ETEE RS efeas Soartt &gt Iaee [Has
taken initiative to celebrate ‘Bangladesh Day’]

A. ©i9e [India] B. ¢wi¥=51S [The Netherlands]

C. W=t [Malaysia] D. ce=wiis [Denmark]

‘wwg *41’-F ItEea? [‘Knowledge is virtue’-who
said this?]

A. ¢2¢1 [Plato] B. q=559 [Aristotle]

C. sit@ 57 [Socrates] D. ztsi=t [Hegel]
fetg=f3 ==o = itx T=? [The term PSC relates to]
A. 1A S5 [gas exploration]

B. ¥991 @@ [coal extraction]

C. fare S+ [electricity generation]

D. 7mia #fif« @isireif [water sharing of river]

SISt (iAo 9 fFsM? [Largest division in area]

A. siet [Dhaka] B. sterii® [Rajshahi]

C. v8aw [Chittagong] D. 3f@=i1 [Barisal]

28.

29

30.

31.

32

33.

34

3

36.

37.

38.

‘s’ wos6 fficdtes [The play ‘Nimajjan’ was
written by]

A. =FE 9iztav [Humayun Ahmed]

B. 3% wiizem [Sayeed Ahmed]

C. cifem == wiw [Selim Al Deen]

D. sR@R S# 9= [Abdullah Al Mamun]

g I WEEIes FrEast M &feeiws faEm [This
year’s main theme of the International Literacy Day]
A. ~fife= &= =ar$aet [Literacy for Peace]

B. ©7at® &0 et [Literacy for Development]

C. sierotaq &= A%<l [Literacy for Democracy]

D. W=geiq &+ el [Literacy for Humanity]
/T I e I’ RewF catfes [UNESCO
declared “World Heritage’]

A. &% IM9a [National Museum]

B. s (@is<a9 [Baitul Mukarram]

C. 3f5 =ig% "=ifem [Sixty Domed Mosque]

D. =iz sfg [ Ahsan Manjil]

oY SuWE Rl It Tv wifie wgte zeme?
[Fourth OIC special meeting was held on]
A. 38-3¢ TI51% 203 [14-15 August 2012]
B. Y0-5% WI%76 032 [10-11 August 2012]
C. -9 G699 2052 [2-3 September 2012]

D. 3¢ IR 2053 [25-26 July 2012]
JEACICR AN ¥R AIF Fie Tr @ g [First
medicine park of Bangladesh is being established in]
A. ¥791 [Khulna] B. #req [Savar]

C. stenfeat [Gajaria] D. ©5%i [Bhaluka]
& J (TS (57 F@F [Avra key-board was made by]
A. iz 7= [Mehedi Hasan]

B. 37w &% 4@ [Muhammad Zafar Igbal]

C. we9a 9i=9 [Maksudul Alam]

D. <@ wfiesEm  sitasdl (% [Bangladesh
Computer Research Centre]
F-AROTF TAPA WREa FIC*[" vaooas wiw [The
last film of Humayun Ahmed]

A. 949 gr@ld [Common Gender]

B. #t@e (rge e [Sraban Megher Dine]

C. s =7tz [Nandita Narake]

D. ¢<5#@ %= [Ghetuputra Kamala]

Tt & &R w3fge? [Moshaldanga
enclave 1s 1n]

A. =ifEm==zie [Lalmonirhat]
B. $fedm™ [Kurigram)
C. =&+ [Dinajpur’
D. #imre [Panchagar]
‘g T F? [What is ‘Blue House™?]

A. #iitss w9 [Concern Group]

B. ==id wi=w [Orphanage]

C. vRiz 259a [Glasshouse for Plants]

D. caifaa wi@+ife &= [President’s Palace in Korea]

SRrey AW RmEeE 8sisiE [Vice-Chancellor of
the University of Nalanda of India]

A. SW$] (37 [Amarta Sen]

B. ooy famiiead [Satischandra Vidyabhushan]

C. i@ [Shreenivas]

D. <@ 9<[ [Pavitra Sarkar]

3038 FCA €T Fiot FoIa (A (T MO OO TA
[World Cup Football Games 2014 will be held in]
A. wie ol [Argentina]  B. 2wife [Italy]

C. sl [Germany] D. gife™ [Brazil]
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39.

40.

41.

42

43.

44.

45.

46.

47.

48.

49.

50.

UCC

‘TSl @3 ST [‘Mesta’ is one kind of]

A. 419 [Paddy] B. =19 [Tobacco]

C. weit [Cotton] D. =% [Jute]

=1-7 391 W [Ghana’s currency is called]

A. 289 [Yuan] B. if® [Sedi]

C. 93« [Tuan] D. 9= [Pula]

o= === e, /g F9s=2 5wy 78 [Was a British
colony, but not a member of Commonwealth]

A. areif@ [Mozambique] B. #fife®« [Pakistan]

C. Q1z=129 [Bahrain] D. s¢ [Jordan]
2032 A FF (7 YT IC TFET ST+ Farsie
Taaer? [Struck by a severe earthquake 1n 2012]

A. et [Indonesia]  B. 29 [Iran]

C. wieisaiseia [Azerbaijan] D. 2wife [Italy]

HitaaFE WAy @es wva wge® T [American
president election will be held on]

A. L ¥SRF 2032 [6 November 2012]

B. Yo 9te5q 2032 [10 November 2012]

C. 0 o589 2033 [20 November 2012]

D. o [®a 2052 [10 December 2012]

SRR Fosifa THRED0 ATITIT &0 AT (F 07
[Suitable for fast wireless internet connection]

A. (9GS [Facebook]  B. smizwi® [WIMAX]

C. 3%ai® [Broadband] D. 5269 [Twitter]
FreEaceE fEfof-cs $RTss wawiw [The contribution
of the agricultural sector to Bangladesh GDP]

A % [18%] B. 5% [10%]

C. 3% [16%] D. 3% [21%]

I I (e ©[7 [ Akan is the language of]

A. &= [Benin] B. 9=t [Ghana]

C. i o8 [Gini Bisau]
AF MY FAowaE (@ [FEah @i g o 7 [The
subject cannot be discussed at SAARC summit]

A. 318 B3+ [Agricultural Development]

B. f=fif<s s13=1 [Bilateral Problems]

C. =714 qifden [Open Trade]

D. siegfes faw [Cultural Affairs]

FRATICHT 0d-030 TR Bt 8 JFfE 4its ITam
[The amount of money allocated for the Education
and Technology sector of the 2012-2013 fiscal

years of Bangladesh]

A 2033y [23916 Crore]
B. 309 &6 [20316 Crore]
C. 35395 &6 [19271 Crore]
D. 3238¢ =6 [22145 Crore]
“Rgee T-REe 7 *vwmE s wie=? [The
traveller Fa Hien came to Bengal during the reign of]
A. fasm vged [2™ Chandragupta]

B. wIEiewmi= @i =g [Alauddin Hussain Shah]

C. @43 57e¢ [1¥ Chandragupta]

D. =54« [Harsavardhan]

Fo 3o 2enes G+ 2% em @iy gif+e
1?7 [The Bntish East India Company was
established 1n]

A. dvoo [1600] B. sued [1651]

C. >aeq [1757] D. svev [1658]

Answer Keys: 1.C 2.C 3.C 4C 5C 6.C7.B 8B
9B 10D 11.B 12B 13D 14.A 15.A 16.D 17.C
18.C 19.C 20.D 21.D 22.C 23.A24.C 25.A 26.A
27.C 28.C 29.A 30.C 31.A 32.C 33.A 34D 35B

36.D 37.A 38.D39D 40.B 41.D 42 A 43.A 44B
45.A 46.B 47.B 48.D 49.A 50.A

D. i f1e7 [Sierra Leone]

Elective English

(Answer each question choosing the best option)
Answer questions 1-7 with reference to the following
passage.

The engraver, painter and point William Blake (1757-
1827) was one of the most extraordinary figures of the
Romantic period. As a child he claimed to have seen a
tree filled with angels, 'bespangling every bough like
stars'. Blake went on to develop an intensely personal art
which drew upon a range of literary, mythical and
biblical sources to expound a unique and mysterious
vision. Born in London, Blake was first apprenticed to an
engraver. And next, Blake made studies of London
churches before studying briefly at the Royal Academy
Schools. Here, however, he was not interested in painting
in oil, neither was he concerned with the academic work
of Sir Joshua Reynolds or what the academy stood for. A
supporter of the French and the American revolutions,
Blake turned his back on organized religion, believing
that only arists were in touch with divine inspiration. In
every way, Blake was an archetypal Romantic-
individualistic, solitary, and out of step with the rational
thinking that had become so influential in the second part
of the 18" century. Imagination and creative process
were what interested him; his art was a means to express
the very intense nature of his revelatory experiences.
1. The word 'archetypal’ means

A. most typical B. common

C. extraordinary D. out of the way

2. 'out of step’ means i
A. lag behind B. fed up
C. devoid of D. not conforming
3. Blake's art was an example of experience.
A. visual B. religious
C. troubled D. highly subjective

4. The later part of 18" century was characterized by-
A. romanticism B. intense love for nature
C. reason and logic D. love for religion
5. Which sentence is most applicable to Blake?
A. Blake had a strange way of life
B. Blake had diverse interests
C. Blake studied an extraordinary form of art
D. Blake was a solitary man
6. Blake was angels in trees as a child because-
A. he was often drugged

B. he was in love with nture
C. he was a visionary
D. angels were in the paintings
7. How did Blake view religion?
A. He did not believe in God and religion.
B. For Blake religion was a matter of inner feeling.
C. He believed religion was determined by the church.
D. Blake was a strict follower of the English church.
8. Choose the correct sentence.
A. 1like to swim, playing tennis, and ride.
B. I like swimming, play tennis, and ride.
C. 1like to swim, play tennis, and riding.
D. I like to swim, play tennis, and nde.
9. The Shakespearean phrase 'green-eyed monster’

refers to .
A. lust B. jealousy
C. greed D. ambition
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

25.

UCC

The underlined part in "She felt it was taking a
hundred years to complete the exam." is an

example of-
A. asimile B. an understatement
C. a symbol D. a hyperbole

What is the antonym of 'evanescent'?

A. intelligent B. relevant

C. transient D. permanent
Choose the correct spelling.

A. heterogenious B. hetrogeneous
C. heterogeneous D. hetarogineous

William Wordsworth collaborated with
publish The Lyricul Ballads.
A. Coleridge B. Shelley

C. Tennyson D. Keats
Drama originated in the ancient Greece in the 5"

to

century as a religious rite to worship
A. Zeus B. Dionysus
C. Cupid D. Apollo

The word 'cartogrphy’ relates to

A. the process of making maps.

B. the study of drawing cartoons.

C. the science of carving.

D. the study of carts.

"I am a Jew Heath not a Jew eyes? hath not a
Jew hands, organs .... ?"' Where is this from?

A. King Lear B. The Merchant of Venice
C. The Jew of Malta D. Volpone

Stating someone else's ideas as one's own without

acknowledging the source can be termed as
A. plagiarism B. aphorism

C. nepotism D. pasting
Belief in one God is .
A. atheism B. deism

C. monotheism D. polytheism

"My love is like a red, red rose'' is an example of
a '
A. metaphor B. simile

C. metonymy D. synecdoche
Choose the correct sentence.

A. Neither the students nor their teacher were present.
B. Neither the students nor his teachers were present.
C. Netther the students nor their teacher was present.
D. Neither the students or their teachers were present.

I a new house last year, but I
old house yet.

A. have bought, have not sold B. bought, did not sell
C. bought, sold D. bought, have not sold

If somebody is crestfallen, he/she is :

my

A. dejected B. imjured

C. insulted D. humiliated
'A black leg' is a person who-

A. 1s black

B. 1s quarrelsome
C. works when his/ her colleagues are on strike
D. 1s unpopular

The boys used to like and — model aeroplanes.
A. making, flying B. to making, to flying

C. make, fly D. to make, to flying

The word 'apparent’ is a/an .

A. noun B. adjective

C. adverb D. verb

Answer Keys: 1.A 2D 3D 4A 5B 6C 7C
8D 9B 10D 11.D 12C 13.A 14B 15A 16B
17.A 18C 19.C 20D21.D22.A 23.C24. A 25.B

A S T01

i YR weg 0dd-203

(G- 3)
General English

A1 : 320

(Answer each question by choosing the best option.)

Answer questions 1-8 based on the following passage.
Making judgements about people 1s a common feature of
everyday life. We are continually evaluating what others

say and do, in comments called for or not, offering

criticism and

feedback informally to friends and

colleagues about their behaviour. Formal, institutional
judgements figure prominently in our lives too. For

example:

driving tests, survive the

people pass

probationary period in a new job, get promotions at work,
succeed at interviews, win Oscars for performances in a
film, win medals in driving competitions, and are
released from prison for good behaviour.

1.

10.

11.

13.
14.

15.
16.

17.

"evaluating" means
A. recalling

C. assessing

"called for" refers to .
A. asked for B. followed

C. begged for D. summoned
"feedback' stands for A

A. encouragement B. opinion

C. entertainment D. help

The term "'institutional judgements'' means .
A. official judgements B. set judgements

C. stereotyped judgements D. judging institutions

B. tasting
D. balancing

In the passage we get mainly types of
Judgements.

A. two B. three

C. four D. seven

According to the passage judgements are
A. seldom made B. frequently made
C. rarely made D. discouraged

"figure" stands for

A. shape B. number

C. occur D. picture

"the probationary period" is the—— period.
A. learning B. trial

C. leave D. service

Which pair of words is synonymous?

A. waste, trash B. reduce, rubbish
C. recycle, destroy D. conserve, consume
"Contaminate'' means —.

A. purify B. pollute

C. corruption D. think

Choose the correct sentence.

A. His hairs are not straight and curly

B. His hair 1s not straight but curly

C. His hairs are straight and curly

D. His hairs are not straight but curly

The man down silently and his food.
A. sits, took B. sat, take

C. sat, had taken D. sat, took

'Niche' means

A. surface B. centre C. edge D. hollow

Camping
entertainment.
A. site, for B. sight, in C. sites, for D. sites, at

She took me — the hand, and led me — the dais.
A. at, over B.1n, on C.on, from D. by, to

usually provide facilities

—— there any nursing schools Chittagong?
A.Is, at B. Are, on

C. Was, in D. Are, in

Where all the boys ?

A. has, gone B. have, gone

C. did, went D. does, go
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18.

19.

20.

21.
22.

23.

24.

25.

10.

11.

12.

13.

UCC

The players are tired nervous.
A. very, but B. neither, or
C. either, or D. either, nor

In Shelley's ""Ozymandias" 'frown' and ‘sneer of
cold command’ are seen on ;
A. the pedestal of the statue B. desert sand

C. two trunkless legs D. shattered visage

The Taj Mahal is a/an monument of the

century.
A. Indian, 18™ B. Indian, 16™
C. Moghal, 17" D. Moghal, 15"

The word 'substantiate’ is a/an

A.verb  B. adjective C.noun D. adverb
He got a of land —— his village.

A. lease, on B. slice, into

C. plot, through D. lease, in

One of the of globalization is cultural .

A. effect, shock B. affects, surprise
C. effects, assault D. effect, confusion
The team is disqualified, ?

A 1sn't it B. wasn't it

C. hasn't it D. doesn't it

Choose the English translation of- 3% & 2t
A. Have you gone to Kuakata?

B. Have you ever gone Kuakata?

C. Have you ever been to Kuakata?

D. Did you ever go to Kuakata?

Answer Keys: 1.C 2A 3B 4C 5A 6B 7.C 3B
9A 10B 11.B 12D 13D 14C 15.D 16D 17.B
18.C 19.D 20.C 21.A 22D 23.C24.A 25.C

N
RS w=F witEs-
A wiffes B wani C. =6 D. Srm=i
T -9 FALF -
A fFrdiy  B. =M C.@33 D._dife=
& *=t 9% {yiag Faes 2Em?
A.fasz B.=3d C.sH  D.38
e’ o g Fresife fAoI-
A.7w9F B, =9t C.sws4 D. 5

‘orifFee AR o dfRens T wiw et
FaFre fNat a=mem T ors g sEageid 9
TUTg FEITEA AT || IWIOC AT ARTI-

A. - B.=3m C. 3isf5 D. w5

B et TITR’ IFTBCe @i faam I371%-

A M wd B. e wd  C. serRe wed D. @ wied
I cannot spare a moment- IFHT IATL IHIFTIM-

A. 9T ¢ 158 970 Fare AMfg =1 |

B. S 1ged %G (712 |

C. Siia e 79 (712 |

D. s O3 fom w3 foe 1

ESIER UL IC T4 -8

A. e Atae w5 B. fat=d a7

C. A7 7t7a &l D. @t #itag &9

(I FHA1D FAEF-AELATeS APBTS Ao 7-

A. 9T @ B. ifzgey 4=

C. @30 voiil itz =ifzar  D. Jfmiw wemia

=fe'7 oIS *=-

A. M B. A C. 3331 D. w5

‘@R AN 29w S R i it e [ieE

S wWit?

A. - B. #wi-sad
C. s=i-7 7! D. si=-==
JeEd AT I R I Iremn?

A 9R gea B. go@ 974@ C. 93037 A2 D. 34 Il
(T Tt om?
A. AN o@d B gl I C. Ml B2 D, =gy

14.

15.

16.

17.

18.

19.

20.

21.

22

23.

24

25.

U

‘Fret T 9 @i’ JInAow Id-

A. I3 THF T ItA 98 B. @i+ mify
C. e SRS D. 7g7 (@R=eiie
wHate o5 =1=-

A. Sfe+Sigs = Teifys

B. 5fii+ TeAS = w5ieiS
C. e + =Wl = e

D. 59+ 9% = 59

FIOTRT I3 o -

A. #RMA &= B. Wi SR g9

C. wivifaret sitaa gem = D. St
ST 06T (-

A. @9 B. f=sit C.tzw€l D. *5ee
BT *I% (FI0?

A.¥5 B.¥® C.gam D. 3=
‘Sifer qrR W 7 [ @ I - & T
I I

A. 7w  B. 2R C.%fsa  D. iwitEd
GZHFIZS (T T -

A. g3 B. wrfaa C.vderet D, i<
B e, "Gt #HiR | I

A. w65 B. @= C.ssa D. 7 gs
Deadlock-a= Fi=1

A. SRR B. &

C. W5 D. Jgioiaral
SIS *ITT T’ IS B Wits (46 -
A. ISR G, 99 B. qrsif® 73, 15

C. 9w, f&1p D. s, ¢oui
‘g’ o P8 sfers wel-

A. @@ B. & C.&=ssmw D, @™

0 wF?

A. Fat=w  B. Fiaiezm C. Fratean D, Fatezm

Answer Keys: 1.D 2B 3.C 4C 5D 6D 7.C 8D

9B 10A 11.B 12B 13D 14.C 15D 16D 17.A

18.A 19D 20D 21.B 22.C 23 A24C 25.A
A S8

e @fFte® e [EE T S (T [/E @F

[Egyptian President Hosni Mubarak resigned on]

A. T&FTR 4, 055 [February 7, 2011]

B. TagTifd 5, 200 [February 9, 2011]

C. Falfd 33, 2053 [February 11, 2011]

D. tw=raifa 38, 203 [February 14, 2011]

W wiffed @fFees eI e | A g9 carEen

FE9 [President Obama declared the death of

Osama bin Laden on]

A TS, 2085 [May 1, 2011] B. @9, 2035 [May 3, 2011]

C.W@e, 208 [May 5,2011] D. @y, 208 [May 6, 2011]

=T 99 @ FF FA26TCT v T (FAF TO1 I AL

[Who killed 76 people in two attacks in Norwary?]

A. =itH B2 «ipTig [Anders William Assange]

B. w13 #iei| 2129 [Md. Nasser Hussain]

C. wity @fee @2fes [Anders Behring Breivik]

D. =ity =lifse apiEe [Anders Shamil Basayev]

TIACHIR (T (e (it 7y at 71wwm @2? [The

Middle East country which has no Constitution

or Parliament]
A. 3a® [Iraq] B. 29 [Iran]

C. 77w we3 [Saudi Arabia] D. €%+ [Oman]

Tife JEitEn (@ M@ AW wEE gerits z@? [In
which town of England a riot first occur recently?]
A. W55 [Manchester] B. &% [Bristol]

C. st fieamss [West Midlands]

D. Stz [Tottenham]

‘ot w1 et w1wgs? [In which
country do we find 'Bangladesh Square'?]

A. ©iqt@ [India] B. 211t [Iran]

C. sifgrafaary [Nigeria] D. gwifeice [Italy]
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gl G @FF 7 4390 Iacea? [Why did Anna
Hazare call hunger strike?]

A. 9f$= @Iioe [poverty alleviation]

B. 75 «f$¥t [establish good governance]

C. w#iif® w4 [restrain corruption]

D. si<r'e¥ =1 [preserve democracy]

@ ©E (4F Education *=ie3 ©<ife zwmg? [The

word Education originated from the lanﬁuage]
A. g [Greek] B. w41 [French]

C. &« [German] D. =iif&s [Latin]
SIATS AYFTH AR IR T @ {70 5
zaf [Area on which no agreement was signed
during Indian Prime Minister Manmohan's visit
to Bangladesh]
A. w23 (vif*iie 9¢iW [Tax-free export of garments]
B. 2¢o cueitazie e wmife
[Import of 250 MW electricity
C. v 8 TSR (RS 3 FRfTet
[Dhaka University and Jawaharlal Nehru
University Cooperation]
D. =9 99 [Save the tigers]
2-v f%? [What is E-87?]
A AR querEr vt
[environment polluting 8 countries]|
B. #jf4<iw 51919 v vl [world's poor 8 countries]
C. 9fadiw 44l v (7= [world's rich 8 countries]
D. itgige 6 @ [industrially developed 8 countries]
AT TSI =71 5?7 [What is the number
of female ministers in B desh at present?]
A. *@ [nine] B. @6 [eight] C. 3ire [seven] D. =¥ [six]
5125 ¢35 [Time is the name of a]
A. AES [magazine] B. &% [book]
C. s@m~@ [newspaper] D. f6fe <99 [TV programme]
WA IFT FSAR BT 9 ? [How many
times did Rabindranath Tagore visit Dhaka?]
A. 93 [one] B. %2 [two] C. fo4 [three] D. 513 [four]

e APH FIAES AeTwes AW [The name of
the newly discovered gas field in Bangladesh]

A. 7@ [Sunetra] B. Feereal [Sangovalley]

C. fafemrt [Bibiana] D. w2f=1=2f% [Mahalchari]

W (Y SERE-ES Wikd a4 A8t z@fea [The

country in which the climate act was first passed]
A. b [Great Britain] B. @9 [India]

C. 3=t [Canada] D. s [Australia]
Tees Tiaat dongie 9 €9 [Agartala conspiracy
case was withdrawn on]

A. 32 o (rFElid, subd [22 February, 1969]

B. 20 (% %WiB, Syt [20 March, 1968]

C. 3»2 @@3ifa, d590 [18 February, 1970]

D. ¢2 fe="a, o4y [5 December, 1968]

‘Ode to a Nightingale’ &=z a5f&ret [The writer of
the poem 'Ode to a Nighﬁﬂgarl%][

A. e [Kipling] B. [Shelley]

C. earensemd [Wordsworth]D. 9167 [Keats]

TN J& AEE 8 FhEmE =S AbEIE I
gitie wwee fe@? [In which Janapada were
included the existing greater Barisal and
Faridpur during ancient period?]

A. 7eb [Samatat] B. <349 [Pundravardhan]

C. =iv [Rarh] D. T% [Banga]
FiETeacet csat 7uioet [The laptop made in Bangladesh]
A. == [Shapla] B. i@ [Doell]

C. I+t [Jamuna] D. @79 [ Acer]

W@ 237 EAER 5T T3t am o " 8 fies e
e quoaE fz® z9 [Tareq Masud and Mishuk

Munier were killed in a road accident when they
went to select the location of the movie]

A. et [Runway| B. 999 [Narasundar]
C. =ritew 3o [Kagajer Phool] D. =fbq &=t [Matir Moyna]

21.

22

23

24

25.

26.

27.

28.

29.

30.

31.

32.

33.

GoE PrFie o0 WTFHET T e aam @ =
%€ [According to National Education
Commission primary education is up to]

A 7% @47 [class five]  B. 79 @& [class six]

C. &% = [class seven]  D. @B% =i [class eight]

W 99 FfEreres EPZ [The only agro-based
EPZ in our country]

A Teqi, Aferemidl [Uttara, Nilphamari]

B. e, Yfelg [Meghna, Munshiganij]

C. s, siqrEdsiet [Adamjee, Narayanganij]

D. #=avi, == [Ishwardi, Pabna]

%i® Mt (797 v [The length of the proposed
Padma Bridge]

A coofefi [5.03km] B.v.vo fwfa [6.80 km]
C. 8.vo f&f. [4.80 km] D. v.ye ffu. [6.15 km]
J0d0 HIAA T CFua Apre IAar® w3giw [The
position of Bangladesh in the Human Resource
Development index 2010]

A. >3v = [128"] B. S35 &% [129"]

C. 90 & [130"] D. s8¢ =% [145"]
wtyfas werrerEs @&t [The proponent of modern

bureaucracy]
A. T6e=0 #i1g519 [Talcott Parsons]

B. 119 ¢=319 [Max Weber]

C. 246 ¢=7ia [Herbert Spencer]

D. w329 [Durkheim]

6 7o 78? [Which one is not a drama?]

A. AP [Nemesis] B. @REifZ41 [Bobakahinee]

C. 399 [Kabar] D. =% [Basanta]

™ AfSHINTE 03 it P TS F= === orem
4 [Awarded 'Independence Day Prize 2011 in

education']
A. 5131 fefwrErs [Dhaka University]

B. iasw [BIRDEM]
C. Tiewn «=itest [Bangla Academy]

D. @6 @1FE [Asiatic Society]

‘B e’ -a97 W ¥ Ig2? [The tenure of

'Emeritus Professor’]
A. #llv 9=9 [five years] B. o9 9=q [four years]

C. 96 37 [eight years]  D. =iea [life long]
739 W 9-9F 37 FueE fgmw [Was Sector
Commander of Sector No. 3]

A. TEE 9. ga e [Major N.M. Nuruzzaman]

B. te@ =999 W& [Major Shawkat Ali]

C. e et geees [Major Kazi Nuruzzaman]

D. twed @9« e [Major MLA. Jalil]

O (FTEEE T TR’ oy oreat =3 [The title
'Sher-e-Bangla' was conferred on A.K. Fazlul Huq]

A. o= [in Dhaka] B. fisz=#®te [in Rawalpindi]
C. s191e1¥ [1n Kolkata] D. =1tzItd [1in Lahore]

T A IENTCT SGRYTES FTIFIER HIA 769 Fa1 T
[Law of Caretaker Government was introduced in]

A. 355 [1991] B. ssbe [1995]

C. 2005 [2001] D. 355 [1996]

T 351w =2l @ A¥rea pom IRk FEE OF A%
[The mountain peak Musa Ibrahim recently
climbed up]

A Tsfera=entar %<9 [The Kilimanjaro Mountain]

B. 16/9@ #9® [The Table Mountain]

C. t@saamee #d® [The Kaukaradong Mountain]

D. f&xe 74 [The Himalayan Mountain]

femm s @ wifed FIEwet s [The date on
which Lionel Messi arrived in Bangladesh]

A. L (TTH5E 055 [6 September 2011]

B. a4 (659 2053 [7 September 2011]
C. v (657 2033 [8 September 2011]
D. 5 (659 05 [9 September 2011]
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I (7 GER Tifeeeas Fgae “fFams SR ofd

W AR B Wiawd F93? [Which country will

apply for full membership during the session of
the UN General Assembly this year?]
A. w4 37% [South Sudan]| B. f&™« [Palestine]

C. %< o137 [East Timor] D. wiwiferni® [Swaziland]
WZ CIOOEA 200 AW AW TIES SR OFEe
rE fem? [Where was the epicentre of the earthquake
felt in Bangladesh on September 18, 20117]

A. =eieTTE [Nagaland] B. ©7= [Nepal]

C. ©61% [Bhutan] D. it [Sikkim]
ﬂﬂ%ﬁﬁﬁwmﬂmmﬂw [The prime

agency playing the role of socialization]
A. [awi=3 [school] B. td=@ 79! [playmates]

C. A"9[@ [family] D. ve1f6@ [films]
13=ices IouH ay=war [Current Prime Minister
of Thailand]

A. 2w Feaal [Yingluck Shinawatra]

B. 416 7<= [Pote Sarasin]

C. <ok Premeaat [Thaksin Shinawatra]

D. wfefr fossiiere! [Abhisit Vijjajival
B3fFoe-97 &fSoret [The founder of Wikileaks]
A. &= =i7167 [Bill Gates]

B. gfera= @@ [Julian Assange]

C. %<5 19 [Robert Leo]

D. wigr== wisig [Michael Assange]

Fgle g g 57od 1% [The name of the bridge
over the river Karnaphuli ]

A. =igfa @re [Karnaphuli bridge]

B. *iZ Wwiwe ;g [Shah Amanat bridge]

C. foe7 g [Kings bridge]

D. s8atw @19 [Chittagong bridge]

EVM @RI [EVM stands for]

A. 392 (it @4 [Electric Voting Machine]
B. 2 ¢t @< [Electronic Voting Machine]
C. 2=1i*5 ¢eifbe, @i« [Elastic Voting Machine]
D. «feREs et @i [Efficient Voting Machine]
Windows-XP %=1 @RI @[ Windows-XP means]
A. Batee a3 [Windows Experience]
B. ®3ateie g6 [Windows Expert]

C. CEreiet waens [Windows Exact]

D. ©g=rers «er=e [Windows Example]

R et i e sife{Rta? [The mathematician
of which country invented the concept of zero?]
A. =g [India] B. &% [Greece]

C. fa=ia [Egypt] D. 54 [China]
fww-ars &= z@? [Why do day and night occur?]
A. 7R" wifzs sifew &= [Due to diurnal motion

of the earth]
B. #jf4<i= 21f¥= sifeq &= [Due to annual motion

of the earth]
C. Jcdtwa-7741t%a &= [Due to sunrise and sunset]
D. =% @ie ¢ f<=iitaq &0 [For work and

leisure of human beings|
i G sz vist iR oSl e st siew
2= [Which British Viceroy played an important role
in establishing the University of Dhaka?]
A. 7% W51 [Lord Minto] B. &% Fe [Lord Curzon]
C. =% %if® [Lord Hardinge]
D. 7% vweeErs [Lord Chelmsford]
&=t qiY IFEeR @ EEm w1z e? [In which district
of Bangladesh is the Teesta barrage located?]
A. 97t [Khulna] B. =sif=wf+==i® [Lalmonirhat]
C. #i= [Pabna] D. f&a [Kushtia]

46. IFCR RoagEetal SRTSy AT (e (eEE?
[In which district of India's West Bengal are the
Bangladeshi enclaves?]

A. wifg=2 [Darjeeling] B. s@712ef@ [Jalpaiguri]
C. ¥6/9zi@ [Cooch Behar] D. =g [Maldah]

47. ==ewEd “HAar5a 719 [The name of the parliament

of Norway]

A. T [Sejm] B. ¥9t97 [Cortes]

C. 3532 [Storting] D. &=t [Duma]

‘abieETe’ (i s wgEs? ['Entomology’ is

the study of]

A. #if¥ [Birds] B. o=t [Insects]

C. €994 [Reptiles] D. =1z [Fish]

49. ‘TR 4TI 90 9 [The other name of 'Oscar' award]
A_ &1ify [Grammy] B. @fit [Emmy]

C. w=itssl [Academy] D. 5 [Tony]
50. 9 I A JTERLS FiEEF 8 55 ¢t [The Nobel

Laureate in Literature this year and his country]
A. U677 25=64 [Terry Eagleton/ UK]

B. @61 & [Gunter Grass/Germany]
C. 59 G#G 9 [Tomas Transtromer/Sweden]
D. (5© fz8rs™ [Ted Hughes/UK]

Answer Keys: 1.C 2A 3.C 4C 5D 6D 7.C 8D
9B 10A 11.D 12A 13B 14A 15C 16.A 17D
18D 19B 20.C 21D 22.A 23D 24B 25B 26.B
27.A 28D 29.A 30D 31.D32.A 33.A 34B 35D
36.C 37.A 38B 39B 40B 41.A 42.A 43.A 44C
45B 46.C 47.C48B 49.C 50.C

Elective English

(Answer each question by choosing the best option.)
With reference to the passage given below answer
questions 1-8.

As Pavlova's little bird body revealed itself on the
scene, either immobile in trembling mystery or tense in
the incredible are which was her lift, her instep stretched
ahead 1n an are never before seen, the tiny bones of her
hands 1n ceaseless vibration, her face radiant, diamonds
glittering under her dark hair, her little waist encased in
silk, the great tutu balancing, quickening and flashing
over her beating, flashing, quivering legs, every man and
woman sat forward, every pulse quickened. She never
appeared to rest static, some part of her trembled,
vibrated, beat like a heart. Before our dazzled eyes, she
flashed with the sudden sweetness of a hummingbird 1n
action too quick for understanding by our gross utilitarian
standards, 1n action sensed rather than seen. The movie
cameras could not record her allegro. Her feet and hands
photographed as a blur.

1. The passage is describing

A. a bird named Pavlova B.a woman

C. a ballet dancer D. a hummingbird
2. Movie cameras could not photograph Pavlova

properly because-

A. she never remained still

B. her movements were too quick

C. the lights were not good

D. the photographer was inexperienced
3. The word 'incredible’ means-

A. beautiful B. superior

C. hard to believe D. hard to see

4. '"She never appeared to remain state' means —.
A. she never rested B. she was never boring
C. she was restless D. she was always moving

48.
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'our dazzled eyes' suggests that the audience

the performance.

A. enjoyed

C. were indiferent to

"little bird body" is a

A. simile B. metaphor

C synecdoche D. personification
"gross utilitarian" stands for

A.refined B.united C. peculiar D nrdm'u'y

In the passage 'allegro' means

A. fast movement B. fast music

C. full body D. delicate figure

"Necromancy'' relates to

A. black magic B. theology

C. life after death D. narcissism

A "'white elephant'’ refers to a/an

A. attractive thing B. elephant of white colour

C. useless expensive thing D. rare species

The antonym of 'nonchalant’ is

A. needless B. apathetic C. concerned D. beneficial

The musician who has just performed is a star

B. did not like
D. could not see

the making.
A. by B. on C.at D.in
A person who uses sharp bitter language is ——.

A. garrulous B. acrimonious
C. discordant D. eccentric

'Frailty thy name is woman.' is said by
A. King Lear B. Othello C. Hamlet D. King Duncan
The coach, as well as the players,

responsible the defeat.
A. were, for B. was, for C. was, in D. are, for

I on it until you come.
A. went, doing B. shall go, do
C. am, doing D. will go, doing
you drive please? I don't like at night.
A. Will, drive B. Can, to driving
C. Will, driving D. Could, drive

When I —— my job I —— to move to another flat.
A. changed, had B. change, must
C. changed, have D. shall change, going

Jane Eyre was written yb "
A. Jane Austen B. Charlotte Bronte

C. Charles Dickens D. Emily Bronte

The word "Hellenic' refers to
A. Helen B. Divine C. Greek D. Roman

Shakespeare did not write .
A. All's Well that Ends Well B. Measure for Measure
C. Love's Labours Lost  D. Caesar and Cleopatra

The synonym of 'Innocuous’ is .
A.innuendo B. harmless C. caustic D. innovative

""She is given to histrionics' means she
A. teaches history B. loves history
C. becomes hysterical D. over-dramatizes things

The word 'succulent' is a/ an
A. adjective B.noun C. adverb D. verb
Choose the grammatically correct sentence.

A. His being there came as a shock to everyone

B. He being there came as a shock to everyone

C. He being there comes as a shock to everyone

D. He being there had come as a shock to everyone
Answer Kevs: 1.C 2B 3.C 4D 5.A 6A 7D 8.B
9C 10C 11.C 12.C13B 14.C 15B 16.D 17.C
18.A 19B 20.C21.D22B 23D 24 A25.A

A S T01

It RYRWIEE R0d0-203)

(G- R)
General English

A1 : 320

Read the paragraph and answer 1-7

Since a writer’s main purpose 1s to explain things clearly,
description 1s an important aid. To add liveliness to an
essay, descriptive details are necessary to create a clear,
unified impression of an object or a scene. As a technique
in writing, description matches the kinds of details we
see 1n vivid and effective photographs. Good descriptive
writers help the reader ‘see’ objects, scenes and even
moods by means of language.

1.

10.

11.

13.

14.

“unified impression” means-
A. single thought. B. diverse thoughts.

C. single image. D. complete image.

Which mode is adopted by a successtul writer?
A. descriptive B. argumentative

C. photographic  D. symbolic

The most suitable title for the passage would be
A. Importance of Description in writing

B. Good Writing C. Technique of Writing

D. Effective Language in Writing

What helps a writer to make his writing interesting?
A. precision B. description

C. objectivity D. rationality

A writer’s main purpose is to

A. express himself. B. discuss his i1deas.

C. explain things clearly. D. show things precisely.
“liveliness” in the paragraph stands for
A. clarity B. charm C. vividness D. attractiveness
“description” should be like

A. photographic details B. nature

C. a picture D. a painting

She could have been more discreet,

A. didn’t she? B. can’t she

C. won’t she D. couldn’t she?

He is punctual efficient.
A. neither, but B. very, but

C. etther, or D. neither, nor

I to meet you ever since I read your first novel.
A. hope B. have hoped

C. have been hoping D. am hoping

What part of speech is ‘extraordinary?’

A.noun B.verb C.adjective D. adverb

In Shelly’s “Ozymandias,” the words, ‘My name
is Ozymandias, king of kings’ are inscribed on
A. the visage of the statue.

B. the pedestal of the statue.

C. the hand of the statue.

D. the sand of the antique land.

The driver stopped the car just time to
avoid collision.

A. at B. by C.of D. in
There is hope of his recovery.

A.many B. little C. very D. few
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Noise pollution cannot be
A. easy, avoid B. easily, avoided

C. easily, avoid D. easier, avoided.

Education our mind.

A. shrink B. embolden C. enlighten D. ennobles
Frequent closures of universities badly
academic progress.

A. affect B. effect C. effects D. damages
How many engineering there 1is
Bangladesh?

B. universities, are
D. university, are

A. university, 1S
C. university, 1s
I will not go I am invited.
A.because B.lest C. unless

“Lend me your ears” means
A. let me check your ears.

B. let me whisper 1nto your ears.

C. listen to me.

D. come close to me.

In “Under the Greenwood Tree” the ‘Tree’ refers to
A. nature B.forest C.sun D. a big tree
Have you ever Sundarbans?

A. looked, on, to B. travelled, within, forest

C. seen, or, been D. been, to, the

Which two things of nature does Robert Herrick
find similar to human beings and daffodils?

A. rising sun, moon

B. summer’s rain, morning’s dew

C. spring, summer

D. hasting day, even song

Choose the proper translation of ‘=ify =fw cotam
A. If I were 1in your shoes. B. If I was in your condition.
C. If I was in your situation. D. If I was in your place.

D. otherwise

Choose the correct sentence.

A. Neither of the roads lead to the railway station.

B. Neither of the roads leads to the railway station.

C. Neither of the roads are leading to the railway station.
D. Neither roads are led to the raillway station.
Answer Keys: 1. D 2A 3A 4B 5C 6C 7.A 8D
oD 10.C 11.C 12B 13D 14B 15B 16D 17A
18.B 19.C 20.C 21.A 22D 23.B 24.A 25B

<=
IS A F5 (AlF AR’ ? -*qr® iR vaekeE e
A. F9E 2E B. &S (¥ 2919
C. 9559% (306 I]R D. [RAes swo1m 211
e’ e =g
A.*RRze B.digfs C. *few= D. Tgafda
Eifaet’ *1=0 (I AATRGI?
A. pafaet B.sfas  C. oifa= D. vfa=
& S (dTF TS =R

A. wIGAE, (GWiR, F19 B, wivitas, SEwife, @ree
C. I8, IEvE, @[ D, [, e, @[

10.

11.

13.

14.

15

16.

17.

18.

19.

20.

21.

22

23.

24

ALEINSR FH=1
A. oZ@s Ate I B. e C. 999 D. @306 Wi
“SEREEA- Y = T06T LHH?

A cait B.siga C. < D. g9

A. @@t B.s=EmE C. vy D. =itn
‘Tt 7

A9 B.@#@ C.ommteRmagd D, 9

o 71t v oS FERE?—9gdie A1 @ =l T3F5S?

A.stmz B.fmm C.wmF D. e
Ttoifers T4 IE
A. e B. q&+ C. fomem D. viaem

% ciRrsEmet IFTe A AT FERT e |—ses

TS IFOTS SR T
A -6 B.=®  C. #Areio D. wi5fo
A. =z B. 3= C. @@ D. qifars

‘SRS AT FHIG T ARMSAINRICH Pora T2t wiSais
FAEA |'— IFIOCS B AR

A. =T B. &% C. Af® D. =%
‘YreTEE IS 9 At U WiYEE TSR,
*ffiferiy, ol qeex ¢ tifgs sweaer «fien
“HeTT I8 | T[S [AeEd IEE

A.vit B. 46 C. =3l D. #ref5

A T B.AEm C.7H
‘czEE” e e

A .3 B.wive C. wzewE D. g

R qFer e s IFmE, “shirerR! T Iw
e | " e g

A.TF B. et C. @<t D. =&
‘T SIS’ @RI
A. 99z B. #ie C. wfears D, wem

T SR AT INFT I IS T

A. " B. ciuEEe C. 33 D. (@
FAISR AGF It TZG A

A. IFF @ B. @gfa= 4o

C. <=ifH g D. 53 AR &

HoF RS gt

A. 9E-A® B. gf-axly C. Sea-3419 D. ©e64-(464
‘Key-Note’-a7 i
A orgld B.ofReis  C.weer D St
He has broken with his friend. —3t=1f63 3t
A. G O}k IR [ T e |
B. &1 o7 953 [ ©% A |
C. 3 9119 3= 9IS FEE |
D. G ) 957 A Sl ICEE |
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A wETosial B. 3% IR (=G
C. = == D. S I et
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Answer Kevs: 1.C 2D 3B 4B 5.A 6C 7D 8.C
9A 10A 11.D 12C 13.A 14A 15A 16D 17.A
18B 19D 20.A 21.B 22.A 23.C 24D 25B

HIIFe =N

SIS RIM oW 7% [Not a factor of nationalism]

A. =¥ [Language]

B. €3 [Religion]

C. qrEmine [Politics]

D. teitstifes @7 [Territorial Integrity]

W FEe TS SifERE AT MDG &1 &0 475
F@g [The reason for which Bangladesh has been

recently rewarded by the UN for achieving MDG]
A =41 8 vifaw f=t@d [Eradication of Poverty and Hunger]

B. a9 grifis f*rem Jfog w@A [Achievement

of Universal Primary Education]
C. f*3 w2127 [Reduction of Child Mortality]
D. o s S 8 #iKie wweiid [Promotion of
Gender Equality and Women Empowerment]
Roref® v, R 9. Wres 37 AETTt FOST Y
eref®? [Justice A. B. M. Khairul Huq is the-
Chief Justice of Bangladesh]
A. dveF [16th] B. a9 [17th]
C. s»7 [18th] D. 35 [19th]
fAfswtrz zonFe wwaibs =@ [The BDR killings took

place on]
A. 2 (@& 2004 [21 February 2007]

B. 29 &4ifd 2oov [23 February 2008

C. 28 (=g ¥Ifq 2005 [24 February 2009]

D. 3¢ @@ ifd 200 [25 February 2009’

WIS A7 wEgia (v 367 [How many countries

are declared as Nuclear-states?]

A. e [seven] B. =6 [six]

C. =15 [five] D. =51 [eight]

It I AE Reew ¢ Wiz (Rew, o9

@EErt 8 &gfe) wEIEE FeW 9t 2@? [In which

year was the Ministry of Science and ICT

established in Bangladesh?]

A. Yo00 [2000] B. 2002 [2002]

C. 2009 [2007] D. 2005 [2009]

IR e fFeen (R 961 g« wwE? [In

the history of Bangladesh which of the following

events happened first?]

A. SeT! #Ate@ =9 Wl carEe [Declaration of the Six-
Point Programme of the Awami League]

B. wieige= 393§ 1= [ Agartala Conspiracy Case]

C. sige-7ifsa@ 7 [India-Pakistan War]

D. SF= 7@ witwiEe [Nineteen-Point Movement]

8.

10.

11.

13.

14.

15

16.

wEE Tiftr e wwEE 4R AR oo wa R
Taie T4 e [33 miners were rescued after being
trapped for a long time underneath the earth]

A. 97 [in China] B. 3ffewics [In Bolivia]

C. fofeite [in Chile] D. =t [in Peru]

BIMSTEC-«93 ssfm= [BIMSTEC stands for]

A. = 2fsa e el eiRen AT -
#ta== [Bangladesh India Myanmar Sri Lanka
Taiwan Economic Cooperation]

B. qiEmaet 23w fFcokmE OnbEe  GIneE O %
s @G [Bangladesh India Ministerial
Strategic Technical and Economic Committee]

C.M @ 93 o= FFrTe v 0fS-cigam Gafane
qT FERE @ -S9@== [The Bay of Bengal
Initiative for Multi-Sectoral Technical and
Economic Cooperation]

D. <=t g iR Wit ceReE 9% e
3 [Bangladesh India Military Strategic Technical
and Economic Committee]

TR g AW FEG TS ©ifFed 1% Za? [When was

the All-Party Language Movement Comittee formed?]

A. ¢ 98199 3584 [15 October 1947]

B. wo ¢ wriegaifa 352 [30 January 1952]

C. 20 (= cogaife d5ex [20 February 1952]

D. 2 ¢*l cezraifa dse’ [21 February 1952]

eiE @ e T &= [Senegal was the

colony of]
A. I [France] B. 7W=01® [The Netherlands]

C. 2e=nre [England] D. =ifrat [Russia]
wigel sTcEe WAEe [Semutang Gasfield is

situated in}
A. 9%«3t7 [Bandarban]

B. 4isieieférs [Khagrachari]

C. F=7te [Sunamgan)|

D. sm=iiore [Rangamati]

BT HIIAaT SeRaFat wead 791 [The leader of
the discovery group of the life-mystery of jute]

A. Ttz wFm [Md. Jalil]

B. ¥wg9-2-9a1 [Kudrat-E-Khuda]

C. a7« == [Maksudul Alam]

D. 5zr=1 25 [Nurul Islam]

Frifere (veFie 7126 [The social networking site]
A. F#is3f [Superbag] B. @5 [Google]

C. 525 [Twitter] D. f&7=a [Flicker]

faf¥%at & (3 Fregist? [Pristina is the capital of]
A. T@ar [Croatia] B. wtet [Kosovo]

C. wFisia [Macedonia] D. wfe@i [Georgia]
AN IFTSI WiwNeTial Wgee zd [The next
census of Bangladesh will be held on]

A, 3¢-35 T M6 2055 [15-19 March 2011]

B. 3-3¢2 TS 2055 [1-15 December 2011]

C. Sb-2004 T6 2053 [16-20 March 2012]

D. 33-33¢4 W6 2033 [17-20 March 2012]
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17.

18.

19.

20

21.

22

23.

24.

25.

UCC

se fivta A ‘gg wet'-7 a<w wet [The first
point of the historical ‘Six-Point’ of Awami
League]

A. qigore f2rita 9iE [Banlga as the state language]
B. wsif=Eeeet [Secularism]

C. =¥ 341 [Separate Currency]

D. eimf*< =r@e=i= [Provincial Autonomy]
e ZE wEeiet w1 [Not  the local

population of Bangladesh]
A. 9@ [Garo] B. wfdsjdl [Monipuri]

C. @ifz# [Rohinga] D. Fitgei= [Santal]

TEgE Wizeww ferms @« [Bulbul Ahmed was a/an]
A. T&t=36 (e [cricketer]

B. 5I1I3¥ [singer]

C. #w 5wA [Member of Parliament]

D. s[f&tet [actor]

AR 0T fen fzee= [Was the last King of Nepal]
A. dite9 [Dhirendra] B. =its% [Ganyandra]

C.<igy [Birendra] D. Wt=% [Mahendra]
‘ol otF 7 I e gttt oiF &3’ At

[‘The fame of a country depends on its
universities’ was stated by]|
A. gz f&:39 [Abraham Lincoln]

B. wiZwis Fes+ [Issac Newton]

C. 9G1S A [Bertrand Russel]

D. #f&® 7tzs* [Pandit Nehru]

FfEToEIMa 77 &3¢t [The main proponent of
individualism ]

A. & 35316 {39 [John Stuart Mill]

B. cer9 W@ [James Mill]

C. 9 1% [John Locke]

D. =t @g [Jeremy Bentham]

¢ =it s #iifs z@ < [The World

Indigenous Peoples’ Day in observed on]

A. 33 EEES [2™ August]

B. ¢ SIS [5™ August]

C. 92 9w5 [7" August]

D. 55 ¢ =meiws6 [19™ August]

(5T Tea (7%, 5 W% TJ)

‘abre ez Fret (1, @02 e A Fret v =
FYI6 Ittes [Who said, ‘it is also a lesson of

history that nobody takes lesson from history.’]
A. ©37%%4 5if6a1 [Winston Churchill]

B. esitferae ai=meeiiG [Napolean Bonaparte]

C. =@ [Bismarck]

D. =& 9% [Karl Marx]

‘6% 583 @R’ <%z w=F [The inventor of the

‘test tube baby’ method]
A. 25/ Feewrs [Igor Kuznetsov]

B. Sfbet ¢'zi=1 [Uchita O Hara]
C. 7116 9usehey [Robert Edwards]
D. #igtew i@ [Nigel McClenan]

26.

27.

28.

29.

30.

3L

32

33.

34

ity [8e® craw<= [The duration of French

Revolution]

A. ba-drbs [1889-1899]
B. dab5-dass [1789-1799]
C. 599%-39v¥ [1776-1786
D. 3rru-3bay [1886-1896]

R FEm @ Rwem 4 st g% [Nathan

Commission was connected with the establishment of]
A. F=rafel fiqwnera [Kolkata University]

B. =12 fe%fawiera [Mubbai University]

C. FremiiEl fRwier [Rajshahi University]

D. vi=t fa5fawrea [Dhaka University]

J0d0 JAIE (T SET @4F FRLS e JTHa CAHEA?
[The writer of which language received the Nobel
Prize in Literature in 20107?]

A_ =i [Spanish] B. 2wafer [English]

C. =igfiw [Portuguese] D. w717 [French]
IRFCR FEATST NSt G Tam 477 wgma
78 FE® gl [The highest economic body
concerning the formulation of economic policy and
approval of development projects in Bangladesh]

A. 7" 3R [Planning Commission]

B. @4 ¢ ifaag=t stretierd [Ministry of Finance and Planning]
C. agi=rga e [Prime Minister’s Office]

D. e wdtafes SreFaT el 4T W [Executive
Commitytee of the National Economic Council]
26tid I A9 [The name of the currecncy of

Norway]

A. 2% [Euro]  B. =@ [Guilder]

C. t@ i [Krona] D. f&=i [Lira]

‘a9’ *~oa 37 o9t [The origin of the word ‘Anthrax’]
A 3=t [English] B. w=ifA [French]

C. di= [Greek] D. =iifew [Latin]

203 A AES erIRiEe ofE® 7@ [The 150" birth
anniversary of which writer will be observed in 20117]
A. 991 31$EA [Rabindranath Tagore]

B. *9<6% BL8I+147Ia@ [Saratchandra Chatterjee]

C. i@ T@a% @ea [Mir Mosharraf Hossain]

D. 292 (bigdie [Pramatha Chowdhury]

ST - et T 21T e, g s ond-
&g ==l [The Everest conqueror Musa Ibrahim

stated that length and breadth of the Everest
peak are]
A. 3¢ F5 6 b F6 [25 feet and 8 freet]

B. ©o $6 € L 6 [30 feet and 6 freet]
C.9¢ ¥6 8 9 %0 [35 feet and 7 freet]
D. 80 TG 8 o Fb [40 feet and 10 freet]
A wrerm FHeaits wgmd g 3397 [The age of
child according to National Child Policy]

A. o (A7 b =9 [0 to 8 years]

B. 5 (4T Yo =4 [ 1 to 10 years]

C. &9 (4= b 924 [upto 18 years after birth]
D. > (At® 33929 [ 1 to 12 years]

46



35.

36.

37.

38.

39.

40.

41.

42.

UCC

wifswaa w4 a9 999 o= w9 [The name of

UN fund related to women’s development]

B. F1rsi wzfes [Equality Fund]

C. 289 82« [UN Women]

D. tersi el wzf<@ [Gender Equality Fund]
T Swicaiae wew ¥t [Recently declared
Division of Bangladesh]

A. 3299 [Rangpur] B. ez [Dinajpur]

C. afe= [Barisal] D. it [Comilla]

it wdftafes 25t 71 [Mixed economic system is]

A. ¥==ifea 7igw Wifersi= [state ownership of property]
B. s=~{f&q %5fe& wifer=si= [private ownership of property]
C. sifea aife¢ @ @By wifew= [private and state

ownership of property]

D. aifests s=ifeqs @4 et [joint ownership of
private property]

FRFACTCR I IR S Tst IRATTN WS AS! wH

gfegifs zrfem @ Jeeityaits [The amendment of

Bangladesh Constitution by which the Bangalee

nationality was replaced by Bangladeshi

nationality]

A. ooty Ferstigel [third amendment]

B. 594 =g+l [fourth amendment]

C. = =gt [fifth amendment]

D. wew Al [seventh amendment]

wq Fa391E TG 1= [If supply of money increases]

A. TAT*I9 ©F39 =4 [the country develops]

B. =fites wgfa areita @@ [worker’s wages can be
increased]

C. I7r#ife =¥ [inflation occurs]

D. S92 941 9Ed 2¥ [taxes can be cut]

T IR 2T WS R Rifa Gl w126 St =rs

@9 [The first person of independent Bangladesh

who was knighted in Britain]

A. T5A THFE 9itaw [Fazle Hasan Abed]

B. ©. 3zAm 2833 [Dr. Muhammad Yunus]

C. favizsfe =g =%w cblgdr [Justice Abu Sayeed
Chowdhury]

D. e =1, <4 [F. R. Khan]

TEIFliRer gtg wamie (@A [Contributed to the

collection of folk literature]
A. ¥*9py 79 [Keshab Chandra Sen]

B. w15/ & [Dinesh Chandra Sen]
C. 9= ¢ [Hiralal Sen]
D. seie® 79 [Rajanikanta Sen]

e et I3 @ 2Bt wiEg *ftew st [The
organization which is responsible for implementation

of Primary Education]
A.=m% [NAPE] B. fef%2 [DPE]
C. «=tfefa [NCTB] D. f#foemg [PTI]

43.

45.

46.

47.

49

50.

geyntg 37 [What is UNB?]
A. «=6 farali %8l [A foreign organization]

B. @=ft €34 @i« [A medicine company]

C. vzt qgwifes @@= [A multi-national company]
D. «=f6 @™ #2Zl [A news agency]

JFTT @ e IR F wi N 2@t otz [Bangladesh
has asked for lease of agricultural land from]

A. T [Senegal |

B. wita =1 [Argentina]

C. frefe=ns [New Zealand]

D. 3ife™ [Brazil]

TIREACIS Ao<(o et [Wrote the play Milepost]

A. 75w iz [Sayeed Ahmad]

B. Gifm-wie-aiw [Selim-Al-Din]

C. wEniem« o s [Alauddin Al Azad]

D. sm@R wi#= 199 [Abdullah Al-Mamun]

‘FrEreErt’ 9z [‘Banglawash’ occurred on]

A. 342 SE[T 2030 [16 October 2010
B. 592 987 200 [17 October 2010
C. b3 WBA 3050 [18 October 2010]
D. 3¢ 999 2030 [19 October 2010]

T Feyewa Aol IgH3 @4 [Author of
Probashe Muktijuddher Dinguli]

A =g A% bigdl [Abu Sayeed Chowdhury]

B. Fis o4 [Faruque Chowdhury]

C. == vigdt [Belal Chowdhury]

D. *rfa gwit (6igd [Shamsul Huda Chowdhury]
3030-20%Y TLILLHT INEH AT Bgaw F700S I9W A
ZtW® [The amount of money allocated in Annual
Development Programme of the 2010-2011 Fiscal
Year]

A ©¢,000/- TG GBIl [35,000/- Crore]
B. ©9,000/- T&IG G191 [37,000/- Crore]
C. ob ¢oo/- THIB BI=l [38,500/- Crore]
D. 9b,000/- TFI6 G1F1 [39,000/- Crore’

It e Fees Ireioae a4y [ugig [The first
revolt of the Bengalees against the British rule ]

A wiag ¢ gyt famiz [The Fakir and Sanyasi Rebellion]
B. <= famiz [The Indigo Peasants Rebellion]

C. =13 famrz [Sepoy Mutiny]

D. =595 (3582) [The August (1942) Revolt]

2033-(T T of¥mE e e (et afemfem
TS (7t R sfi=et #i@s a3 =it [Will not host
the World Cup Cricket Competition to be held in
South Asia in the year 2011]

A qiEia= [Bangladesh]  B. #if<s@i« [Pakistan]

C. wi#® [Indial] D. &=t [Sri Lanka]
Answer Keys: 1.C 2.C 3D 4D 5D 6B 7.C 8C
9C 10B 11.A 12B 13.C 14C 15B 16.A 17.D
18C 19D 20B 21.D 22.A 23. (77 Tea 12, 5
o596 274) 24D 25.C 26 B 27D 28.A 29D 30.C
31.C 32.A 33B 34.C 35.A 36.A 37.C 38.C 39C

40.A 41.B 42B 43.D 44.C 45.A 46.B 47.A 43.C
49.C 50.B
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Elective English

Read the following passage carefully and answer
question 1-7

The art of asking oneself critical questions that lead
either to new answers or to genuine revitalizing of old
answers may not be entirely amenable to instruction. But
it is a necessary art nonetheless, for any person who
wants to be free. It is an art that all philosophers have
tried to pursue, and many of them have given direct
guidance in how to pursue it. Needless to say, it 1s an art
the pursuit of which is never fully completed. No one
thinks for himself or herself very much of the time or in
very many subjects. Yet the habitual effort to ask the
right critical questions and to apply rigorous test to our
hunches is a clearer mark than any other of an educated

I;.ETSDI'}-hE word W]WHWS' eX a m b d ®

A. knowledge. B. push.
C. hump. D. intuition.
2. According to the passage philosophers are
A. important.
B. not important.
C. sometimes important.
D. sometimes misguiding
3. In the passage the word ‘art’ is used to mean.
A. an aesthetic object. B. an ability
C. a quality D. intelligence

4. According to the passage an educated person
A. has the right ideas.
B. knows the right questions.

C. asks questions and tests his/ her 1deas.
D. is importanty to society.
5. The word ‘critical’ in the paragraph means

A. disapproving. B. dangerous.
C. important. D. uncertain.
6. ‘revitalizing’ means
A. making important. B. imbuing with new life
C. renewing. D. innovating.

7. ‘amenable to instruction’ means
A. capable of being trained.B. unalbe to be trained.
C. unwilling to be trained. D. eager to be trained.

8. “To be or not to be- that is the question” occurs in

A. Macbeth. B. Ming Lear.

C. Othello. D. Hamlet.
9. War and Peace. was written by

A. Chekhov B. Gorky.

C. Tolstoy. D. Dostoyevsky.
10. What does ‘note of dissent’ mean?

A. disagreement B. agreement

C. consent D. postponement

11. Travellers their reservations well in
advance if they want to fly during the holidays.
A. had better to get B. had to get better
C. had better get D. had better got

UCC

12. The Canterbury Tales is as alive and today
as it was nearly 600 years ago.
A. appealing B. fruittul
C. repelling D. enhancing
13. The antonym of ‘indictment’ is
A. harangue. B. eulogy.
C. tirade. D. punishment.
14. Which one does not fall into the same category.
A. Rosalind B. Ophelia
C. Cordelia D. Desdemona
15. The synonym of ‘equivocation’ is
A. fairness. B. evasion.
C. imprecation. D. equality.
16. The boy said, “I starve than beg.”
A. better B. would better
would rather D. rather
rl]'/e'cfte word ‘anthropology’ is related to
A. music. B. philosophy.
C. the study of mathematics.
D. the study of mankind.
18. A ‘Canto’ 1s
A. an act of a play. B. a part of play.
C. a chapter of a novel. D. a division of an epic.
19. A ‘Protagonist’ is
A. the clown 1n a play.
B. the villain in a play.
C. the leading character in a play.
D. the director of a play.
20. *“A laconic speech” is-
A. a piece of advice. B. an angry speech.
C. a sermon. D. a concise speech.
21. Readers who have eclectic tastes in hiterature
A. read strage books.
B. read a wide variety of books.
C. read books on just one topic.
D. do not read books.
22. “Raj wasn’t the paragon of virtue Rashida had
expected” means
A. Rashida was disappointed in Ra;.
B. Rashida was happy with Ra;.
C. Rashida was not disappointed in Rayj.
D. Rashida approved of Raj.
23. Choose the one which does not fit in
A. sonnet B. ode
C. stanza D. elegy
24. ‘impermeable’ means
A. that which cannot be permitted.
B. not lasting long.
C. hard to break.
D. not allowing a liquid to pass through.
25. 1saw one-eyed man begging for alms.

A.lonely B.a C.an D. only
Answer Kevs: 1.C 2D 3B 4C 5D 6D 7A 8D
9C 100A 11.C 12A 13B 14D 15D 16.C 17D
18.D 19.C 20.D 21.B 22.A 23.C24D 25B
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